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=66O/>5$1L6/N$@414,4B6$RO$12$@416$i<2AOR16N$O62O.6$<L4>56$e2,B$2016>jM$,R1$1L6$GI%$
B1/..$B6NQ6B$4B$4$522@$OL2>6$@/N6<12N-$20$<2AOR16N$O62O.6S$

DRN/>5$A-$.R><L$,N64=M$1L6$L4<=6N$@R<=6@$/>12$1L6$GI%S$(RN$ON/>16N$ZR/61.-$
B4Q6@$1L6$B6BB/2>$4B$L6$B64N<L6@$1L6$GI%$02N$1L6$4,,N6Q/41/2>M$dC*HFd\$

XMXg%3-+/-3%\)Y=C`^C%%%%%The hacker asks for the Network Information Center%
Z5>#/?%===%
Y.//-23-'%3.%Li=i=i=jL=%
&<219-%2615123-5%#<%*!k*=%
lWWWWWWWWWWW[[\%\-3:.5;%)/4.5@13#./%Y-/3-5WWWWWWWWWWWWWWWWWWWWW%
m%
m%n.5%8<-5%1/'%6.<3%)/4.5@13#./$%3>9-H%D"N)a%o2155#1?-%5-385/g%
m%n.5%\)Y%)/4.5@13#./$%3>9-H%\)Y%o2155#1?-%5-385/g%
m%
lWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWWW%
p%:6.#<%:<@5%%%%%%%%%%%%%He searches for WSMR%
D6#3-%a1/'<%E#<<#+-%`1/?-%%%DaE`W\&ZWQD=C`Ec=E)X%%%JP=R=i=RK%
D6#3-%a1/'<%E#<<#+-%`1/?-%%%DaE`WZ`C^a=C`Ec=E)X%%%%LVJ=TP=VV=J%
D6#3-%a1/'<%E#<<#+-%`1/?-%%%DaE`WC)Ea=C`Ec=E)X%%%%%LJS=KK=S=L%
D6#3-%a1/'<%E#<<#+-%`1/?-%%%DaE`WC`EZ&WQDC`Ec=E)X%%LJS=KK=K=L%
D6#3-%a1/'<%E#<<#+-%`1/?-%%%DaE`W\&XC`Ec=E)X%%%%%%%LJS=KK=LL=T%

C*HFK$CL/16$*4>@B$H/BB/.6$F4>56S$C/1L$1?2$<2AA4>@B$4>@$1?6>1-$B6<2>@BM$L6$02R>@$
0/Q6$<2AOR16NB$41$CL/16$*4>@BS$

;B1N2>2A6NB$=>2?$*R>BO21M$G6?$H6P/<2M$4B$2>6$20$1L6$0/>6B1$B2.4N$2,B6NQ412N/6BS$
%.64N$B=/6B$4>@$5N641$16.6B<2O6B$A4=6$RO$02N$1L6$R116N$/B2.41/2>$20$*4<N4A6>12$
364=M$4$06?$LR>@N6@$A/.6B$B2R1L$20$;.,RZR6NZR6S$!L6$2>.-$N24@$12$1L6$2,B6NQ412N-$
NR>B$1LN2R5L$CL/16$*4>@BM$?L6N6$1L6$;NA-$16B1B$1L6/N$5R/@6@$A/BB/.6BS$(><6M$?L6>$I$
?4B$B1R@-/>5$1L6$B2.4N$<2N2>4M$4>$2,B6NQ/>5$NR>$122=$A6$12$*R>BO21M$O4B1$1L6$
@6B2.41/2>$20$CL/16$*4>@BS$!L6$.2<=6@$5416B$4>@$5R4N@L2RB6B$@/B<2RN456$2>.22=6NBW$
/0$1L6$BR>$@26B>)1$0N-$-2RM$1L6$6.6<1N/<$06><6B$?/..S$

I)@$L64N@$NRA2NB$1L41$1L6$;NA-$?4B$@6B/5>/>5$N2<=61B$12$BL221$@2?>$B416../16BS$
*66A6@$./=6$4>$*DIq*14N$C4NB$ON2e6<1M$,R1$</Q/./4>$4B1N2>2A6NB$<4>$2>.-$5R6BBS$
H4-,6$1L/B$L4<=6N$=>6?$A2N6$4,2R1$CL/16$*4>@B$1L4>$I$@/@S$

G2$@2R,1M$1L2R5LM$1L41$1L6$L4<=6N$?4>16@$12$=>2?$A2N6$4,2R1$CL/16$*4>@BS$"6$
BO6>1$16>$A/>R16B$1N-/>5$12$.25$/>12$64<L$20$1L6/N$<2AOR16NBM$<2>>6<1/>5$12$1L6A$
2Q6N$1L6$I>16N>61S$



!L6$ON/>16N$N6<2N@6@$L/B$B16OB\$

XMXg%3-+/-3%DaE`W\&ZWQD=C`Ec=E)X%%%%Connect to a White Sands computer%
Z5>#/?%===%
Y.//-23-'%3.%DaE`W\&ZWQDC`Ec=E)X%
K=J%Ma[%_\)]%
D-+2.@-%3.%D6#3-%a1/'<%E#<<#+-%`1/?-%
+.?#/H%?8-<3%%%%%%%%%%%%%%%%%%Try the guest account%
^1<<:.5'H%?8-<3%%%%%%%%%%%%%%%Guesses a password%
)/01+#'%91<<:.5'$%35>%1?1#/%%%But no luck%
+.?#/H%0#<#3.5%%%%%%%%%%%%%%%%Try another likely account name%
^1<<:.5'H%0#<#3.5%
)/01+#'%91<<:.5'$%35>%1?1#/%%%No luck%
+.?#/H%5..3%%%%%%%%%%%%%%%%%%%He tries yet another account%
^1<<:.5'H%5..3%
)/01+#'%91<<:.5'$%35>%1?1#/%%%Still no luck%
+.?#/H%<><3-@%%%%%%%%%%%%%%%%%And a fourth try%
^1<<:.5'H%@1/1?-5%
)/01+#'%91<<:.5'$%'#<2.//-23#/?%143-5%K%35#-<%

V2N$64<L$<2AOR16NM$L6$1N/6@$12$.25$/>$4B$5R6B1M$Q/B/12NM$N221M$4>@$B-B16AS$C6$
B4?$L/A$04/./>5M$1/A6$4016N$1/A6M$4B$L6$1N/6@$12$5R6BB$O4BB?2N@BS$36NL4OB$1L2B6$
4<<2R>1B$?6N6$Q4./@W$1L6$L4<=6N$<2R.@>)1$6>16N$1L6A$,6<4RB6$L6$@/@>)1$=>2?$1L6$
N/5L1$O4BB?2N@BS$

I$BA/.6@$41$1L6$ON/>12R1S$G2$@2R,1M$1L6$L4<=6N$?4>16@$12$561$/>12$CL/16$*4>@BS$
YR1$1L6-$@/@>)1$022.$4N2R>@$?/1L$B6<RN/1-S$Y61?66>$1L6/N$6.6<1N/<$06><6B$4>@$
O4BB?2N@BM$>6/1L6N$12RN/B1$>2N$L4<=6N$<2R.@$6>16NS$*2A62>6$41$CL/16$*4>@B$L4@$
.2<=6@$1L6/N$@22NBS$

C/1L$4$B>/<=6NM$I$BL2?6@$L/B$4116AO1B$12$1L6$,2BBM$F2-$'6/1LS$
dC6..M$?L41$@2$?6$@2$4,2R1$/1Kd$I$4B=6@S$d*/><6$L6$@/@>)1$561$/>12$CL/16$*4>@BM$

BL2R.@$?6$16..$1L6AKd$
d"6..M$-6BM$?6)..$16..$1L6AMd$F2-$N6BO2>@6@S$dI0$B2A62>6$1N/6B$12$,N64=$/>12$A-$

>6/5L,2N)B$L2RB6M$I)..$16..$)6AS$I)..$<4..$1L6$<2OBM$122Sd$
I$4B=6@$?L41$<2OB$?6N6$/>$<L4N56$20$1L6$I>16N>61S$
dD4A>6@$/0$I$=>2?Md$F2-$B4/@S$dYR1$L6N6)B$2RN$O2./<-M$0N2A$L6N6$2R1\$4>-2>6$

1L41)B$4114<=6@M$?6$16..$1L6AS$I$@2>)1$<4N6$/0$1L6$L4<=6N$@/@>)1$561$/>M$-2R$<4..$
1L6A$2>$1L6$OL2>6$4>@$16..$1L6AS$F6A6A,6NM$=66O$1L/B$2R1$20$6.6<1N2>/<$A4/.S$;>@$
0/>@$2R1$?L2$1L6$<2OB$4N6Sd$

dE6BB/NSd$
I1$122=$2>.-$2>6$OL2>6$<4..$12$0/>@$2R1$1L41$1L6$VYI$?4B>)1$O2./</>5$1L6$

I>16N>61S$dJ22=M$=/@M$@/@$-2R$.2B6$A2N6$1L4>$4$L4.0$A/../2>$@2..4NBKd$
d&LM$>2Sd$
d;>-$<.4BB/0/6@$/>02NA41/2>Kd$
d&LM$>2Sd$
d!L6>$52$4?4-M$=/@Sd$;>21L6N$4116AO1$41$N2RB/>5$1L6$06@B$L4@$04/.6@S$
H4-,6$1L6$G61?2N=$I>02NA41/2>$%6>16N$?2R.@$=>2?$?L2$O2./<6@$1L6/N$>61S$I$<4..6@$

H6>.2$34N=$4>@$6Q6>1R4..-$02R>@$G4><-$V/B<L6NS$!2$L6NM$1L6$I>16N>61$?4B>)1$eRB1$4$
<2..6<1/2>$20$<4,.6B$4>@$B201?4N6S$I1$?4B$4$./Q/>5$<N641RN6M$4$,N4/>$?/1L$>6RN2>B$
6P16>@/>5$N2R>@$1L6$?2N.@M$/>12$?L/<L$16>$1L2RB4>@$<2AOR16N$RB6NB$,N641L6@$./06$
6Q6N-$L2RNS$G4><-$?4B$0414./B1/<\$dI1)B$4$A/>/41RN6$20$1L6$B2</61-$4N2R>@$RBS$
*22>6N$2N$.416NM$B2A6$Q4>@4.)B$52/>5$12$1N-$12$=/..$/1Sd$

I1$B66A6@$1L41$1L6N6$?6N6$>2$>61?2N=$O2./<6S$*/><6$1L6$H/.>61[>2?$<4..6@$1L6$
D606>B6$D414$G61?2N=[/B>)1$4..2?6@$12$<4NN-$<.4BB/0/6@$@414M$>2,2@-$O4/@$AR<L$
4116>1/2>$12$/1B$B6<RN/1-S$



dE2R$2R5L1$12$,6$14.=/>5$12$1L6$;/N$V2N<6$(00/<6$20$*O6</4.$I>Q6B1/541/2>BMd$
BL6$B4/@S$d!L6-)N6$1L6$>4N<B$20$1L6$;/N$V2N<6S$DNR5$,RB1B$4>@$ARN@6NBS$G21$6P4<1.-$
?L/16U<2..4N$<N/A6M$,R1$/1$<4>)1$LRN1$12$14.=$12$1L6AS$I)A$B2NN-$I$<4>)1$L6.O$-2RM$
,R1$/1)B$N64..-$>21$A-$,4/./?/<=Sd$

!LN66$OL2>6$<4..B$.416NM$I)A$/>$4$<2>06N6><6$<4..$?/1L$*O6</4.$;56>1$X/A$
%LN/B1-$20$1L6$;V(*I$4>@$H4e2N$*16Q6$FR@@$20$1L6$D606>B6$%2AAR>/<41/2>B$;56><-S$

X/A$%LN/B1-$A4@6$A6$>6NQ2RB[L6$B2R>@6@$./=6$4$>4N<S$dJ61$A6$561$1L/B$B1N4/5L1S$
*2A6$L4<=6N$,N2=6$/>12$-2RN$<2AOR16NM$1L6>$521$/>12$4>$;NA-$<2AOR16N$/>$;.4,4A4M$
4>@$/B$>2?$52/>5$02N$CL/16$*4>@B$H/BB/.6$F4>56Kd$

dE6BM$1L41)B$4,2R1$?L41$?6)Q6$B66>Sd$I$@/@>)1$?4>1$12$6PO.4/>$1L6$&>/P$+>RU
#A4<B$B6<RN/1-$L2.6S$d(RN$1N4<6B$4N6>)1$<2AO.616$-61W$L6$A/5L1$,6$0N2A$%4./02N>/4M$
;.4,4A4M$c/N5/>/4M$2N$A4-,6$G6?$X6NB6-Sd$

d(L$S$S$S$-2R)N6$>21$BLR11/>5$L/A$2R1$B2$1L41$-2R$<4>$<41<L$1L6$,4B14N@Sd$"6$
?4B$4L64@$20$A6S$

d;>@$/0$?6$<.2B6$L/A$2R1M$L6)..$eRB1$6>16N$1L6$I>16N>61$1LN2R5L$B2A6$21L6N$
L2.6Sd$

*16Q6$FR@@M$2>$1L6$21L6N$L4>@M$?4>16@$1L6$L4<=6N$>4/.6@S$dC6$<4>)1$.61$1L/B$
<2>1/>R6S$#Q6>$?/1L2R1$<.4BB/0/6@$/>02NA41/2>M$1L6$H/.>61)B$/>165N/1-$@6A4>@B$1L41$
BO/6B$,6$=6O1$2R1Sd$

*O/6BK$H-$64NB$ON/<=6@$ROS$
!L6$>4N<$BO2=6$>6P1S$dI$@2>)1$BROO2B6$1L6$VYI$L4B$./016@$4$0/>56NSd$
I$BRAA4N/T6@$2RN$0/Q6$<4..B$12$1L6$VYI$/>$2>6$?2N@S$
;.A2B1$4O2.2561/<4..-M$X/A$%LN/B1-$12.@$A6M$d!L6$VYI$/B>)1$N6ZR/N6@$12$

/>Q6B1/5416$6Q6N-$<N/A6S$3N2,4,.-$1L6-$.22=$41$2>6$/>$0/Q6S$%2AOR16N$<N/A6B$4N6>)1$
64B-[>21$./=6$=/@>4OO/>5$2N$,4>=$N2,,6N-M$?L6N6$1L6N6)B$?/1>6BB6B$4>@$2,Q/2RB$
.2BB6BS$D2>)1$,.4A6$1L6A$02N$BL-/>5$4?4-$0N2A$4$12R5L$<4B6$?/1L$>2$<.64N$B2.R1/2>Sd

*16Q6$ON6BB6@$X/AS$d('M$B2$1L6$VYI$?2>)1$@2$4>-1L/>5S$"2?$4,2R1$;V(*IKd$
X/A$4>B?6N6@$B.2?.-M$dC6)N6$1L6$;/N$V2N<6$<2AOR16N$<N/A6$/>Q6B1/5412NBS$C6$

RBR4..-$L64N$4,2R1$<2AOR16N$<N/A6B$2>.-$4016N$4$.2BBS$!L/B$/B$1L6$0/NB1$2>6$1L41$
?6)Q6$<2A6$4<N2BB$/>$ON25N6BBSd$

*16Q6$<R1$/>M$dX/AM$-2R)N6$4$BO6</4.$456>1S$!L6$2>.-$@/006N6><6$,61?66>$-2R$4>@$
4>$VYI$456>1$/B$-2RN$eRN/B@/<1/2>S$D26B>)1$1L/B$04..$/>$-2RN$<2RN1Kd$

dI1$@26BS$I1)B$4$B1N4>56$<4B6$1L41$04..B$/>$B6Q6N4.$<2RN1BSd$(Q6N$1L6$OL2>6M$I$
<2R.@$4.A2B1$L64N$X/A$1L/>=S$dC6)N6$/>16N6B16@M$4..$N/5L1S$I$<4>)1$16..$/0$1L/B$/B$
4$B6N/2RB$ON2,.6A$2N$4$N6@$L6NN/>5M$,R1$/1)B$?6..$?2N1L$/>Q6B1/541/>5Sd$

X/A$<2>1/>R6@M$dJ22=M$%./00S$#4<L$456><-$L4B$1LN6BL2.@BS$(RN$N6B2RN<6B$4N6$
0/>/16$B2$?6)N6$02N<6@$12$<L22B6$?L41$?6$/>Q6B1/5416S$!L41)B$?L-$1L6$VYI$4B=6@$-2R$
4,2R1$1L6$@2..4N$.2BB[1L6-)N6$.22=/>5$12$561$1L6$A2B1$,4>5$02N$1L6/N$6002N1S$G2?$
/0$<.4BB/0/6@$B1R00$561B$B12.6>M$/1)B$4$@/006N6>1$B12N-S$G41/2>4.$B6<RN/1-$@26B>)1$
6ZR416$12$@2..4NBSd$

*16Q6$/>16NNRO16@M$dYR1$R><.4BB/0/6@$/>02NA41/2>$<4>$4.B2$6ZR416$12$>41/2>4.$
B6<RN/1-S$!L6$ON2,.6A$/B$<2>Q/></>5$.4?$6>02N<6A6>1$O62O.6Sd$

d*2$?L41)..$-2R$@2Kd$I$4B=6@S$
dF/5L1$>2?M$1L6N6)B$N64..-$>21$AR<L$?6$<4>$@2S$I0$1L/B$L4<=6N)B$RB/>5$1L6$

A/./14N-$>61?2N=BM$1L2R5LM$L6)B$?4.=/>5$2>$2RN$16NN/12N-S$'66O$RB$/>02NA6@$4>@$
?6)..$BL4NO6>$2RN$B1/>56NBSd$

I>$L2O6B$20$6><2RN45/>5$;V(*IM$I$B6>1$X/A$4$<2O-$20$A-$.25,22=M$4>@$B4AO.6B$20$
1L6$L4<=6N)B$ON/>12R1BS$

;016N$1L/B$<2>Q6NB41/2>M$X/A$%LN/B1-$6PO.4/>6@$4,2R1$1L6$H/.>61S$CL41$I$<4..6@$



1L6$H/.>61M$X/A$=>6?$4B$1L6$R><.4BB/0/6@$D606>B6$D414$G61?2N=M$NR>$,-$1L6$
D606>B6$%2AAR>/<41/2>B$;56><-S$d!L6$D6O4N1A6>1$20$D606>B6$NR>B$1L6$H/.>61$02N$4..$
1L6$B6NQ/<6B[;NA-M$G4Q-M$;/N$V2N<6M$4>@$H4N/>6BS$!L41$?4-M$64<L$B6NQ/<6$L4B$6ZR4.$
4<<6BB$12$1L6$>61?2N=M$4>@$-2R)..$0/>@$<2AOR16NB$0N2A$6Q6N-$,N4><L$2>$1L6$>61Sd$

d*2$?L-$/B$*16Q6$FR@@$/>$1L6$;/N$V2N<6Kd$
d"6)B$N64..-$4$ORNO.6UBR/16N[L6$?2N=B$02N$4..$1LN66$,N4><L6BS$G41RN4..-M$?L6>$

L6$BA6..6@$4$ON2,.6AM$L6$<4..6@$1L6$;/N$V2N<6$/>Q6B1/5412NBSd$
d;>@$-2R$?2N=$0R..$1/A6$2>$<2AOR16N$<N/A6Kd$
dE2R$,61<L4S$C6)N6$?41<L/>5$16>$1L2RB4>@$;/N$V2N<6$<2AOR16NBSd$
d!L6>$?L-$<4>)1$-2R$?N4O$RO$1L/B$<4B6$/>$4$B>4OKd$
X/A$BO2=6$B.2?.-S$dC6)Q6$521$12$<.64N.-$@60/>6$2RN$16NN/12N-S$&>.6BB$?6$@2M$?6$

B16O$2>$64<L$21L6N)B$126BS$E2RM$%./00M$L4Q6$>2$?2NN/6B$1L41$-2R)..$,6$,RB16@$,-$1L6$
(*I[2RN$,4/./?/<=$/B$1L6$;/N$V2N<6$,4B6Sd$

Y4/./?/<=B$4.?4-B$,6.2>5$12$B2A62>6$6.B6S$
E2R$=>2?M$AR<L$4B$I$<2AO.4/>6@$4,2R1$,4/./?/<=BM$I$N64./T6@$1L41$1L6-$ON216<16@$

A-$2?>$N/5L1B\$2RN$<2>B1/1R1/2>$ON6Q6>1B$1L6$A/./14N-$0N2A$5NR,,/>5$4N2R>@$</Q/./4>$
4004/NBS$X/A$L4@$OR1$1L/B$/>12$4$>6?$./5L1[B2A61/A6B$1L6B6$N/5L1B$4<1R4..-$@2$
/>16N06N6$?/1L$.4?$6>02N<6A6>1S$V2N$1L6$0/NB1$1/A6M$I$N64./T6@$1L41$A-$</Q/.$N/5L1B$
4<1R4..-$./A/1$?L41$O2./<6$<4>$@2S$

CL22OBS$I)@$02N52116>$1L6$,2BB)B$/>B1NR<1/2>B$12$<4..$CL/16$*4>@BS$;>21L6N$06?$
A/>R16B$2>$1L6$OL2>6M$4>@$I$N64<L6@$%LN/B$H<D2>4.@M$4$</Q/./4>$?2N=/>5$02N$1L6$
A/BB/.6$N4>56S$

I$2R1./>6@$1L6$<4B6[&>/PM$!-A>61M$(4=.4>@M$H/.>61M$;>>/B12>M$;V(*IM$VYIS$
%LN/B$/>16NNRO16@M$dD/@$-2R$B4-$;>>/B12>Kd$
dE6BM$1L6$L4<=6N$?4B$BRO6NURB6N$41$;>>/B12>$;NA-$D6O21S$I1)B$4$./11.6$O.4<6$/>$

;.4,4A4M$I$1L/>=Sd$
dI$=>2?$;>>/B12>M$4..$N/5L1S$!L6-)N6$2RN$B/B16N$;NA-$,4B6S$;016N$?6$16B1$2RN$
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6A6N56@$0N2A$,6L/>@$1L6$<RN14/>M$6PO.4/>/>5M$dG2>6$20$1L6$./5L1B$?2N=$B2$?6)N6$
@6.4-/>5$1L6$O6N02NA4><6Sd$

;A/@$1L6$<41<4..B$4>@$,22BM$H4N1L4$B122@$RO$4>@$ORBL6@$A6$02N?4N@S$I$B1/..$L4@$
A-$6.6<1N/</4>)B$./<6>B6M$4>@$BL6)@$@2>6$16<L$02N$A4>-$4>$4A416RN$1L641N/<4.S$C6$
B>R<=$,4<=B1456S$!L6$0.4A6><2$@4><6NB$/>$1L6/N$5./116N/>5$<2B1RA6B$BA2=6@$4>@$O4<6@$
1L6$@4N=$B1456$./=6$<456@$1/56NBM$14OO/>5$1L6/N$0661$4>@$5.4></>5$41$RB$@2R,10R..-S$
H4N1L4$B61$4,2R1$R>14>5./>5$1L6$A4T6$20$<4,.6B$B1N6?>$/>$1L6$?/>5B$?L/.6$I$.2<416@$
1L6$,.2?>$0RB6S$;$ZR/<=$B?4O$20$0RB6B$4>@M$BL4T4AM$1L6$B1456$./5L1B$./1S$

!L6$@4><6NB$B14AO6@$4>@$<L66N6@$4>@M$4B$H4N1L4$>641.-$<2/.6@$1L6$.4B1$<4,.6$4>@$
4@eRB16@$1L6$./5L1/>5$,24N@M$1L6$6A<66$@N4556@$RB$2>$B1456$12$1L4>=$RBS$;016N$?6$
6B<4O6@$1L6$./A6./5L1M$?6$6>e2-6@$1L6$0.4A6><2$@4></>5$4>@$04N2$B/>5/>5W$1L6$
B<2?./>5M$>6NQ2RB$<N641RN6B$?6)@$B66>$2>$1L6$@4N=$B1456$?6N6$1N4>B02NA6@$/>12$
6.654>1M$?L/N./>5$@4><6NBS$

C6$@R<=6@$2R1B/@6$4>@$02R>@$4$BLR11.6$,RB$@N/Q6>$,-$4>$2.@$.4@-$?L2$<2R.@$L4Q6$
O4BB6@$02N$!R5,241$;>>/6M$/>$4OO64N4><6$4>@$.4>5R456S$*L6$A4>6RQ6N6@$1L6$,RB$54A6.-$
1LN2R5L$1L6$<N2?@6@$B1N661BM$4>@$?6$02R>@$2RNB6.Q6B$41$1L6$C2A6>)B$YR/.@/>5$2>$
#/5L166>1L$*1N661S$!L6N6$1L6$C4..0.2?6N$(N@6N$@4><6@$4>@$12.@$B12N/6B$20$06A/>/BA$
4>@$B2</4.$ON216B1S$

(>6$@4><6$?4B$4,2R1$1L6$CRU*LRM$4$.656>@4N-$%L/>6B6$A2>=6-$?L2$@606416@$1L6$
5N66@-$?4N.2N@B$4>@$54Q6$.4>@$,4<=$12$1L6$O62O.6S$*/11/>5$/>$1L6$,4.<2>-M$I$1L2R5L1$
4,2R1$O2./1/<4..-$<2NN6<1$A2>=6-B[?4B$I$4$O4?>$20$1L6$?4N.2N@BK$(N$?4B$I$N64..-$4$
<.6Q6N$A2>=6-M$2>$1L6$B/@6$20$1L6$O62O.6K$I$<2R.@>)1$16..M$B2$I$02N521$4,2R1$A-$
L4<=6N$4>@$6>e2-6@$1L6$@4><6S$

V/>4..-M$?6$?2R>@$RO$@4></>5$?/.@.-$12$4$NL-1LA$4>@$,.R6B$,4>@$?/1L$.64@$B/>56N$
H4P/>6$"2?4N@M$4$B6>B41/2>4.$,.R6B$B/>56N$4>@$1L6$B6P/6B1$?2A4>$/>$1L6$L/B12N-$20$
1L6$?2N.@S$*L6$?4B$O/<=/>5$O62O.6$2R1$20$1L6$4R@/6><6$12$@4><6$?/1L$L6N$2>$1L6$
B1456M$4>@$?6$B22>$02R>@$2RNB6.Q6B$L2/B1/>5$4$ON216B1/>5$H4N1L4$2>12$1L6$O.4102NAS$
C/1L/>$4$06?$A/>R16BM$BL6$4>@$L6N$06..2?$Q/<1/AB$2Q6N<4A6$1L6/N$B1456$0N/5L1$4>@$
02NA6@$1L6AB6.Q6B$/>12$4$04/N.-$B-><LN2>/T6@$<L2NRB$./>6M$@2/>5$./11.6$L4>@$A21/2>B$
./=6$1L6$*RON6A6BS$I$?4B$>6Q6N$AR<L$02N$@4></>5M$,R1$,-$1?2$2)<.2<=$2N$B2M$I$02R>@$
A-B6.0$eRAO/>5$4>@$BO/>>/>5$4N2R>@$?/1L$H4N1L4M$./01/>5$L6N$L/5L$/>$1L6$4/N$SSS$



C6$0/>4..-$L4@$2RN$0/..$20$L/5L$<R.1RN6$4>@$<L64O$1LN/..BM$4>@$?6>1$12$B.66O$41$
4$0N/6>@)B$L2RB6$/>$1L6$H/BB/2>$@/B1N/<1S$CL41$06.1$./=6$A2A6>1B$4016N$A-$L64@$
12R<L6@$1L6$O/..2?$i1L2R5L$/1$?4B$4<1R4..-$>/>6$1L6$>6P1$A2N>/>5jM$A-$,66O6N$?2=6$
A6$ROS$

"RLK$!L6$L4<=6N$?4B$41$?2N=$2>$G6?$E64N)B$D4-K$+/Q6$A6$4$,N64=S$
!L6N6$?4B>)1$AR<L$I$<2R.@$@2S$"4<=6N$2N$>21M$I$?4B>)1$4,2R1$12$<4..$*16Q6$CL/16$

2>$G6?$E64N)B$A2N>/>5S$;>-?4-M$I$@2R,16@$1L41$1L6$+6NA4>$YR>@6BO2B1$<2R.@$@2$AR<L$
4,2R1$/1$2>$4$L2./@4-S$H2B1$20$4..M$I$?4B$16>$A/.6B$0N2A$A-$.4,2N412N-S$

I$06.1$<456@$/>$?L/.6$1L6$L4<=6N$L4@$0N66$NR>S$I0$L6$?4>16@$12$1?64=$A-$>2B6M$
L6)@$02R>@$1L6$?4-S$XRB1$BL2?$RO$?L6>$I$<2R.@>)1$@2$4>-1L/>5S$

C6..M$I$<2R.@>)1$@2$AR<L$,6-2>@$?2NN-M$B2$I$1N/6@$12$B.66OS$C/1L$H4N1L4)B$4NA$
4N2R>@$A6M$N6B1$<4A6$64B/.-S$d%)A2>M$B?661/6Md$BL6$ORNN6@S$d+/Q6$1L6$L4<=6N$4$
L2./@4-Sd$I$B4>=$/>12$1L6$O/..2?BS$"4<=6N$2N$>21M$?6$?2R.@$<6.6,N416$1L6$G6?$E64NS$
C6$B.6O1$1L6$N6B1$20$1L6$A2N>/>5S$;N2R>@$>22>M$?6$02R>@$2RN$?4-$,4<=$L2A6S$%.4R@/4$
5N6616@$RB$?/1L$4$Q/2./>$B2>414$S$S$S$BL6)@$BO6>1$G6?$E64N)B$#Q6$O.4-/>5$41$B2A6$
A/../2>4/N6)B$O4N1-S$

H4N1L4$4B=6@$4,2R1$L6N$e2,S$dE2R$BL2R.@$L4Q6$B66>$1L6$<4>4OéBhd$%.4R@/4$
4>B?6N6@S$dC6$L4@$12$B/1$4>@$B14N6$41$1L6A$02N$L2RNB$,602N6$1L6-$0/>4..-$B4?$RB$
.22=/>5$O41L61/<$4>@$,N2R5L1$RB$B2A6S$!L6-$L4@$4$?L2.6$BA2=6@$B4.A2>$4>@$<4Q/4N$4>@$
B1N4?,6NN/6B$@/OO6@$/>$<L2<2.416$4>@[d$

H4N1L4$<R1$/>M$dI$A64>1$?L41$ARB/<$-2R$O.4-6@Sd$
d(LM$?6$O.4-6@$1L41$H2T4N1$B2>414$6Q6N-2>6$./=6B$1L41$526B$@/@@.6$@RA$@/@@.6$@4$

@4$@4S$!L6>$1L6-$B14N16@$A4=/>5$N6ZR6B1B$02N$N64..-$/<=-$1L/>5B$./=6$)H-$C/.@$IN/BL$
F2B6S)$I$1L2R5L1$I)@$561$B/<=$,R1$4016N$4..$/1$?4B$f789$02N$1?2$L2RNB$4>@$/1$?4B$2>$
1L6$?4-$12$A-$A2A)B$B2$I$<2R.@$@N2O$1L6$@25$200$1L6N6M$4>@$@2$B2A6$BL2OO/>5$RO$41$
*4>14$F2B4[d$

H4N1L4$B>R<=$/>$4$?2N@$4,2R1$,NR><LS$C6$?6N6$4..$/>$1L6$=/1<L6>$A/P/>5$?400.6$
,4116N$4>@$A4=/>5$0NR/1$B4.4@$?L6>$A-$,66O6N$B2R>@6@S$

D4A>S$!L6$L4<=6N$454/>S$H4N1L4$<RNB6@M$,R1$I$L4N@.-$L64N@$L6N\$I$T/OO6@$2Q6N$12$
A-$H4</>12BL$4>@$@/4.6@$1L6$.4,S$

!L6N6$?4B$1L6$L4<=6NM$4..$N/5L1M$.2556@$/>$4B$*Q6>16=S$I1$.22=6@$./=6$L6$?4B$
RB/>5$1L6$H/.>61M$,R1$I$<2R.@>)1$,6$BRN6$R>1/.$I$?6>1$12$1L6$.4,S$H64>?L/.6M$I)@$
,6116N$<4..$*16Q6$CL/16$41$!-A>61S$

G2$1/A6[1L6$L4<=6N$@/B4OO64N6@$?/1L/>$4$A/>R16S$"6$?4B$O.4-/>5$G6?$E64N)B$
54A6BS$

!L6N6$?4B>)1$AR<L$12$@2$,R1$O/<=$RO$1L6$O/6<6BS$I$B<4N06@$@2?>$1L6$?400.6B$4>@$
L/=6@$2Q6N$12$1L6$.4,S$!L6N6M$1L6$L4<=6N)B$G6?$E64N)B$<6.6,N41/2>$?4B$B4Q6@$2>$A-$
ON/>16NBS$I$B<N/,,.6@$>216B$2>$1L6$ON/>12R1BM$>6P1$12$64<L$20$L/B$<2AA4>@BS$

K=J%Ma[%_\)]%F),+W87KG%
+.?#/H%a0-/3-;%%%%%%%%%%%The hacker logs in as Sventek%
^1<<:.5'H%X,+612;%%%%%%%%and gives his current password%
X1<3%+.?#/H%E./%[-2%JV%LTHTLHKT%./%33>#R%
K=J%Ma[%_\)]%rJiH%n5#%C8?%JJ%JiHiSHLP%^[Z%LVSP%
q%
s%3-+/-3%%%%%%%%%%%%%%%%%He's going out over the Milnet%
3-+/-3g%.9-/%N93#@#<%%%%%And into the Optimis Army Database%
%%
o2-/3-5gttttttN^Z)E)atttttt%
n.5%8<-5%1<<#<31/2-$%21++%PVSWjRRJ$%FCBGJJSoh2-/3-5g%
%
_<-5/1@-H%C\N\cEN_a%%%%%%He logs in there as anonymous%
^1<<:.5'H%Q_&aZ%%%%%%%%%%And uses an obvious password%
%



D-+2.@-%3.%36-%C5@>%N^Z)E)a%'131,1<-%
%%
)4%>.8%8<-%36-<-%'131,1<-<%1/'%36->%126#-0-%1%<10#/?<%#/%
3#@-%<9-/3%./%1%95.A-23%.4%@./->%<10-'%3.%36-%?.0-5/@-/3%.5%,.36$%
9+-1<-%<-/'%1%@1#+%@-<<1?-%.83+#/#/?%36-%'-31#+<%3.%
E1U%Q-/-%X-Y+1+5$%Y6#-4$%N^Z)E)a%
%
o2-/3-5gD&XYNE&%ZN%
N^Z)E)a%
Z"&%[CZC%MCa&%DCa%XCaZ%_^[CZ&[%
N\%SPLiJK%CZ%LiJRJK%
C\[%YN\ZC)\a%TTLP%[NY_E&\Zaoh2-/3-5g%
Z6#<%'131%,1<-%)<%1/%-735123%.4%C`%JjWKiiWJ$%E.'-5/%C5@>%`-2.5'W%
;--9#/?%a><3-@%FEC`uaG%3.%6-+9%>.8%)'-/3#4>%#/4.5@13#./%4.5%4#+#/?=%
%
^+-1<-%-/3-5%1%:.5'%.5%*&])Z*=%
h%<'#%%%%%%%%%%%%%%%%%%%%%%Looking for SDI dope%
Z6-%:.5'%!<'#!%:1<%/.3%%%%%But there's none here%
4.8/'=%
^+-1<-%-/3-5%1%:.5'%.5%*&])Z*=%
h%<3-1+36%%%%%%%%%%%%%%%%%%Any word on the Stealth bomber?%
Z6-%:.5'%!<3-1+36!%:1<%/.3%No such luck%
4.8/'=%
^+-1<-%-/3-5%1%:.5'%.5%*&])Z*=%
h%<12%%%%%%%%%%%%%%%%%%%%%%Strategic Air Command?%
Z6-%:.5'%!<12!%:1<%/.3%%%%%Nope%
4.8/'=%

CL66h$!L6$L4<=6N$L4@$6>16N6@$4>$;NA-$@414,4B6$4>@$B64N<L6@$02N$B6<N61$;/N$V2N<6$
ON2e6<1BS$#Q6>$4>$4B1N2>2A6N$?2R.@$=>2?$,6116NS$"6$<4R5L1$2>$ZR/<=.-M$1L2R5L\$

^+-1<-%-/3-5%1%:.5'%.5%*&])Z*=%
h%/82+-15%
%Z61/;%>.8=%
)%610-%4.8/'%JV%'.28@-/3F<G%2./31#/#/?%36-%9651<-%*/82+-15*=%
)Z&E%r%%EC`ua%r%%%%Z)ZX&%
v%v%v%%%v%v%v%v%%%%v%v%v%v%v%
L%%%%%%%JiW+4%%%%%%)Q%)/<9-23#./<%F"-1'I8153-5<$%[-9153@-/3%%
%%%%%%%%%%%%%%%%%%%%%.4%36-%C5@>G%
J%%%%%%%ji1%%%%%%%%\82+-15$%26-@#21+$%1/'%,#.+.?#21+%/13#./1+%%
%%%%%%%%%%%%%%%%%%%%%<-285#3>%1441#5<%
T%%%%%%%ji,%%%%%%%%\82+-15$%26-@#21+%1/'%,#.+.?#21+%:15415-%%
%%%%%%%%%%%%%%%%%%%%%15@<%2./35.+<%
K%%%%%%%ji'%%%%%%%%\82+-15%1/'%26-@#21+%<3513-?>%4.5@8+13#./<%
j%%%%%%%ji-%%%%%%%%\82+-15%1/'%26-@#21+%9.+#3#2.W@#+#315>%1441#5<%
P%%%%%%%ji4%%%%%%%%\82+-15%1/'%26-@#21+%5-I8#5-@-/3<%
R%%%%%%%aN?%%%%%%%%\82+-15%1/'%26-@#21+%2191,#+#3#-<%
S%%%%%%%ji6%%%%%%%%Z6-13-5%/82+-15%4.52-%<3582385-%'-0-+.9@-/3<%
V%%%%%%%ji#%%%%%%%%\82+-15%1/'%26-@#21+%:15415-%,8'?-3%%
%%%%%%%%%%%%%%%%%%%%%4.5@8+13#./<%
Li%%%%%%jiA%%%%%%%%\82+-15%1/'%26-@#21+%95.?5-<<%1/'%<313#<3#21+%%
%%%%%%%%%%%%%%%%%%%%%5-9.53<%
LL%%%%%%ji;%%%%%%%%C5@>%/82+-15$%26-@#21+$%1/'%,#.+.?#21+%%
%%%%%%%%%%%%%%%%%%%%%'-4-/<-%95.?51@%
LJ%%%%%%ji@%%%%%%%%\82+-15%1/'%26-@#21+%2.<3%1/1+><-<%
LT%%%%%%ji/%%%%%%%%\82+-15$%26-@#21+%:15415-$%1/'%,#.+.?#21+%%
%%%%%%%%%%%%%%%%%%%%%'-4-/<-%<2#-/3#4#2%1/'%3-26/#21+%#/4.5@13#./%
LK%%%%%%ji9%%%%%%%%\82+-15%2.@@1/'%1/'%2./35.+%%
%%%%%%%%%%%%%%%%%%%%%2.@@8/#213#./<%
LP%%%%%%jiI%%%%%%%%Y6-@#21+%1/'%/82+-15%'-@#+#315#O13#./<%
LP%%%%%%ji5%%%%%%%%Y6-@#21+%1/'%/82+-15%9+1/<%
LR%%%%%%jiWj1%%%%%%\82+-15%122#'-/3h#/2#'-/3%2./35.+<%
LS%%%%%%jiWj,%%%%%%\82+-15%@1/9.:-5%1++.213#./<%
LV%%%%%%jiWS2%%%%%%\82+-15%<85-3>%4+#-<%
Ji%%%%%%jiWj'%%%%%%\82+-15%<#3-%5-<3.513#./<%
JL%%%%%%jiWjW+1%%%%\82+-15%<#3-%89?51'#/?%4#+-<%
JJ%%%%%%jiWLLP1%%%%\82+-15%<14-3>%4+#-<%
JT%%%%%%jjWTSjn`Z'%[.@-<3#2%<6#9@-/3%2./35.+<%
JK%%%%%%JiiWL2%%%%%"1O15'.8<%@13-5#1+%@1/1?-@-/3%4#+-<%



Jj%%%%%%TSPWLL;%%%%`1'#13#./%#/2#'-/3%.1<-<%
JP%%%%%%TSPWLL@%%%%`1'#.123#0-%@13-5#1+%+#2-/<#/?%
JR%%%%%%TSSWKii%%%%`1'#13#./%#/2#'-/3%21<-<%
JS%%%%%%RiiWPj1%%%%)/3-5/13#./1+%/82+-15%+.?#<3#2<%44+-<%
JV%%%%%%LLJjWJWTi1%^+1/3%'131%

C6..M$I)@$>6Q6N$<2A6$4<N2BB$BR<L$1L/>5BS$I)@$4.?4-B$1L2R5L1$1L41$4$1L6416N$?4B$
B2A6?L6N6$12$?41<L$A2Q/6BM$>21$4$O.4<6$12$@6Q6.2O$>R<.64N$02N<6BS$!L/B$L4<=6N$
?4B>)1$O.4-/>5$54A6BS$

;>@$L6$?4B>)1$B41/B0/6@$?/1L$1L6$1/1.6B$12$1L6B6$@2<RA6>1B[$L6$@RAO6@$4..$
1?6>1-U>/>6$2Q6N$1L6$./>6$ON/>16NS$3456$4016N$O456$?4B$0/..6@$?/1L$4NA-$@2R,.6U14.=$
./=6\$

Z)ZX&H%\82+-15$%26-@#21+$%1/'%,#.+.?#21+%/13#./1+%<-285#3>%1441#5<%
%
[&aY`)^Z)N\H%[.28@-/3<%5-+13#/?%3.%'.@-<3#2$%4.5-#?/$%1/'%@#+#315>%%
9.+#2-%4.5%36-%199+#213#./%.4%13.@#2%-/-5?>$%83#+#O13#./%.4%/82+-15%%
1/'%26-@#21+%:-19./<$%1/'%,#.+.?#21+%'-4-/<-%5-+13#/?%3.%/13#./1+%%
<-285#3>%1/'%/13#./1+%+-0-+%25#<-<%@1/1?-@-/3=%)/2+8'-'%15-%<38'#-<$%%
123#./<$%1/'%'#5-23#0-<%.4%1/'%5-+13-'%3.%36-%^5-<#'-/3$%\13#./1+%%
a-285#3>%Y.8/2#+$%C<<#<31/3%3.%36-%^5-<#'-/3%4.5%\13#./1+%a-285#3>%%
C441#5<$%1/'%#/3-5'-9153@-/31+%?5.89<%1/'%2.@@#33--<%1''5-<<#/?%%
/13#./1+%<-285#3>%1441#5<%5-?15'#/?%/82+-15%1/'%26-@#21+%:15415-%%
1/'%,#.+.?#21+%

!L6N6M$A-$ON/>16N$e4AA6@S$!L6$2.@$D6<?N/16N$L4@$O4/@$/1B$@R6B$02N$16>$-64NBM$
4>@$>2?$>66@6@$4>$4@eRB1A6>1$?/1L$4$B.6@56$L4AA6NS$D4A>S$F/5L1$?L6N6$1L6$L4<=6N$
./B16@$1L6$;NA-)B$O.4>B$02N$>R<.64N$,2A,B$/>$1L6$%6>1N4.$#RN2O64>$1L6416NM$1L6N6$
?4B$2>.-$4>$/>=$,.21S$

I$@/@>)1$=>2?$AR<L$4,2R1$A2Q/6$1L6416NB$/>$%6>1N4.$#RN2O6M$B2$I$54Q6$+N65$
V6>>6.$4$<4..$41$1L6$%I;S$;A4T/>5.-M$L6$4>B?6N6@$L/B$OL2>6$2>$G6?$E64N)B$D4-S$

d"/M$+N65[?L41$,N/>5B$-2R$/>$2>$G6?$E64N)BKd$
dE2R$=>2?M$1L6$?2N.@$>6Q6N$B.66OBSd$
d"6-M$?L41$@2$-2R$=>2?$4,2R1$A2Q/6$L2RB6B$/>$%6>1N4.$#RN2O6Kd$I$4B=6@M$O.4-/>5$

1L6$022.S$
d(LM$4$,/1S$CL41)B$ROKd$
dG21$AR<LS$!L6$L4<=6N$eRB1$,N2=6$/>12$B2A6$;NA-$<2AOR16N$41$1L6$36>1452>Sd$
dCL41)B$1L41$521$12$@2$?/1L$A2Q/6BKd$
dI$@R>>2Md$I$B4/@M$d,R1$L6$B66A6@$6BO6</4..-$/>16N6B16@$/>$>R<.64N$02N<6$

B1NR<1RN6$@6Q6.2OA6>1B$/>$%6>1N4.$#RN2O64>$1L6416NBSd$
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%%%%%%KR%91?-<$%\.0-@,-5%LVSP%
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%%%%%%Z6#<%4.5@%#<%101#+1,+-%6-5-$%,83%<6.8+'%%
%%%%%%,-%5-385/-'%3.%36-%\-3:.5;%Y./35.+%Y-/3-5%
%
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M-218<-%.4%36-%+-/?36%.4%36-<-%'.28@-/3<$%:-%@8<3%8<-%36-%9.<31+%%
%%<-50#2-=%
^+-1<-%<-/'%>.85%5-I8-<3%3.%36-%1,.0-%1''5-<<$%133-/3#./%E5<=%%
%%%M15,151%a6-5:#/=%
Z6-%/-73%6#?6%+-0-+%5-0#-:%4.5%a[)\&Z%)<%<26-'8+-'%4.5%Ji%%
%%n-,5815>$%LVSR=%M-218<-%.4%36#<$%1++%5-I8-<3<%4.5%'.28@-/3<%%
%%@8<3%,-%5-2-#0-'%,>%8<%/.%+13-5%361/%2+.<-%.4%,8<#/-<<%./%%



%%LL%n-,5815>$%LVSR=%M-I8-<3%5-2-#0-'%+13-5%361/%36#<%'13-%@1>%%
%%,-%'-+1>-'=%

%
a#/2-5-+>%>.85<$%
E5<=%M15,151%a6-5:#/%
[.28@-/3<%a-25-315>%
a[)\&Z%^5.A-23%

%

I$?2>@6N6@$L2?$L6)@$N64<1$12$1L/B$.6116NS$C2R.@$L6$B6>@$RB$L/B$4@@N6BBK$
I1$@/@>)1$A4=6$AR<L$@/006N6><6S$*16Q6$CL/16$<4..6@$,4<=$0N2A$!-A>61S$dI)Q6$

1N4<6@$-2RN$<2>>6<1/2>$2Q6N$12$1L6$&>/Q6NB/1-$20$YN6A6>Sd$
d*4A6$4B$RBR4.M$LRLKd$
dE64LS$I$5R6BB$1L6-)Q6$N62O6>6@$02N$<.4BB6BMd$*16Q6$B4/@S$d;1$4>-$N416M$1L6$

YR>@6BO2B1$L4B$1N4<6@$1L6$D416P$./>6$0N2A$YN6A6>$/>12$"4>>2Q6NSd$
d('S$*2R>@B$./=6$1L6$L4<=6N)B$/>$"4>>2Q6NSd$
d!L41)B$?L41$1L6$YR>@6BO2B1$B4-BS$!L6-)Q6$1N4<6@$1L6$D416P$./>6$/>12$4$@/4.U/>$

O2N1$.2<416@$>64N$@2?>12?>$"4>>2Q6NSd$
d'66O$52/>5M$I$02..2?$-2RSd$
dG2?$<2A6B$1L6$12R5L$O4N1S$*2A62>6$L4B$@/4.6@$/>12$1L6$D416P$B-B16A$/>$

"4>>2Q6NS$!L6-)N6$<2A/>5$0N2A$"4>>2Q6NM$4..$N/5L1[/1)B$>21$4$.2>5U@/B14><6$./>6Sd$
dD26B$1L6$YR>@6BO2B1$=>2?$1L41$OL2>6$>RA,6NKd$
d;.A2B1S$I>$1L6$O4B1$L4.0$L2RNM$1L6$16<L>/</4>$1N4<6@$1L6$./>6$4>@$L4B$>4NN2?6@$

/1$@2?>$12$2>6$20$0/01-$16.6OL2>6$>RA,6NBSd$
dCL-$<4>)1$1L6-$561$1L6$4<1R4.$>RA,6NKd$
dC2.054>5)B$R><.64N$4,2R1$1L41S$I1$B2R>@B$./=6$1L6-)Q6$@616NA/>6@$1L6$>RA,6N$12$

,6$0N2A$4$5N2RO$20$.2<4.$OL2>6BM$,R1$1L6$>6P1$1/A6$1L6-$A4=6$4$1N4<6M$1L6-)..$T6N2$
/>$2>$1L6$4<1R4.$16.6OL2>6S$VN2A$1L6$B2R>@$20$C2.054>5)B$A6BB456M$1L6-)N6$6P</16@$
4,2R1$B2.Q/>5$1L/B$<4B6Sd$

(>6$/>$0/01-M$LRLK$!L6$YR>@6BO2B1$/B$4.A2B1$1L6N6S$G6P1$1/A6M$1L6-)..$L4Q6$L/AS
VN/@4-M$X4>R4N-$7_M$7kg^S$!L6$<R<=22$.4/@$/1B$655B$/>$1L6$?N2>5$>6B1S$



:8$

!"#$!F;%#$;JH(*!$F#;%"#D$!"#$";%'#FS$IV$"#$%;H#$YE$(G%#$H(F#M$C#)D$";c#$"IHS$
YR1$1L6$@64@./>6$?4B$12A2NN2?$>/5L1S$*41RN@4-M$?L6>$1L6$+6NA4>$16.6OL2>6$

16<L>/</4>B$?2R.@$5/Q6$RO$1L6$<L4B6S$C2R.@$L6$BL2?$ROK$
dH4N1L4M$-2R$@2>)1$?4>1$12$L64N$1L/BM$,R1$I)A$B.66O/>5$41$1L6$.4,$454/>S$!L/B$

A4-$,6$1L6$6>@$20$1L6$N24@M$1L2R5LSd$
d!L41)B$1L6$@2T6>1L$1/A6$-2R)Q6$B4/@$1L41Sd$
3N2,4,.-$?4BS$!L6$<L4B6$L4@$,66>$4$<2>B14>1$B1N64A$20$dI)Q6$4.A2B1$521$L/Ad$

02..2?6@$,-$d"6)B$B2A6?L6N6$6.B6Sd$YR1$1L/B$1/A6$/1$06.1$@/006N6>1S$!L6$A6BB456B$
0N2A$+6NA4>-$?6N6$<2>0/@6>1S$!L6-$?6N6$2>$1L6$N/5L1$B<6>1S$

!L6$L4<=6N$L4@>)1$N64@$4..$2RN$,25RB$0/.6BS$I>$1L6$02N1-U0/Q6$A/>R16B$1L41$L6)@$
./>=6@$/>12$2RN$B-B16AM$L6$./B16@$4,2R1$4$1L/N@$20$1L6$@414S$"6$=>6?$1L6N6$?4B$
A2N6M$B2$?L-$@/@>)1$L6$B14-$4N2R>@$4>@$,N2?B6K$

;..$1L6$A2N6$./=6.-$1L41$L6)@$<2A6$,4<=$B22>S$*2$2><6$454/>M$I$<N4?.6@$R>@6N$A-$
@6B=$4>@$06..$4B.66O$12$1L6$B2R>@$20$4$<2AOR16N$@/B=$@N/Q6$?L/>/>5$/>$1L6$@/B14><6S

I$?2=6$ROM$02N$2><6M$?/1L2R1$4$,66O6N$BZR4?=/>5$/>$A-$64NS$XRB1$4$O64<60R.$
*41RN@4-$A2N>/>5M$4.2>6$/>$4$B16N/.6$200/<6M$B14N/>5$41$1L6$,2112A$20$A-$@6B=S$(L$
?6..M$I)@$1N/6@S$!22$,4@$1L6$L4<=6N$@/@>)1$BL2?$ROS$

*/><6$>2,2@-$6.B6$?4B$4N2R>@M$I$B14N16@$12$O.4-$?/1L$4>$4B1N2>2A/<4.$ON25N4AM$
1N-/>5$12$R>@6NB14>@$L2?$A/B14=6B$/>$A/NN2NU5N/>@/>5$4006<1$/A456B$0N2A$4$
16.6B<2O6S$!L6$ON25N4A$?4B$eRB1$4,2R1$?2N=/>5$?L6>$A-$,66O6N$<4..6@$41$g\`g$4SAS$

;$ZR/<=$e25$@2?>$1L6$L4..M$4>@$4$5.4><6$41$1L6$A2>/12N)B$B<N66>S$!L6N6)B$1L6$
L4<=6NM$eRB1$.255/>5$/>12$1L6$&>/PU9$<2AOR16NM$2>$2>6$20$L/B$2.@$4<<2R>1$>4A6BM$
H4N=S$G2$1/A6$12$0/5RN6$?L41$L6)B$@2/>5$L6N6M$eRB1$BON64@$1L6$?2N@$04B1S$%4..$
!-A>61M$4>@$.61$1L6A$<4..$1L6$YR>@6BO2B1S$

d"/$*16Q6hd$
d!L6$L4<=6N)B$,4<=$2>M$6LKd$*16Q6$ARB1$L4Q6$L64N@$/1$/>$1L6$12>6$20$A-$Q2/<6S$
dE6OS$%4>$-2R$B14N1$1L6$1N4<6Kd$
d"6N6$526BSd$"6$?4B$52>6$02N$1L/N1-$B6<2>@B[/1$<2R.@>)1$L4Q6$,66>$4$0R..$

A/>R16[?L6>$L6$4>>2R><6@M$d"6)B$<2A/>5$0N2A$YN6A6>$1L/B$1/A6Sd$
d*4A6$4B$-6B16N@4-Md$I$2,B6NQ6@S$
dI)..$16..$C2.054>5$41$1L6$YR>@6BO2B1Sd$*16Q6$LR>5$RO$?L/.6$I$?41<L6@$1L6$

L4<=6N$2>$A-$B<N66>S$#Q6N-$A/>R16$1L6$L4<=6N$Q/B/16@M$?6$?6N6$1L41$AR<L$<.2B6N$12$
R>A4B=/>5$L/AS$

E6BM$1L6N6$L6$?4BM$A61L2@/<4..-$N64@/>5$2RN$04.B6$@414$0/.6BS$C/1L$6Q6N-$
,RN64R<N41/<$A6A2$L6$N64@M$I$06.1$A2N6$B41/B0/6@M$=>2?/>5$L6$?4B$,6/>5$A/B.6@$/>$
1?2$?4-B\$L/B$/>02NA41/2>$?4B$O416>1.-$04.B6M$4>@$L/B$4NN254>1$B1N/@6B$1LN2R5L$2RN$
<2AOR16N$?6N6$.64@/>5$L/A$B1N4/5L1$/>12$2RN$4NABS$

;1$g\:`M$L6$.601$2RN$<2AOR16NS$*16Q6$CL/16$<4..6@$,4<=$?/1L/>$4$A/>R16S$
d!L6$+6NA4>B$1N4<6@$L/A$1LN2R5L$1L6$&>/Q6NB/1-$20$YN6A6>$454/>Md$L6$B4/@S$dVN2A$

1L6N6M$/>12$"4>>2Q6NSd$
dD/@$1L6-$A4=6$4>-$ON25N6BB$/>$5611/>5$L/B$OL2>6$>RA,6NKd$
dC2.054>5$B4-B$1L6-)Q6$521$4..$1L6$@/5/1B$20$L/B$OL2>6$>RA,6N$6P<6O1$1L6$.4B1$

1?2Sd$
;..$,R1$1L6$.4B1$1?2$@/5/1BK$!L41$@/@>)1$A4=6$B6>B6[/1$A64>1$1L41$1L6-)@$

1N4<6@$1L6$<4..$12$4$5N2RO$20$2>6$LR>@N6@$OL2>6BS$dYR1$1L41)B$?2NB6$1L4>$-6B16N@4-M$



?L6>$1L6-$B4/@$1L6-)@$/B2.416@$L/A$12$2>6$20$0/01-$OL2>6BSd$
d;..$I$<4>$16..$-2R$/B$?L41$I$L64NSd$
D/B1RN,/>5M$,R1$41$.64B1$1L6-$?6N6$1N4</>5$1L6$./>6BS$
;1$7`\7^M$L6$<4A6$,4<=S$Y-$>2?M$H4N1L4$L4@$,/<-<.6@$RO$12$1L6$.4,M$4>@$1L6$1?2$

20$RB$?6N6$,RB-$/>Q6>1/>5$>6?$*DI$0/.6B$12$066@$L/AS$C6$,21L$N4>$12$1L6$A2>/12NB$
4>@$?41<L6@$L/AM$6PO6<1/>5$L/A$12$@/B<2Q6N$2RN$.416B1$?2N=S$

!L/B$1/A6M$L6$?4B>)1$/>16N6B16@$/>$*DI$0/.6BS$I>B164@M$L6$?6>1$2R1$2Q6N$1L6$
H/.>61M$1N-/>5$12$,N64=$/>12$A/./14N-$<2AOR16NBS$(>6$,-$2>6M$1N-/>5$12$5R6BB$L/B$
?4-$O4B1$1L6/N$O4BB?2N@$ON216<1/2>S$

"6$<2><6>1N416@$2>$;/N$V2N<6$4>@$;NA-$<2AOR16NBM$2<<4B/2>4..-$=>2<=/>5$2>$1L6$
G4Q-)B$@22NS$3.4<6B$I)@$>6Q6N$L64N@$20M$./=6$1L6$;/N$V2N<6$C64O2>B$J4,M$D6B<2A$
"64@ZR4N16NBM$;/N$V2N<6$%%$(I*M$1L6$%%;U4A<S$V/01-$O.4<6BM$?/1L2R1$BR<<6BBS$

!L6>$L6$B./@$4<N2BB$1L6$H/.>61$/>12$4$<2AOR16N$>4A6@$YR<=>6NS$"6$521$N/5L1$
/>$SSS$@/@>)1$6Q6>$>66@$4$O4BB?2N@$2>$1L6$4<<2R>1$>4A6@$d5R6B1Sd$

H4N1L4$4>@$I$.22=6@$41$64<L$21L6NM$1L6>$41$1L6$B<N66>S$"6)@$,N2=6>$/>12$1L6$
;NA-$%2AAR>/<41/2>B$%6>16N$/>$YR/.@/>5$8aM$F22A$787M$20$V2N1$YR<=>6NS$!L41$AR<L$?4B$
2,Q/2RB\$1L6$<2AOR16N$5N6616@$1L6$L4<=6N$?/1L$/1B$4@@N6BBS$YR1$?L6N6)B$V2N1$
YR<=>6NK$

;,2R1$4..$I$<2R.@$16..$?4B$1L41$/1B$<4.6>@4N$?4B$?N2>5S$I1$B4/@$12@4-$?4B$
*R>@4-M$4>@$I$=>6?$/1$?4B$*41RN@4-S$H4N1L4$122=$<L4N56$20$1L6$A2>/12NBM$4>@$I$N4>$
12$1L6$./,N4N-M$N61RN>/>5$?/1L$1L6/N$>2?$04A/./4N$41.4BS$

345/>5$1LN2R5L$1L6$,4<=$O456BM$I$02R>@$V1S$YR<=>6N$./B16@S$
d"6-M$H4N1L4M$-2R)N6$>21$52/>5$12$,6./6Q6$1L/BM$,R1$1L6$L4<=6N)B$,N2=6>$/>12$4$

<2AOR16N$/>$X4O4>S$"6N6)B$-2RN$V2N1$YR<=>6NMd$I$B4/@M$O2/>1/>5$12$4>$/B.4>@$/>$1L6$
34</0/<$(<64>S$dI1)B$2>$(=/>4?4Sd$

CL41$4$<2>>6<1/2>h$VN2A$"4>>2Q6NM$+6NA4>-M$1L6$L4<=6N$./>=6@$12$1L6$&>/Q6NB/1-$
20$YN6A6>M$4<N2BB$4$1N4>B41.4>1/<$<4,.6$/>12$!-A>61M$1L6>$/>12$A-$Y6N=6.6-$
<2AOR16NM$4>@$/>12$1L6$H/.>61M$0/>4..-$N64<L/>5$(=/>4?4S$X66TS$

I0$B2A62>6$/>$(=/>4?4$L4@$@616<16@$L/AM$1L6-)@$L4Q6$12$R>N4Q6.$4$1NR.-$@4R>1/>5$
A4T6S$

G21$1L41$1L/B$?2N.@?/@6$./>=$B41/B0/6@$L/A[L6$?4>16@$V2N1$YR<=>6N)B$@414,4B6S$
V2N$L4.0$4>$L2RNM$L6$ON2,6@$1L6/N$B-B16AM$0/>@/>5$/1$4A4T/>5.-$,4NN6>S$;$06?$
.6116NB$L6N6$4>@$1L6N6M$4>@$4$./B1$20$4,2R1$B6Q6>1-U0/Q6$RB6NBS$V2N1$YR<=>6N$ARB1$
,6$4$Q6N-$1NRB1/>5$O.4<6\$>2,2@-$B61$O4BB?2N@B$2>$1L6/N$4<<2R>1BS$

"6$@/@>)1$0/>@$AR<L$2>$1L41$B-B16AM$2R1B/@6$20$B2A6$6.6<1N2>/<$A4/.$A6BB456B$
14.=/>5$4,2R1$?L6>$BROO./6B$?2R.@$4NN/Q6$0N2A$"4?4//S$;$<2..6<12N$20$A/./14N-$
4<N2>-AB$?2R.@$.2Q6$1L6$V2N1$YR<=>6N$<2AOR16NM$,R1$4>-$B4>6$O6NB2>$?2R.@$,6$,2N6@S$

dI0$L6)B$B2$/>16N6B16@$/>$A/./14N-$52,,.6@6522=Md$H4N1L4$4B=6@M$d?L-$>21$
6>./B1Kd$

C6..M$1L/B$L4<=6N$?4B>)1$,2N6@S$"6$./B16@$4B$A4>-$16P1$0/.6B$4B$L6$<2R.@M$
B=/OO/>5$2>.-$1L6$ON25N4AB$4>@$&>/P$R1/./1/6BS$;$,/1$4016N$6.6Q6>$/>$1L6$A2N>/>5M$
L6$0/>4..-$5N6?$1/N6@M$4>@$.2556@$200S$

CL/.6$L6)@$</N<.6@$1L6$5.2,6$?/1L$L/B$BO/@6N?6,$20$<2>>6<1/2>BM$1L6$+6NA4>$
YR>@6BO2B1$L4@$L2A6@$/>$2>$L/AS$

!L6$OL2>6$N4>5[L4@$12$,6$*16Q6$CL/16S$
d"/M$%./00Md$*16Q6$B4/@S$d!L6$1N4<6$/B$<2AO.616Sd$
d!L6$+6NA4>B$521$1L6$5R-Kd$
d!L6-$=>2?$L/B$OL2>6$>RA,6NSd$
dC6..M$?L2$/B$L6Kd$I$4B=6@S$



d!L6-$<4>)1$B4-$N/5L1$>2?M$,R1$-2R)N6$BROO2B6@$12$16..$1L6$VYISd$
dXRB1$16..$A6$1L/B$AR<LMd$I$12.@$*16Q6M$d/B$/1$4$<2AOR16N$2N$4$O6NB2>Kd$
d;$O6NB2>$?/1L$4$<2AOR16N$41$L/B$L2A6S$(N$BL2R.@$I$B4-M$41$L/B$,RB/>6BBSd$
H4N1L4$2Q6NL64N@$1L6$<2>Q6NB41/2>$4>@$?4B$>2?$?L/B1./>5$4$1R>6$0N2A$1L6$C/T4N@$

20$(T\$dD/>5U@2>5M$1L6$?/1<L$/B$@64@S$S$S$Sd$
;1$.4B1M$1L6$1N4<6$?4B$2Q6NS$!L6$O2./<6$?2R.@$,RB1$L/AM$L6)@$,6$4NN4/5>6@M$?6)@$

ON6BB$<L4N56BM$4>@$L6)@$,6$O4</>5$4$e4/.$<6..S$*2$I$1L2R5L1S$
YR1$A2N6$/AO2N14>1M$A-$N6B64N<L$?4B$0/>/BL6@S$V/Q6$A2>1LB$452M$I$4B=6@$A-B6.0M$

d"2?$<2A6$A-$4<<2R>1B$4N6$R>,4.4><6@$,-$^9$<6>1BKd$!L41$ZR6B1/2>$L4@$.6@$A6$4<N2BB$
1L6$<2R>1N-M$R>@6N$1L6$2<64>M$1LN2R5L$@606>B6$<2>1N4<12NB$4>@$R>/Q6NB/1/6BM$12$
"4>>2Q6NM$+6NA4>-S$

H4N1L4$4>@$I$,/=6@$L2A6M$B12OO/>5$2>.-$12$O/<=$RO$4$O/>1$20$L64Q-$<N64AS$C6$
O/<=6@$1L6$.4B1$20$2RN$54N@6>)B$B1N4?,6NN/6B$4>@$<6.6,N416@$?/1L$L2A6A4@6$
A/.=BL4=6BS$G2$@2R,1[1L6N6)B$>2$BR,B1/1R16$02N$A/P/>5$)6A$-2RNB6.0S$!2BB$/>$B2A6$
/<6$<N64AM$4$<2RO.6$,4>4>4BM$4$<RO$20$A/.=M$1?2$655BM$4$<2RO.6$BO22>0R.B$20$
Q4>/..4M$4>@$4$L4>@0R.$20$L2A6U5N2?>$B1N4?,6NN/6BS$!L/<=6>$/1$?/1L$eRB1$6>2R5L$
A4.1S$G2?$1L41)B$4$A/.=BL4=6S$

%.4R@/4M$H4N1L4M$4>@$I$@4><6@$4N2R>@$1L6$-4N@$02N$4$?L/.6[2RN$O.4>B$L4@$?2N=6@$
2R1$O6N06<1.-S$

dI>$4$<2RO.6$@4-BM$1L6$O2./<6$?/..$,RB1$L/AM$4>@$?6)..$0/>@$2R1$?L41$L6$?4B$
4016NMd$I$12.@$1L6AS$dG2?$1L41$B2A62>6$=>2?B$?L2)B$,6L/>@$1L/BM$/1$<4>)1$,6$.2>5Sd$

dE2?M$-2R)..$561$-2RN$>4A6$/>$1L6$>6?BO4O6NMd$%.4R@/4$A4NQ6.6@S$dC/..$-2R$B1/..$
14.=$12$RBKd$

dE64LM$I)..$6Q6>$=66O$?4BL/>5$1L6$@/BL6BSd$
!L6$N6B1$20$1L6$@4-M$H4N1L4$4>@$I$BO6>1$/>$*4>$VN4></B<2)B$+2.@6>$+416$34N=M$

N/@/>5$1L6$A6NN-U52UN2R>@$4>@$N2..6NUB=41/>5S$
;016N$4..$1L6B6$A2>1LBM$1L6$ON2,.6A$?4B$B2.Q6@S$C6)@$1LN2?>$4$>61$4N2R>@$1L6$

<R<=22S$



:a$

"#$*!;F#D$YJ#;'JE$;!$!"#$YF('#G$+F#;*E$c#G#!I;G$YJIGD*M$;$%I+;F#!!#$Y&!!$
@4>5./>5$0N2A$L/B$<.4AA-$./OBS$!L6$B/<=.-$5N66>$5.2?$20$1L6$B<N66>$N60.6<16@$2>$L/B$
B4..2?$1/N6@$0641RN6BS$*/.6>1.-M$@6./,6N416.-M$L6$/>Q4@6@$1L6$<2AOR16NS$

*/P$1L2RB4>@$A/.6B$4?4-M$L6N$.2>5/>5$?L/16$4NAB$<N4Q6@$02N$L/AS$"6$<2R.@$066.$
L6N$L21$,N641L$2>$L/B$<L66=M$4B$L6N$@6./<416$0/>56NB$<RN.6@$1LN2R5L$L/B$.2>5$,N2?>$
L4/NS$"6N$>65./566$O4N16@$/>Q/1/>5.-M$L6$B6>B6@$6Q6N-$<RNQ6$1LN2R5L$1L6$1L/>$B/.=6>$
54RT6S$*L6$?L/BO6N6@M$dD4N./>5M$@2>)1$.64Q6$A6S$S$S$Sd$

*R@@6>.-$1L6$>/5L1$?4B$BL4116N6@[1L41$B2R>@$454/>[L6$0N2T6$4>@$B14N6@$41$1L6$
>/5L1$B14>@S$;$N6@$./5L1$,6<=2>6@$4<N2BB$1L6$O/1<LU,.4<=$N22AS$"/B$,66O6N$B4>5$/1B$
B/N6>$B2>5S$

*R>@4-$A2N>/>5M$41$_\a`M$H4N1L4$4>@$I$?6N6$@N64A/>5$?L6>$1L6$L4<=6N$B16OO6@$2>$
A-$6.6<1N2>/<$1N/O?/N6S$D4A>S$*R<L$4$5N641$@N64AM$122S$

I$B./@$2R1$0N2A$R>@6N$1L6$ZR/.1B$4>@$<4..6@$*16Q6$CL/16S$"6$O4BB6@$1L6$A6BB456$
4.2>5$12$1L6$YR>@6BO2B1M$4>@$0/Q6$A/>R16B$.416NM$1L6$1N4<6$?4B$<2AO.616S$"4>>2Q6N$
454/>S$*4A6$5R-S$

VN2A$L2A6M$I$<2R.@>)1$2,B6NQ6$L/A[L6$A/5L1$>21/<6$A6$?41<L/>5$L/AS$YR1$2>.-$
-6B16N@4-$L6)@$0/>/BL6@$N64@/>5$4..$2RN$OL2>-$*DI$0/.6BS$*2$?L-$<2A6$,4<=$>2?K$

I1$?4B>)1$R>1/.$I$,/=6@$/>12$?2N=$1L41$I$B4?$1L6$L4<=6N)B$14N561BS$H/.>61$
454/>S$!L6$ON/>12R1$BL2?6@$L/A$.255/>5$/>12$A-$Y6N=6.6-$<2AOR16NM$1L6>$N64<L/>5$2R1$
2Q6N$1L6$H/.>61M$1L6>$1N-/>5$12$.25$2>12$4$B-B16A$41$1L6$#5./>$;/N$V2N<6$Y4B6S$

"6$1N/6@$4<<2R>1$>4A6B$./=6$5R6B1M$B-B16AM$A4>456NM$4>@$0/6.@$B6NQ/<6$SSS$4..$
L/B$2.@$1N/<=BS$#5./>)B$<2AOR16N$@/@>)1$OR1$RO$?/1L$BR<L$>2>B6>B6\$/1$=/<=6@$L/A$
2R1$4016N$L/B$02RN1L$1N-S$*2M$L6$?6>1$2>$1L6$#RN2O64>$H/.>61$%2>1N2.$<2AOR16NM$4>@$
1N/6@$454/>S$*1/..$>2$.R<=S$

*/P1-$<2AOR16NB$.416NM$L6$B1/..$L4@>)1$52116>$/>12$4$A/./14N-$<2AOR16NS$YR1$L6$
=6O1$1N-/>5S$

;1$7\ak$OSASM$L6$BR<<66@6@$/>$.255/>5$/>12$1L6$G4Q-$%24B14.$*-B16AB$%6>16N$/>$
34>4A4$%/1-M$V.2N/@4S$"6$521$/>12$1L6/N$B-B16A$,-$1N-/>5$1L6$4<<2R>1$dI>5N6Bd$?/1L$
1L6$O4BB?2N@$dI>5N6BSd$

I>5N6B$@414,4B6$B201?4N6$.61B$-2R$ZR/<=.-$B64N<L$1L2RB4>@B$20$4<<2R>1/>5$
N6<2N@B$02N$1L6$2>6$6>1N-$-2R$>66@S$E2R$A4=6$ZR6N/6B$./=6M$d!6..$A6$4..$1L6$ZR4B4NB$
1L41$6A/1$rUN4-BMd$2N$d"2?$A4>-$!2A4L4?=$A/BB/.6B$4N6$@6O.2-6@$/>$1L6$;1.4>1/<$
0.661Kd$D414,4B6$B201?4N6$/B$O2?6N0R.$B1R00M$4>@$1L6$I>5N6B$B-B16A$/B$4A2>5$1L6$
0/>6B1S$

YR1$/1)B$B2.@$?/1L$4$,4<=@22N$O4BB?2N@S$CL6>$-2R$/>B14..$I>5N6BM$/1$<2A6B$?/1L$
4$N64@-UA4@6$4<<2R>1$1L41$L4B$4>$64B/.-$5R6BB6@$O4BB?2N@S$H-$L4<=6N$=>6?$1L/BS$!L6$
G4Q-$%24B14.$*-B16AB$%6>16N$@/@>)1S$

(><6$.2556@$2>M$L6$A61/<R.2RB.-$<L6<=6@$1L41$>2,2@-$?4B$?41<L/>5$L/AS$"6$./B16@$
1L6$0/.6$B1NR<1RN6B$4>@$B64N<L6@$02N$./>=B$12$>64N,-$>61?2N=BS$"6$1L6>$./B16@$1L6$
6>1/N6$6><N-O16@$O4BB?2N@$0/.6S$

!L6N6$L6$526B$454/>S$!L41)B$1L6$1L/N@$2N$02RN1L$1/A6$I)@$B66>$L/A$<2O-$1L6$
?L2.6$O4BB?2N@$0/.6$/>12$L/B$L2A6$A4<L/>6S$*2A61L/>5)B$B1N4>56$L6N6[1L6$O4BB?2N@B$
4N6$ON216<16@$,-$6><N-O1/2>M$B2$L6$<4>)1$O2BB/,.-$0/5RN6$2R1$1L6$2N/5/>4.$O4BB?2N@S$
*1/..M$?L-$6.B6$?2R.@$L6$<2O-$1L6$O4BB?2N@$0/.6K$

;016N$4>$L2RN$/>B/@6$1L6$>4Q-$<2AOR16NM$L6$5N6?$1/N6@$4>@$?6>1$,4<=$12$=>2<=/>5$



2>$@22NB$4.2>5$1L6$H/.>61S$!L41M$122M$.2B1$/1B$6P</16A6>1$4016N$4$?L/.6W$4016N$
0/01-$2N$4$LR>@N6@$1/A6BM$6Q6>$L6$1/N6@$20$B66/>5$1L6$A6BB456M$dI>Q4./@$J25/>[$,4@$
O4BB?2N@Sd$*2$L6$ON/>16@$2R1$B2A6$*DIG#!$0/.6B$454/>M$ON611-$AR<L$1L6$B4A6$B1R00$
L6)@$B66>$/>$1L6$O4B1$<2RO.6$20$@4-BS$;N2R>@$8\a`$/>$1L6$4016N>22>$L6$<4..6@$/1$
ZR/1BS$"6)@$BO6>1$6/5L1$L2RNB$L4<=/>5$2>$1L6$A/./14N-$>61?2N=BS$

3.6>1-$20$1/A6$12$1N4<6$L/B$<4..S$;>@$1/A6$6>2R5L$12$.64N>$1L41$1L6$+6NA4>$
YR>@6BO2B1$L4B$,66>$/>$<.2B6$<2>14<1$?/1L$1L6$3R,./<$3N2B6<R12N$/>$YN6A6>M$+6NA4>-S$
!L6-)N6$<2>14<1/>5$1L6$4R1L2N/1/6B$/>$"4>>2Q6NM$4>@$1L6-)N6$4.B2$14.=/>5$12$1L6$
+6NA4>$Y';S$*2R>@B$./=6$B2A62>6$/B$4,2R1$N64@-$12$<.2B6$/>$2>$1L6$L4<=6N$4>@$A4=6$
1L6$4NN6B1S$

CL2$BL2R.@$I$<4..$4,2R1$1L/B$,N64=U/>$/>12$1L6$G4Q-$<2AOR16NK$
;$?66=$452M$1L6$;/N$V2N<6$(*I$?4N>6@$A6$>21$12$<4..$1L6$B-B16A$A4>456NB$

@/N6<1.-S$X/A$%LN/B1-$B4/@M$dI1)B$eRB1$NR>B$454/>B1$A/./14N-$O2./<-Sd$
dI$R>@6NB14>@Md$I$B4/@S$dYR1$/B$1L6N6$4$<.64N/>5L2RB6$12$N6O2N1$1L6B6$ON2,.6AB$

12Kd$
dG2M$>21$N64..-Md$X/A$6PO.4/>6@S$dE2R$<4>$16..$1L6$G41/2>4.$%2AOR16N$*6<RN/1-$

%6>16NM$,R1$1L6-)N6$ON611-$AR<L$4$2>6U?4-$1N4OS$!L6-$./B16>M$4..$N/5L1M$,R1$1L6-$
@2>)1$OR,./</T6$ON2,.6ABS$*2$/0$/1)B$4$A/./14N-$<2AOR16NM$<4..$RBMd$X/A$B4/@S$
dC6)..$52$1LN2R5L$<L4>>6.B$4>@$561$1L6$?2N@$12$1L6$N/5L1$02.=BSd$

H2>@4-$A2N>/>5$,N2R5L1$1L6$L4<=6N$454/>S$!/A6$12$1?/B1$B2A6$A2N6$@22N=>2,BS$(>6$
,-$2>6M$L6$B<4>>6@$H/.>61$<2AOR16NBM$N4>5/>5$0N2A$1L6$F2A6$;/N$D6Q6.2OA6>1$%6>16N$
/>$G6?$E2N=$12$B2A6O.4<6$<4..6@$1L6$G4Q4.$#.6<1N2>/<$C4N04N6$%6>16NS$"6$1N/6@$
0/0166>$O.4<6B$,602N6$L6$B1NR<=$O4-$@/N1[1L6$F4AB16/>$;/N$V2N<6$Y4B6$<2AOR16NS$
!L/B$1/A6M$L6$@/B<2Q6N6@$1L41$1L6$4<<2R>1M$d,,><<Md$?4B>)1$ON216<16@S$G2$O4BB?2N@$
>66@6@S$

F4AB16/>)B$<2AOR16N$B66A6@$12$,6$4>$6.6<1N2>/<$A4/.$B-B16A$02N$200/<6NBS$"6$
B14N16@$./B1/>5$6Q6N-2>6)B$A4/.S$oR/<=.-M$/1$2O6>6@$A-$6-6B[1L/B$?4B$B1R00$1L41$L6$
BL2R.@>)1$,6$B66/>5S$

('M$?L41$BL2R.@$I$@2K$I$<2R.@>)1$.61$L/A$5N4,$1L/B$/>02NA41/2>M$-61$I$@/@>)1$
?4>1$12$1/O$A-$L4>@S$D/B<2>>6<1/>5$L/A$?2>)1$@2$AR<L$522@[L6)..$eRB1$0/>@$4>21L6N$
O41L?4-S$I$<4>)1$<4..$1L6$O.4<6[I)Q6$>2$/@64$?L6N6$F4AB16/>$;/N$V2N<6$Y4B6$/BS$I$
<4>$<4..$;/N$V2N<6$(*IM$,R1$I)Q6$521$12$14=6$4<1/2>$>2?[>21$/>$0/Q6$A/>R16B[
,602N6$L6$N64@B$1L6$N6B1$20$1L6/N$@414S$

I$N64<L6@$02N$1L6$OL2>6$12$<4..$X/A$%LN/B1-$20$1L6$;/N$V2N<6$(*IS$G41RN4..-$I$
<4>)1$N6A6A,6N$L/B$OL2>6$>RA,6NS$!L6N6$/>$A-$O2<=61$/B$4$=6-$<L4/>S$(0$<2RNB6M$1L6$
2.@$=6-$<L4/>$1N/<=S$XRB1$4@@$B2A6$>2/B6$12$L/B$<2>>6<1/2>S$

I$e4>5.6@$A-$=6-B$454/>B1$1L6$<2>>6<12NM$BL2N1/>5$2R1$1L6$L4<=6N)B$
<2AAR>/<41/2>B$./>6S$XRB1$6>2R5L$12$4OO64N$4B$>2/B6$12$1L6$L4<=6NS$d*141/<$2>$1L6$
./>6Md$L6)@$1L/>=S$#Q6N-$1/A6$L6$4B=6@$02N$6.6<1N2>/<$A4/.$0N2A$F4AB16/>M$I$54N,.6@$
L/B$<2AA4>@BM$4>@$F4AB16/>)B$<2AOR16N$A/BR>@6NB122@$L/AS$

;016N$4$06?$A2N6$4116AO1BM$L6$54Q6$RO$2>$F4AB16/>$;/N$V2N<6$Y4B6M$4>@$?6>1$,4<=$
12$B<4>>/>5$1L6$H/.>61M$1N-/>5$12$561$/>12$21L6N$O.4<6BS$

I$0/>4..-$N64<L6@$X/A$%LN/B1-$41$;/N$V2N<6$(*IS$d!L6$L4<=6N)B$52116>$/>12$
B2A6O.4<6$<4..6@$F4AB16/>$;/N$V2N<6$Y4B6S$CL6N6Q6N$/1$/BM$-2R)@$,6116N$16..$1L6A$12$
<L4>56$4..$1L6/N$O4BB?2N@BSd$

dF4AB16/>)B$/>$+6NA4>-Sd$
d"RLKd$I$4B=6@S$I)@$1L2R5L1$1L6$2<<RO41/2>$20$#RN2O6$L4@$6>@6@$/>$1L6$)9`BS$

dCL41)B$1L6$&S*S$;/N$V2N<6$@2/>5$/>$+6NA4>-Kd$
d3N216<1/>5$-2RS$YR1$.61)B$>21$52$/>12$1L41S$I)..$?4N>$1L6A$N/5L1$4?4-S$+2$,4<=$



12$?41<L/>5$1L6$L4<=6NSd$
I)@$A/BB6@$16>$A/>R16B$20$1L6$L4<=6NS$"6$?4B$1N-/>5$12$,N64=$/>12$A2N6$A/./14N-$

B-B16ABM$B.2?.-$4>@$A61L2@/<4..-$1N-/>5$@2T6>B$20$B/16BS$
!L6$H/.>61$4@@N6BB6B$B66A6@$12$,6$/>$4.OL4,61/<4.$2N@6NW$N/5L1$>2?$L6$?4B$

?2N=/>5$>64N$1L6$6>@$20$1L6$4.OL4,61S$H2B1.-$F)B$4>@$*)BS$;L4h$E6BM$1L41$?4B$/1S$"6$
?4B$?2N=/>5$0N2A$4>$4.OL4,61/T6@$./B1S$*2A6L2?M$L6)@$2,14/>6@$1L6$H/.>61$@/N6<12N-M$
4>@$?4B$<L6<=/>5$200$64<L$B/16$4016N$L6$1N/6@$/1S$

"6)@$A4@6$/1$L4.0?4-$1LN2R5L$1L6$*)B$?L6>$L6$1N/6@$4$<2AOR16N$<4..6@$
*6<=6>L6/AS$J2556@$N/5L1$/>$4B$d+R6B1Sd$G2$O4BB?2N@S$!L/B$?4B$5611/>5$6A,4NN4BB/>5S

YR1$1L2R5L$L6$521$/>12$1L41$<2AOR16NM$L6$@/@>)1$B14-$.2>5S$;$06?$A/>R16B$12$
A4=6$4$<2RO.6$B<4>B$20$1L6/N$B-B16A$0/.6BM$1L6>$L6$.2556@$200S$I$?2>@6N6@$?L-S$

*1/..M$I)@$,6116N$@2$B2A61L/>5S$!/A6$12$<4..$1L6$;/N$V2N<6S$
d"6-M$1L6$L4<=6N$eRB1$521$/>12$B2A6O.4<6$<4..6@$*6<=6>L6/AS$I1)B$2>$1L6$H/.>61M$

B2$/1$ARB1$,6$4$A/./14N-$<2AOR16NS$YR1$I)Q6$>6Q6N$L64N@$20$/1Sd$
d*>4=6$/>$1L6$5N4BBMd$X/A$5N2?.6@S$
d"RLKd$
dD4A>S$*6<=6>L6/A$/B$1L6$;NA-$H416N/4.$%2AA4>@$/>$#RN2O6S$G64N$"6/@6.,6N5S$

+6NA4>-$454/>Sd$
d(2OBS$*2NN-$4,2R1$1L41Sd$
dI)..$14=6$<4N6$20$/1Sd$!L6$L4<=6N)B$BR<<6BB$A64>1$ON2,.6AB$02N$1L6$>4N<BS$I$

?2>@6N6@$L2?$A4>-$2Q6NB64B$A/./14N-$,4B6B$1L6$&>/16@$*1416B$L4BS$!L6$16<L>2.25-$I$
<2R.@$L4>@.6S$I1$?4B$5625N4OL-$4>@$,RN64R<N4</6B$1L41$1N/OO6@$A6$ROS$

;016N$L4Q/>5$<N4<=6@$1LN66$<2AOR16NB$12@4-M$1L6$L4<=6N$?4B$B1/..$>21$B41/B0/6@S$
"6$<2>1/>R6@$12$,4>5$4?4-$2>$1L6$H/.>61M$B2$I$=6O1$?41<L$/>$1L6$B?/1<L-4N@S$(>6$,-$
2>6M$I$?41<L6@$4B$L6$1N/6@$O4BB?2N@BS$;1$77\a^M$L6$521$/>12$4$c4P$<2AOR16N$>4A6@$
*16?4N1S$J2556@$N/5L1$/>$1L6N6$4B$dV/6.@Md$O4BB?2N@M$d*6NQ/<6Sd$I)@$B66>$/1$,602N6S$
;>21L6N$c4P$<2AOR16N$NR>>/>5$cH*$1L41$L4@>)1$<L4>56@$1L6/N$@604R.1$O4BB?2N@BS$

!L6$L4<=6N$@/Q6@$N/5L1$/>S$!L6$0/6.@$B6NQ/<6$4<<2R>1$?4B$ON/Q/.656@M$4>@$L6$
?4B16@$>2$1/A6$14=/>5$4@Q4>1456$20$1L/BS$"6$0/NB1$@/B4,.6@$4<<2R>1/>5M$B2$1L41$L6)@$
.64Q6$>2$1N4<=B$,6L/>@S$!L6>$L6$?6>1$@/N6<1.-$12$1L6$4R1L2N/T6$R1/./1-[1L6$B-B16A$
B201?4N6$/>$<L4N56$20$O4BB?2N@B[4>@$B6.6<16@$2>6$RB6NM$F/14M$?L2$L4@>)1$RB6@$1L6$
B-B16A$02N$1L6$O4B1$06?$A2>1LBS$"6$A2@/0/6@$F/14)B$4<<2R>1$12$5/Q6$/1$0R..$B-B16A$
ON/Q/.656BS$!L6>$L6$B61$4$>6?$O4BB?2N@S$d&.0A6N,2.@Sd$

CL6N6$L4@$I$L64N@$1L41$?2N@K$&.0A6N,2.@S$I1$B2R>@6@$+6NA4>S$*2A61L/>5$12$0/5RN6$
2R1$.416NS$H64>?L/.6M$I)Q6$521$12$?41<L$A-$L4<=6NS$

V/>4..-M$4$,/1$4016N$>22>M$1L6$L4<=6N$.601$Y6N=6.6-S$;$ON2@R<1/Q6$@4-$02N$L/AS$
!L6$*16?4N1$<2AOR16N$1RN>6@$2R1$12$,6.2>5$12$V2N1$*16?U4N1M$4>$;NA-$,4B6$/>$

+62N5/4S$I$<4..6@$H/=6$+/,,2>B$20$1L6$VYIM$4>@$L6$122=$<4N6$20$<4../>5$1L6AS$
dH/=6M$L4Q6$-2R$6Q6N$L64N@$20$1L6$?2N@$)&.0A6N,2.@)Kd$
dG2O6S$*2R>@B$+6NA4>M$1L2R5LSd$
dXRB1$<L6<=/>5S$*4-M$1L6$+6NA4>B$L4Q6$<2AO.616@$1L6$1N4<6S$!L6$YR>@6BO2B1$>2?$

=>2?B$?L2)B$A4=/>5$1L6$<4..BSd$
dD/@$1L6-$16..$-2RKd$
dG4?S$G2,2@-$6Q6N$16..B$A6$4>-1L/>5S$E2R$=>2?$1L41Sd$
H/=6$.4R5L6@S$d!L41)B$1L6$?4-$?6$2O6N416M$4..$N/5L1S$YR1$I)..$561$1L6$J6541$2>$

1L6$<4B6$N/5L1$4?4-Sd$
dJ6541Kd$
d(LS$J654.$;114<LéS$E2R$=>2?M$1L6$5R-$/>$Y2>>$1L41$L4>@.6B$2RN$4004/NBSd$
d"2?$B22>$R>1/.$1L6-$4NN6B1$1L6$5R-Kd$I$eRB1$?4>16@$12$=>2?$?L2$4>@$?L-[1L6$



.4B1$O/6<6B$20$1L6$ORTT.6S$
dI$@2>)1$=>2?S$YR1$?L6>$/1$L4OO6>BM$I)..$16..$-2RS$*L2R.@>)1$,6$.2>5$>2?Sd$
Y-$<L4><6M$4N2R>@$a$3SHS$!66e4-$<4..6@$0N2A$1L6$%I;S$dCL41)B$>6?Kd$
dC6$<2AO.616@$1L6$1N4<6$2Q6N$1L6$?66=6>@Sd$
dCL6N6$/B$L6Kd$
dI>$"4>>2Q6NSd$
dHAAAS$'>2?$1L6$5R-)B$>4A6Kd$
dG2M$>21$-61Sd$
dD26B$1L6$)V)$6>1/1-$=>2?Kd$
dI$@2>)1$1L/>=$B2S$YR1$<4..$1L6A$4>@$0/>@$2R1S$!L6-$>6Q6N$16..$A6$4$1L/>5Sd$I$

@2R,16@$1L41$1L6$VYI$?2R.@$16..$1L6$%I;M$4>@$I$@/@>)1$?4>1$12$,6$BZR66T6@$,61?66>$
1L6$1?2S$I1$?4B$?6/N@$6>2R5L$12$14.=$12$6/1L6NS$

d;>-$<.R6B$12$L/B$/@6>1/1-Kd$
d"4N@$12$B4-S$#Q6N$L64N$20$1L6$?2N@$&.0A6N,2.@Kd$
dHAAAS$CL41)B$1L41$0N2AKd$
d!L6$L4<=6N$<L2B6$1L41$4B$4$O4BB?2N@$?L6>$L6$,N2=6$/>12$4$<2AOR16N$1L/B$

A2N>/>5S$;1$V2N1$*16?4N1M$+62N5/4Sd$
d"6)B$>21$.611/>5$1L6$5N4BB$5N2?M$LRLKd$!66e4-$B1/..$1N/6@$12$B2R>@$

R>/>16N6B16@M$,R1$L/B$Q2/<6$L4@$4$1N6A2N$1L41$54Q6$/1$4?4-S$
dE64LS$"6$521$/>12$4$<2RO.6$21L6N$O.4<6B$122Sd$
dCL6N6Kd$
d(LMd$I$B4/@M$d>2$O.4<6$BO6</4.S$XRB1$4$<2RO.6$A/./14N-$,4B6B$/>$+6NA4>-S$;>@$4$

O.4<6$<4..6@$V2N1$YR<=>6NSd$
d*2>$20$4$,/1<LSd$
dE2R$=>2?$1L6AKd$
dE64LS$I$RB6@$12$?2N=$41$V2N1$YR<=>6NS$Y4<=$/>$A-$;NA-$@4-BS$J/Q6@$2>$,4B6$?/1L$

A-$?/06Sd$;$%I;$456>1$?/1L$4$?/06K$I)@$>6Q6N$1L2R5L1$20$/1S$*O-$>2Q6.B$>6Q6N$
A6>1/2>$BO2RB6B$2N$=/@BS$

!L6$L4<=6N$L4@$<L2B6>$4$B1N4>56$O4BB?2N@$02N$L/B$RB6S$&.0A6N,2.@S$G21L/>5$/>$A-$
@/<1/2>4N-S$G21$/>$%4BB6..)B$+6NA4>U#>5./BL$@/<1/2>4N-S$!L6$1NRB1-$41.4B$BL2?6@$
>21L/>5S$E61$I)@$L64N@$1L/B$?2N@$,602N6S$

H4N1L4$L4@>)1$L64N@$20$/1S$G2N$L4@$4>-$20$A-$0N/6>@BS$G21$6Q6>$A-$B/B16NM$1L6$
2>6$?L2)@$N/B=6@$L6N$./06$ON2?./>5$4N2R>@$4$L/5L$B<L22.$/>$H<J64>M$c/N5/>/4S$

I1$122=$1LN66$@4-BM$,R1$A-$,2BBM$F2-$'6N1LM$0/5RN6@$/1$2R1S$&.0$H6N,2.@$/B$1L6$
C6B1$+6NA4>$4B1N2>4R1$?L2)@$A4@6$4B1N2>2A/<4.$2,B6NQ41/2>B$0N2A$1L6$BO4<6$BLR11.6S$

;>21L6N$<.R6$12$+6NA4>-M$R>>6<6BB4N-M$>2?$1L41$1L6$6Q/@6><6$?4B$2Q6N?L6.A/>5S$
YR1$?L-$O/<=$4>$4B1N2>4R1)B$>4A6K$"6N2$?2NBL/OK$(N$B2A6$A2N6$B/>/B16N$A21/Q6K$

%2R.@$1L/B$6PO.4/>$?L-$L6$=6O1$,N64=/>5$/>12$<2AOR16NBK$%2R.@$I$L4Q6$,66>$
02..2?/>5$B2A62>6$2,B6BB6@$?/1L$1L6$&S*S$BO4<6$ON25N4A[4$5R-$?L2$@N64A6@$4,2R1$
,6<2A/>5$4>$4B1N2>4R1$4>@$<2..6<16@$/>02NA41/2>$4,2R1$1L6$BO4<6$ON25N4AK$

G2O6S$!L/B$L4<=6N$B2R5L1$2R1$A/./14N-$<2AOR16NB[>21$G;*;$B-B16ABS$"6$?4>16@$
*DI$@414M$>21$4B1N2>2A-S$E2R$@2>)1$B64N<L$02N$1L6$BO4<6$BLR11.6$2>$(=/>4?4S$E2R$
@2>)1$0/>@$4>$4B1N2>4R1)B$,/25N4OL-$,-$.22=/>5$RO$1L6$;NA-)B$>R<.64N$?4N04N6$O.4>B$
02N$%6>1N4.$#RN2O6S$



::$

!&#*D;E$H(FGIG+$+F##!#D$H#$CI!"$;$3IJ#$(V$H#**;+#*$VF(H$!EHG#!S$*!#c#$C"I!#$
N64@$B2A6$6.6<1N2>/<$A4/.$0N2A$1L6$D6R1B<L6$YR>@6BO2B1S$d*/><6$1L6$&>/Q6NB/1-$20$
YN6A6>$?2>)1$O4-$02N$4>-$A2N6$/>16N>41/2>4.$<4..BM$-2R)..$L4Q6$12$<4NN-$1L41$<2B1Sd

"6$=>6?$1L41$?6$<2R.@>)1$4002N@$/1S$d*16Q6M$A-$,2BB$,4.=B$41$O4-/>5$A-$B4.4N-M$
.61$4.2>6$1L/B$L4<=6N)B$<2>>6<1/2>BSd$

d"2?$AR<L$1/A6$4N6$-2R$OR11/>5$/>$2>$1L/B$<L4B6Kd$
d(LM$4,2R1$16>$L2RNB$4$@4-Sd$I$?4B>)1$=/@@/>5S$#Q6>$4$0/Q6UA/>R16$<2>>6<1/2>$,-$

1L6$L4<=6N$,4..22>6@$/>12$4$A2N>/>5$20$OL2>6$<4..BS$#Q6N-2>6$?4>16@$12$L64N$?L41$
L4@$L4OO6>6@S$G2,2@-$2006N6@$BROO2N1S$

dC6..$1L6>M$I)Q6$B2A6$522@$>6?B$02N$-2RMd$*16Q6$B4/@S$dC2.054>5$"200A4>$B4-B$
1L6N6)B$4$A661/>5$/>$"4>>2Q6N$12A2NN2?S$*2A61L/>5$4,2R1$<22N@/>41/>5$.654.M$
16<L>/<4.M$4>@$.4?U6>02N<6A6>1$4<1/Q/1/6BSd$

dCL-)B$1L41$522@$>6?BKd$
dY6<4RB6$1L6-$6PO6<1$12$A4=6$4>$4NN6B1$1L/B$?66=6>@Sd$
V/>4..-S$
dYR1$1L6N6)B$4$<2RO.6$ON2,.6ABS$!L6$+6NA4>B$L4Q6>)1$L64N@$0N2A$1L6$VYI$-61S$*2$

1L6-)N6$OR11/>5$1L/>5B$2>$L2.@S$C2.054>5$4B=B$1L41$-2R$O4BB$1L/B$A6BB456$12$1L6$
VYISd$

dC/..$@2Sd$
H-$>6P1$<4..$12$1L6$VYI$BL2?6@$1L6$0./O$B/@6$20$1L6$<2/>S$*O6</4.$;56>1$H/=6$

+/,,2>B$6PO.4/>6@$1L6$B/1R41/2>S$
"6)@$B6>1$16.65N4AB$12$Y2>>$16../>5$1L6$VYI)B$J6541$12$<2>14<1$1L6$+6NA4>$

O2./<6S$;1$1L6$B4A6$1/A6M$L6$BL/OO6@$,-$4/N$4$02.@6N$20$/>02NA41/2>$12$1L6$;114<L6@$
YR1$B2A6?L6N6M$1L6$A6BB456B$?6N6>)1$5611/>5$1LN2R5L[$C2.054>5$B1/..$L4@>)1$L64N@$
4,2R1$4>-$?4NN4>1B$0N2A$1L6$VYIS$

dE2R$B66M$?6$<4>)1$14.=$12$4>-2>6$6P<6O1$1LN2R5L$2RN$J6541Md$H/=6$B4/@S$d*1/..M$
I)..$N411.6$1L6$<456$454/>M$4>@$B66$1L41$1L6-)N6$4?4=6$/>$Y2>>Sd$

C6..M$1L41$VYI$456>1$BRN6$?4B>)1$@N455/>5$L/B$L66.BS$I$>6Q6N$@/@$0/>@$2R1$AR<L$
4,2R1$1L6$J654.$;114<Lé—@2$1L6-$?2N=$02N$1L6$VYI$2N$1L6$*1416$D6O4N1A6>1K$IB$/1$2>6$
O4N1U1/A6$O6NB2>$2N$4$?L2.6$B1400K$CL41$@2$1L6-$N64..-$@2K$CL2$@2$1L6-$14.=$12$/>$
1L6$+6NA4>$52Q6N>A6>1K$CL41$@2$-2R$L4Q6$12$@2$12$?4=6$1L6A$ROK$

!L6$%I;$?2R.@>)1$.64Q6$A6$4.2>6S$!66e4-$?4>16@$6Q6N-$@614/.$4,2R1$1L6$O4B1$
?66=6>@S$YR1$1L6$eR/<-$B1R00[1L6$5R-)B$>4A6M$L/B$A21/Q6BM$4>@$L/B$,4<=6NB[
N6A4/>6@$4$A-B16N-S$;"$I$=>6?$?4B$1L41$L6)@$,66>$0/>56N6@S$

d*4-M$!66e4-M$/0$I$0/>@$2R1$B2A6$20$1L/B$02N$-2RM$/B$1L6N6$4>-$<L4><6$-2R$
A/5L1M$RLM$1N4@6$B2A6$52BB/OKd$

dI$@2>)1$<2O-Md$1L6$BO22=$B4/@S$
dI$A64>M$BROO2B6$-2R$0/5RN6$2R1$?L2$?4B$,6L/>@$4..$1L/BS$CL41)..$-2R$16..$A6$

4,2R1$/1Kd$I$N64..-$?4>16@$12$=>2?$/0$L6$<2R.@$B6>@$B2A6$BO-$2Q6N$1L6N6$4>@$0/>@$
2R1$?L41$1L/B$<.2?>$?4B$RO$12S$

d*2NN-M$%./00S$C6)N6$./B16>6NBM$>21$14.=6NBSd$
*2$AR<L$02N$.64N>/>5$4>-1L/>5$0N2A$1L6$%I;S$
C/1L/>$4$@4-M$L2?6Q6NM$A2N6$>6?B$<4A6$,-$?4-$20$!-A>61S$"4Q/>5$1N4<6@$1L6$

L4<=6N)B$OL2>6$>RA,6NM$1L6-$<2AO4N6@$L/B$>4A6$12$1L41$2>$1L6$+6NA4>$D416P$4<<2R>1BS
"AAAS$!L6-)N6$@2/>5$1L6/N$L2A6?2N=h$



*66AB$1L41$1L6$L4<=6N$RB6@$1LN66$@/006N6>1$/@6>1/0/6NB$?L6>$L6$A4>/OR.416@$1L6$
D416P$>61?2N=S$!L6$0/NB1$/@6>1/0/6N$,6.2>56@$12$1L6$L4<=6NS$*4A6$>4A6M$B4A6$
4@@N6BBS$!L6$B6<2>@$2>6$,6.2>56@$12$4>21L6N$O6NB2>S$;>@$1L6$1L/N@$S$S$S$?6..M$/1$
,6.2>56@$12$4$<2AO4>-S$;$BA4..$<2AO4>-$/>$"4>>2Q6N$1L41$BO6</4./T6@$/>$<2AOR16NBS$

C6N6$1L6B6$/@6>1/0/6NB$B12.6>K$I1)B$4B$64B-$12$B164.$4$>61?2N=$RB6N$/@6>1/0/6N$
4B$/1$/B$12$B164.$4$16.6OL2>6$<N6@/1$<4N@$>RA,6N[eRB1$?41<L$2Q6N$B2A62>6)B$
BL2R.@6N$4B$BL6$A4=6B$4$<4..S$36NL4OB$1L6$L4<=6N$L4B$N/OO6@$200$B6Q6N4.$O62O.6)B$
D416P$>61?2N=$4<<2R>1$>RA,6NBS$I0$1L6-$?2N=6@$02N$,/5$AR.1/>41/2>4.$0/NABM$1L6-$
A/5L1$>6Q6N$>21/<6S$

(N$?4B$1L/B$5R-$/>$<2..RB/2>$?/1L$B2A62>6$6.B6K$
I)@$ON611-$AR<L$<2>Q/><6@$A-B6.0$1L41$L6$?4B$4<1/>5$4.2>6S$I0$4$<2RO.6$O62O.6$

?6N6$?2N=/>5$12561L6NM$1L6-)@$L4Q6$12$<2>B14>1.-$6P<L4>56$O4BB?2N@BS$H2N62Q6NM$1L6$
L4<=6N$L4@$4$B/>5.6$O6NB2>4./1-[O41/6>1M$A61L2@/<4.M$4>$4.A2B1$A6<L4>/<4.$
@/./56><6S$*2A62>6$6.B6$?2R.@>)1$L4Q6$ZR/16$1L6$B4A6$B1-.6$?L6>$ON2?./>5$4N2R>@$1L6$
H/.>61S$

;$06?$20$L/B$14N561B$?6N6>)1$B.66O/>5S$!L6$@4-$4016N$L6$1N/6@$12$ON-$1L6/N$
@22NB$2O6>M$1?2$20$1L6A$<4..6@$A6S$+N4>1$'6NNM$20$1L6$"/..$;/N$V2N<6$Y4B6$/>$&14LM$
OL2>6@S$"6$?4B$4>>2-6@$1L41$2>6$20$A-$RB6NBM$*Q6>16=M$L4@$1N/6@$12$,N64=$/>12$L/B$
<2AOR16N$2Q6N$1L6$O4B1$?66=6>@S$;>@$%LN/B$H<D2>4.@$20$CL/16$*4>@B$H/BB/.6$F4>56$
N6O2N16@$1L6$B4A6S$

*RO6Nh$*2A6$20$2RN$A/./14N-$,4B6B$=66O$1L6/N$6-6B$2O6>S$!L/N1-U>/>6$/>$02N1-$
4N6$4B.66OS$YR1$1L6N6$4N6$4$06?$B-B16A$A4>456NB$?L2$Q/5/.4>1.-$4>4.-T6$1L6/N$4R@/1$
1N4/.BS$

V2N$1L6$>6P1$06?$@4-BM$1L6$L4<=6N$=6O1$A6$L2OO/>5S$"6$=6O1$B<4>>/>5$A-$*DIG#!$
0/.6BM$B2$6Q6N-$06?$L2RNBM$I)@$4@@$4$<2RO.6$A2N6S$I$?4>16@$1L6$0/.6B$12$N60.6<1$4>$
4<1/Q6$200/<6[4$,4<=.25$20$?2N=$4>@$4$,RB-M$<L411-$B6<N614N-$?L2$@/@>)1$ZR/16$=>2?$
L2?$L6N$<2AOR16N$?2N=6@S$3N611-$B22>M$I$?4B$?4B1/>5$4>$L2RN$4$@4-$56>6N41/>5$1L/B$
0./A0.4AM$eRB1$066@/>5$1L6$L4<=6NS$

b6=6$"4>B2>$20$1L6$G41/2>4.$%2AOR16N$*6<RN/1-$%6>16N$L6.O6@$?/1L$1L6B6$,25RB$
0/.6BS$I$=>6?$>21L/>5$4,2R1$A/./14N-$N4>=BM$B2$L6$54Q6$A6$4$06?$L/>1BS$

d!L6$A/./14N-)B$eRB1$./=6$4>-$21L6N$L/6N4N<L-S$&O$41$1L6$12OM$1L6N6)B$1L6$0.45$
200/<6NBS$+6>6N4.BS$Y6.2?$1L6A$4N6$<2.2>6.BM$6P<6O1$/>$1L6$G4Q-M$?L6N6$1L6N6)B$
<4O14/>BS$!L6>$1L6N6)B$./6R16>4>1$<2.2>6.BM$1L6>$A4e2NB$4>@$<4O14/>B$S$S$Sd$

!L/>5B$4N6$64B/6N$/>$5N4@$B<L22.S$XRB1$<4..$6Q6N-2>6$?/1L$4$1/6$d3N206BB2NMd$
4>@$4>-2>6$?/1L$4$,64N@$dD64>Sd$CL6>$/>$@2R,1M$eRB1$B4-$dD2<12NSd$

C6..M$6Q6N-$<2RO.6$@4-B$1L6$L4<=6N$?2R.@$.25$/>12$A-$B-B16A$4>@$N64@$1L6$*DIG#!$
0/.6BS$I0$L6$L4@$4>-$@2R,1B$4,2R1$1L6$Q4./@/1-$20$1L/B$/>02NA41/2>M$L6$>6Q6N$BL2?6@$
/1S$I>$04<1M$L6$B22>$,654>$1N-/>5$12$.25$/>12$A/./14N-$<2AOR16NB$RB/>5$1L6$4<<2R>1$
*DIG#!S$

CL-$>21K$*2A6$20$1L6B6$6NB41T$0/.6B$@6B<N/,6@$>61?2N=$./>=B$/>12$H/.>61$
<2AOR16NBS$I$A4@6$BRN6$1L6-$?6N6$<N4AA6@$?/1L$.21B$20$e4N52>$4>@$16<L>2,4,,.6S$

*1/..M$066@/>5$1L6$L4<=6N$,4/1$?4B>)1$.64@/>5$RB$12$4>$4NN6B1S$#Q6N-$1/A6$L6$
4OO64N6@M$?6$1N4<6@$L/A$4..$N/5L1M$,R1$I$=6O1$?4/1/>5$02N$4$OL2>6$<4..$B4-/>5M$
d"6)B$41$1L6$O2./<6$B141/2>$>2?Sd$

G2?$1L41$1L6$+6NA4>B$L4@$4$BRBO6<1$/>$A/>@M$H/=6$+/,,2>B$A61$?/1L$1L6$&S*S$
4112N>6-$/>$c/N5/>/4S$!L6$VYI)B$>6?B$?4B$A/P6@\$/0$4$+6NA4>$</1/T6>$/B$/>Q2.Q6@M$
6P1N4@/1/2>$/B$R>./=6.-M$R>.6BB$1L6N6)B$R>@6N.-/>5$6BO/2>456S$

Y-$1L6$6>@$20$1L6$?66=M$1L6$L4<=6N$L4@$N61RN>6@$02N$0/Q6$A2N6$B6BB/2>BM$64<L$4>$
L2RN$2N$A2N6S$"6$<L6<=6@$/>12$1L6$G4Q-$4>@$;NA-$<2AOR16NBM$A4=/>5$BRN6$1L41$1L6-$



B1/..$.61$L/A$/>S$I$?2>@6N6@$?L-$1L6-$L4@>)1$<.2B6@$1L6/N$L2.6B$-61S$!L6>$L6$
O.4-6@$4N2R>@$2RN$.4,2N412N-$<2AOR16NM$454/>$<L6<=/>5$2Q6N$1L6$*DIG#!$0/.6BS$

36NL4OB$L6$?2NN/6@$1L41$?6$=>6?$L6)@$B12.6>$*Q6>16=)B$4<<2R>1M$02N$L6$02R>@$-61$
4>21L6N$R>RB6@$4<<2R>1$41$2RN$.4,M$<L4>56@$/1B$O4BB?2N@M$4>@$,654>$RB/>5$/1$02N$L/B$
L4<=/>5S$

C/1L$4..$1L6$L/5LUO2?6N6@$<2AOR16N$02.=B$/>$A-$@6O4N1A6>1M$I$?2NN/6@$1L41$2>6$
20$1L6A$?2R.@$O2B1$4$>21/<6$12$4>$6.6<1N2>/<$,R..61/>$,24N@M$2N$<4BR4..-$.64=$1L6$
B12N-$/>$4$<2>Q6NB41/2>S$!L6$L4<=6N$B1/..$B64N<L6@$2RN$B-B16A$02N$?2N@B$./=6$
dB6<RN/1-d$4>@$dL4<=6NMd$B2$L6)@$B1RA,.6$2>12$1L/B$>6?B$4>@$2RN$,/N@$?2R.@$0.-$1L6$
<22OS$

!L6$+6NA4>B$L4@$ON2A/B6@$4$,RB1$1L/B$?66=6>@S$!L6$L4<=6N$L4@$?L41$I$L2O6@$?4B$
L/B$.4B1$0./>5$2>$!LRNB@4-M$X4>R4N-$88M$?L6>$L6$,N2=6$/>12$4$<2AOR16N$41$Y2.1M$
Y6N4>4=M$4>@$G6?A4>M$/>$%4A,N/@56M$H4BB4<LRB611BS$!L/B$<2AOR16NM$<4..6@$1L6$
YR116N0.-UQ4PM$?4B$4B$R>ON216<16@$4B$1L6$N6B1\$-2R$eRB1$.2556@$/>$4B$d5R6B1Md$?/1L$
>2$O4BB?2N@S$

I)@$L64N@$20$YYG[1L6-$L4@$,R/.1$1L6$H/.>61S$I>$04<1M$A2B1$20$1L6$H/.>61$?2R.@$
B22>$,6$<2>1N2..6@$,-$1L6/N$YR116N0.-$<2AOR16NBS$!L6$L4<=6N$L4@$02R>@$4$
O4N1/<R.4N.-$B6>B/1/Q6$<2AOR16N[/0$L6$O.4>16@$1L6$N/5L1$=/>@$20$!N2e4>$L2NB6$/>$
1L/B$<2AOR16NM$L6$A/5L1$B164.$4..$1L6$O4BB?2N@B$1L41$6Q6N$<N2BB6@$1L6$H/.>61S$V2N$
1L/B$?4B$?L6N6$YYG$@6Q6.2O6@$1L6/N$>61?2N=$B201?4N6S$

*164./>5$O4BB?2N@B$41$J4?N6><6$Y6N=6.6-$J4,B$2>.-$5/Q6B$-2R$4<<6BB$12$>64N,-$
<2AOR16NBS$!L6$O.4<6$12$,22,-U1N4O$B201?4N6$/B$?L6N6$/1)B$@/B1N/,R16@S$*./O$4$.25/<$
,2A,$/>12$1L6$@6Q6.2OA6>1$B201?4N6W$/1)..$,6$<2O/6@$4.2>5$?/1L$1L6$Q4./@$ON25N4AB$
4>@$BL/OO6@$12$1L6$N6B1$20$1L6$<2R>1N-S$;$-64N$.416NM$-2RN$1N64<L6N2RB$<2@6$?/..$
/>06B1$LR>@N6@B$20$<2AOR16NBS$

!L6$L4<=6N$R>@6NB122@$1L/BM$,R1$ON2,4,.-$@/@>)1$N64./T6$1L41$L6)@$B1RA,.6@$/>12$
BR<L$4$@6Q6.2OA6>1$B-B16AS$"6$B64N<L6@$1L6$B-B16A$4>@$02R>@$2>6$5.4N/>5$B6<RN/1-$
L2.6\$1L6$N221$4<<2R>1$>66@6@$>2$O4BB?2N@S$;>-2>6$<2R.@$.25$/>$4B$B-B16A$A4>456N$
?/1L2R1$B2$AR<L$4B$4$<L4..6>56S$CL24h$

*2A62>6$?4B$BRN6$12$@/B<2Q6N$BR<L$4>$2,Q/2RB$L2.6M$B2$L6$?4B16@$>2$1/A6$/>$
6PO.2/1/>5$/1S$"6$,6<4A6$B-B16A$A4>456N$4>@$<N6416@$4$>6?M$ON/Q/.656@$4<<2R>1S$#Q6>$
/0$1L6$2N/5/>4.$0.4?$?4B$@/B<2Q6N6@M$L6)@$4@@6@$4$>6?$,4<=@22N$/>12$YYG)B$<2AOR16NS

"6$<N6416@$4>$4<<2R>1$R>@6N$1L6$>4A6$J4>5A4>M$?/1L$4$O4BB?2N@$20$dY,>L4<=Sd$I$
R>@6NB122@$1L6$O4BB?2N@M$4..$N/5L1M$,R1$?L-$J4>5A4>K$%2R.@$1L41$,6$L/B$N64.$>4A6K$
!L6$+6NA4>$YR>@6BO2B1$?2>)1$16..$A6M$,R1$A4-,6$1L6$L4<=6N$L/AB6.0$@/@S$CL41)B$1L6$
A64>/>5$20$1L6$>4A6$J4>5A4>K$

G2$1/A6$12$?2NN-$4,2R1$/1$>2?S$!L6$L4<=6N$02R>@$4$.6116N$2>$1L6$YYG$<2AOR16NM$
B4-/>5M$d"/M$D/<=h$E2R$<4>$RB6$A-$4<<2R>1$41$1L6$&>/Q6NB/1-$20$F2<L6B16NS$J25$/>$4B$
!L2A4BM$?/1L$1L6$O4BB?2N@$)1N-16@e)$SSSd$

I1$@/@>)1$14=6$L/A$0/0166>$B6<2>@B$12$N64<L$/>12$1L6$F2<L6B16N$<2AOR16NS$"6$
1L6>$BO6>1$4>$L2RN$N64@/>5$/>02NA41/2>$4,2R1$/>165N416@$</N<R/1$@6B/5>BS$
;OO4N6>1.-M$4$5N4@R416$B1R@6>1$41$F2<L6B16N$@6B/5>6@$BR,UA/<N2>$</N<R/1BM$RB/>5$4>$
4@Q4><6@$<2AOR16NU<2>1N2..6@$16<L>/ZR6S$!L6$L4<=6N$B14N16@$12$5N4,$6Q6N-1L/>5M$
/><.R@/>5$1L6$ON25N4ABS$

I$?2R.@>)1$.61$L/A\$1L/B$?2R.@$,6$/>@RB1N/4.$6BO/2>456S$#Q6N-$1/A6$L6$B14N16@$
12$<2O-$B2A6$/>16N6B1/>5$0/.6BM$I$e/>5.6@$A-$=6-B$2>$1L6$?/N6BS$"6$<2R.@$.22=M$,R1$
L6)@$,6116N$>21$12R<LS$V/>4..-M$41$9\a`M$L6$54Q6$ROS$

H64>?L/.6M$I$?2>@6N6@$4,2R1$1L6$?2N@$J4>5A4>S$C4B$/1$B2A62>6)B$>4A6K$
;4L[1L6N6)B$4$?4-$12$0/>@$2R1S$J22=$/1$RO$/>$1L6$OL2>6$,22=S$H455/6$H2N.6-M$



2RN$./,N4N/4>M$<2R.@>)1$0/>@$4$"4>>2Q6N$16.6OL2>6$@/N6<12N-M$B2$BL6$2N@6N6@$
2>6S$;$?66=$.416NM$?/1L$BR/14,.6$4O.2A,M$H455/6$@6./Q6N6@$1L6$D6R1B<L6>$YR>@6BO2B1$
!6.602>,R<LM$/BBR6$>RA,6N$B6Q6>166>M$<2Q6N/>5$(N1B>61T$4>@$"4>>2Q6NM$?/1L$4$NR,,6N$
B14AO$2>$1L6$B/@6M$dVR>=U!4P/M$ag77Sd$

H-$41.4B$ON6B6>16@$4$@N-M$5625N4OL/<$"4>>2Q6NS$;>@$1L6$12RN/B1$5R/@6B$BO2=6$20$
4$L/B12N/<M$B<6>/<$</1-M$>6B1.6@$4.2>5$1L6$N/Q6N$J6/>6S$YR1$1L6$OL2>6$,22=M$?6..M$
L6N6)B$1L6$</1-\$1L6$2O1/</4>BM$1L6$04,N/<$B12N6BM$4$06?$@2T6>$4R12L4RB6BM$6Q6>$4$
O6N0RA6N/6S$;>@$O62O.6$SSS$I$BO6>1$4>$L2RN$eRB1$O45/>5$1LN2R5L$1L6$?L/16$O456BM$
/A45/>/>5$4$?L2.6$@/006N6>1$?2N.@S$!L6N6$?6N6$./B1/>5B$02N$J4>5M$J4>5L4N@1M$
J4>5L6/AM$4>@$J4>5L6/>6<=6M$,R1$>21$2>6$J4>5A4>S$YRA$B166NS$

*16Q6$CL/16$N6.4-6@$4$A6BB456$0N2A$+6NA4>-S$!L6$+6NA4>B$L4@$,66>$@2/>5$1L6/N$
L2A6?2N=S$;OO4N6>1.-M$?L6>$1L6$L4<=6N$<4..6@$4$OL2>6M$1L6$+6NA4>$O2./<6$L4@$ON/>16@$
2R1$1L41$OL2>6$>RA,6NS$#Q6>1R4..-M$1L6-$0/5RN6@$2R1$?L2$?4B$/>Q2.Q6@M$eRB1$,-$
O/6</>5$12561L6N$1L6$?6,$20$OL2>6$<4..B$<6>16N6@$2>$1L6$L4<=6NS$

C6N6$1L6$+6NA4>$4R1L2N/1/6B$O.4>>/>5$4$B/AR.14>62RB$,RB1K$!-A>61$O4BB6@$4.2>5$4$
<L/../>5$A6BB456\$d!L/B$/B$>21$4$,6>/5>$L4<=6NS$I1$/B$ZR/16$B6N/2RBS$!L6$B<2O6$20$
1L6$/>Q6B1/541/2>$/B$,6/>5$6P16>@6@S$!L/N1-$O62O.6$4N6$>2?$?2N=/>5$2>$1L/B$<4B6S$
I>B164@$20$B/AO.-$,N64=/>5$/>12$1L6$4O4N1A6>1B$20$2>6$2N$1?2$O62O.6M$.2<=BA/1LB$4N6$
A4=/>5$=6-B$12$1L6$L2RB6B$20$1L6$L4<=6NBM$4>@$1L6$4NN6B1B$?/..$,6$A4@6$?L6>$1L6$
L4<=6NB$<4>>21$@6B1N2-$1L6$6Q/@6><6Sd$



:9$

IV$E(&$3#*!#F$;G$(F+;GIb;!I(G$J(G+$#G(&+"M$#c#G!&;JJE$!"#E)JJ$"(JD$;$H##!IG+S$
;016N$4..$A-$<4..B$12$1L6$VYIM$G*;M$%I;M$4>@$D(#M$/1$?4B$1L6$;/N$V2N<6$(00/<6$20$
*O6</4.$I>Q6B1/541/2>B$1L41$54Q6$/>$0/NB1S$(>$V6,NR4N-$:M$1L6-$/>Q/16@$6Q6N-2>6$12$
Y2../>5$;/N$V2N<6$Y4B6M$/>$L2O6B$20$N6B2.Q/>5$1L6$ON2,.6AS$

*R,RN,4>$C4BL/>512>)B$?2N.@$/B$A64BRN6@$,-$O2B/1/2>$2>$1L6$,6.1?4-S$Y2../>5$;/N$
V2N<6$Y4B6$/B$B2A6?L6N6$4N2R>@$0/Q6$2)<.2<=M$B2N1$20$B2R1L$,-$B2R1L64B1S$#Q6>$?/1L$
BR<L$6PO./</1$@/N6<1/2>BM$I$521$N2-4..-$.2B1\$,/<-<./>5$4.2>5$Y6N=6.6-$B/@6$B1N661B$
/B>)1$ZR/16$1L6$B4A6$4B$@N/Q/>5$4$<4N$4N2R>@$4$D%$L/5L?4-S$

;1$77\a`M$1LN66$D6O4N1A6>1$20$#>6N5-$O62O.6$A61$A6$41$4$N6B14RN4>1$>64N$1L6$;/N$
V2N<6$,4B6S$(Q6N$B2A6$12N16../>/M$?6$14.=6@$4,2R1$D(#)B$<2AOR16N$B6<RN/1-$O2./</6BS$
!L6-$?2NN-$4,2R1$412A/<$,2A,$B6<N61BS$YR1$1L6-)N6$4.B2$O4/>0R..-$4?4N6$1L41$
B6<RN/1-$561B$/>$1L6$?4-$20$2O6N41/2>BS$"/5LUB6<RN/1-$<2AOR16NB$4N6$@/00/<R.1$12$
561$2>12M$4>@$R>0N/6>@.-$12$RB6S$(O6>M$0N/6>@.-$B-B16AB$4N6$RBR4..-$/>B6<RN6S$

!L6>$?6$?6>1$12$Y2../>5S$I1$?4B$1L6$0/NB1$1/A6$I)@$6Q6N$?4.=6@$2>$4$A/./14N-$
,4B6S$!L6$A2Q/6B$4N6$4<<RN416\$O62O.6$B4.R16$200/<6NBM$4>@$B2A6$O22N$5R-$41$1L6$
5R4N@L2RB6$BO6>@B$L/B$@4-$B4.R1/>5$6Q6N-$<4N$1L41$<2A6B$1LN2R5LS$G2,2@-$B4.R16@$A6M$
20$<2RNB6[?/1L$.2>5$L4/NM$e64>BM$4>@$4$,641URO$e4<=61M$4$H4N1/4>$?2R.@$L4Q6$,66>$
.6BB$<2>BO/<R2RBS$

;,2R1$1?6>1-$O62O.6$BL2?6@$ROM$0N2A$4..$1L6$1LN66U.6116N$456></6BS$;1$.4B1$I$
<2R.@$L22=$Q2/<6B$0N2A$1L6$16.6OL2>6$12$O62O.6)B$04<6BS$H/=6$+/,,2>B$4<1R4..-$@/@$
.22=$./=6$4>$VYI$456>1[1L/N1-$-64NB$2.@$2N$B2M$>641.-$ON6BB6@$BR/1M$ARB14<L6M$4>@$
ON2,4,.-$./016@$?6/5L1B$/>$L/B$BO4N6$1/A6S$C6$14.=6@$4,2R1$A/<N2<2AOR16NB$02N$4$
?L/.6[L6$=>6?$1L6$;14N/$2O6N41/>5$B-B16A$/>B/@6$4>@$2R1S$X/A$%LN/B1-M$1L6$;/N$
V2N<6$<2AOR16N$<N/A6$/>Q6B1/5412NM$?4B$14..M$.4>=-M$4>@$6PR@6@$<2>0/@6><6S$;>@$
1L6N6$?4B$!66e4-M$B/11/>5$2Q6N$/>$1L6$<2N>6N$20$1L6$N22AM$B/.6>1$4B$6Q6NS$

Y4NN6.U<L6B16@$4>@$BA/./>5M$b6=6$"4>B2>$20$1L6$G*;$5N6616@$A6$?/1L$4$B.4O$2>$
1L6$,4<=S$"6$=>6?$L/B$?4-$4N2R>@$,21L$<2AOR16NB$4>@$,RN64R<N4</6BS$(<<4B/2>4..-M$L6$
?L/BO6N6@$/>16NON6141/2>B$./=6M$d!L41$5R-)B$/AO2N14>1$12$-2RN$<4RB6d$2N$d*L6)B$eRB1$
BO2R1/>5$1L6$O4N1-$./>6Sd$I$06.1$R><2A02N14,.6$4A2>5$4..$1L6$BR/1BM$,R1$?/1L$b6=6)B$
6><2RN456A6>1$I$A4>456@$12$B14>@$RO$4>@$14.=$12$1L6$541L6N/>5S$

I$,4,,.6@$02N$4$?L/.6M$@6B<N/,/>5$1L6$>61?2N=$<2>>6<1/2>B$4>@$?64=$BO21BM$4>@$
1L6>$1L6$21L6NB$@/B<RBB6@$>41/2>4.$O2./<-$2>$<2AOR16N$B6<RN/1-S$*66AB$1L41$1L6N6$
?4B>)1$4>-S$

!LN2R5L$1L6$?L2.6$A661/>5M$O62O.6$=6O1$4B=/>5M$dCL2)B$/>$<L4N56Kd$I$.22=6@$2Q6N$
41$1L6$<2>1/>56>1$0N2A$1L6$VYIS$H/=6$+/,,2>BM$1L6$456>1$L4>@./>5$1L/B$<4B6M$
BZR/NA6@$/>$L/B$<L4/NS$*/11/>5$>6P1$12$H/=6M$+62N56$J4>6$20$1L6$VYI$L4>@.6@$1L6$
ZR6B1/2>BS$d*/><6$?6$<4>)1$6P1N4@/16$1L6$5R-M$1L6$VYI$/B>)1$52/>5$12$@6Q216$A4>-$
N6B2RN<6B$12$1L/B$<4B6S$C6)Q6$4.N64@-$@2>6$4..$?6$<4>Sd$

!L6$D(#$O62O.6$@/@>)1$.61$1L/B$B./@6S$dC6)Q6$,66>$,655/>5$-2R$12$<4..$1L6$
+6NA4>BS$!L6-)N6$,655/>5$-2R$12$<2>14<1$1L6AS$YR1$Y2>>$B1/..$L4B>)1$B66>$-2RN$
?4NN4>1Sd$

d&LM$?6)Q6$L4@$4$06?$ON2,.6AB$/>$2RN$J654.$200/<6M$,R1$1L41$@26B>)1$<2><6N>$RB$
L6N6Md$J4>6$B4/@S$d!L6$,2112A$./>6$/B$1L41$1L6N6)B$,66>$>2$@4A456$@2>6$,-$1L/B$
L4<=6NSd$

FRBB$HR>@-M$4$?/N-$<2.2>6.$0N2A$1L6$D606>B6$%2AAR>/<41/2>$;56><-M$<2R.@$14=6$/1$



>2$.2>56NS$dG2$@4A456h$!L/B$5R-$,N64=B$/>12$1?2$@2T6>$A/./14N-$<2AOR16NB$4>@$
/1)B$>2$@4A456K$"6)B$B164./>5$<2AOR16N$1/A6$4>@$>61?2N=$<2>>6<1/2>BS$G21$12$A6>1/2>$
ON25N4ABM$@414M$4>@$O4BB?2N@BS$"2?$.2>5$@2$?6$L4Q6$12$?4/1$,602N6$L6$561B$/>12$
B2A61L/>5$N64..-$B6N/2RBKd$

dYR1$>2$<.4BB/0/6@$@414$L4B$,66>$<2AON2A/B6@Md$1L6$VYI$456>1$B4/@S$d;>@$L2?$
AR<L$A2>6-$L4B$,66>$.2B1[^9$<6>1B$20$<2AOR16N$1/A6$/>$Y6N=6.6-Kd$

I$./B16>6@$4B$1L6$<2.2>6.$1N/6@$4$@/006N6>1$4OON24<LS$dC6$N6.-$2>$2RN$>61?2N=B$
02N$<2AAR>/<41/2>BS$G21$eRB1$A/./14N-$O62O.6M$,R1$6>5/>66NBM$B1R@6>1BM$B6<N614N/6BM$
L6..M$6Q6>$4B1N2>2A6NBMd$L6$B4/@M$56B1RN/>5$12?4N@B$A6S$d!L/B$,4B14N@$/B$
R>@6NA/>/>5$1L6$1NRB1$1L41$L2.@B$2RN$<2AAR>/1-$12561L6NSd$

!L6$VYI$B4?$1L6$L4<=6N$4B$4$A/>2N$4>>2-4><6W$O6NL4OB$eRB1$B2A6$=/@$A6BB/>5$
4N2R>@$4016N$B<L22.S$!L6$A/./14N-$O62O.6$122=$/1$4B$4$B6N/2RB$4114<=$2>$1L6/N$
<2AAR>/<41/2>B$./>6BS$

!L6$D6O4N1A6>1$20$XRB1/<6$,4<=6@$RO$1L6$VYIS$d+6NA4>-$?2>)1$6P1N4@/16$4$+6NA4>$
</1/T6>M$B2$?L-$,21L6NK$;>@$4>-?4-M$1L6$VYI$561B$4$LR>@N6@$N6O2N1B$./=6$1L/B$6Q6N-$
-64NM$4>@$?6$<4>$ON2B6<R16$2>.-$2>6$2N$1?2Sd$

"6$?6>1$2>$12$B4-$1L41$?6$4.N64@-$L4@$6>2R5L$6Q/@6><6$12$<2>Q/<1$1L6$L4<=6N\$A-$
.25,22=$4>@$ON/>12R1B$?2R.@$B14>@$RO$41$4$1N/4.S$;>@$4<<2N@/>5$12$&S*S$.4?M$?6$
@/@>)1$L4Q6$12$<41<L$1L6$L4<=6N$0.45N4>16$@6./<12\$,RB1/>5$/>$2>$L/A$?L/.6$L6$?4B$
<2>>6<16@$12$4$02N6/5>$<2AOR16NS$d*2$-2R$N64..-$2R5L1$12$<.2B6$RO$BL2OS$E2R)N6$>21$
B1N6>51L6>/>5$-2RN$<4B6M$4>@$?6$4.N64@-$L4Q6$6>2R5L$6Q/@6><6$12$,N/>5$L/A$12$
1N/4.Sd$

I>$1L6$6>@M$1L6$;/N$V2N<6$(*I$4B=6@$64<L$5N2RO$02N$@/N6<1/2>S$!L6$VYI$4>@$
D6O4N1A6>1$20$XRB1/<6$?4>16@$RB$12$<.2B6$RO$BL2O$4>@$.2<=$1L6$L4<=6N$2R1$20$2RN$
Y6N=6.6-$<2AOR16NS$G6/1L6N$!66e4-$20$1L6$%I;$>2N$b6=6$20$G*;)B$G41/2>4.$%2AOR16N$
*6<RN/1-$%6>16N$06.1$1L6N6$?4B$4>-1L/>5$12$54/>$,-$B14-/>5$2O6>S$

J62>$YN64R.1$20$1L6$D6O4N1A6>1$20$#>6N5-$B122@$ROS$dC6)Q6$521$12$BROO2N1$1L6$
5R-B$/>$1L6$1N6><L6B$4>@$<41<L$1L/B$5R-S$I0$1L6$VYI$?2>)1M$1L6>$?6$?/..Md$L6$B4/@M$
5.4N/>5$41$1L6$D6O4N1A6>1$20$XRB1/<6$4112N>6-S$

!L6$O62O.6$,6/>5$L/1$,-$1L6$L4<=6N$?4>16@$12$=66O$1L6$A2>/12N/>5$52/>5S$%.2B/>5$
2RN$A2>/12N/>5$B141/2>$eRB1$A64>1$1L41$1L6$L4<=6N$?2R.@$ON2?.$4N2R>@$RB/>5$4$
@/006N6>1M$R>2,B6NQ6@$O41L?4-S$

YR1$?L2$BL2R.@$?6$1RN>$12$02N$L6.OK$!L6$VYI$@/@>)1$?4>1$12$12R<L$1L6$<4B6S$!L6$
A/./14N-$5N2ROB$L4@$>2$4R1L2N/1-$12$/BBR6$?4NN4>1BS$

CL6N6$?4B$4$<.64N/>5L2RB6$02N$N6O2N1/>5$ON2,.6ABK$!L/B$L4<=6N$L4@$BL2?>$RB$
B6Q6N4.$>2Q6.$<2AOR16N$B6<RN/1-$ON2,.6ABS$CL2$BL2R.@$?6$N6O2N1$1L6A$12K$

CL-M$12$1L6$G41/2>4.$%2AOR16N$*6<RN/1-$%6>16NM$20$<2RNB6S$YR1$b6=6$12.@$A6$
21L6N?/B6\$dC6$B61$B14>@4N@B$02N$B6<RN6$<2AOR16NBM$4>@$B14-$4?4-$0N2A$2O6N41/2>4.$
ON2,.6ABS$;..$1L6$B4A6M$?6)N6$4.?4-B$?/../>5$12$<2..6<1$N6O2N1B$0N2A$1L6$0/6.@Sd$

dE64LM$,R1$?/..$-2R$?4N>$A6$4,2R1$21L6N)B$ON2,.6ABKd$I$4B=6@S$dC/..$-2R$B6>@$A6$
4$N6O2N1$@6B<N/,/>5$B6<RN/1-$L2.6B$/>$A-$<2AOR16NK$%4>$-2R$<4..$A6$2>$1L6$OL2>6$/0$
B2A62>6)B$1N-/>5$12$,N64=$/>12$A-$<2AOR16NKd$

dG2M$?6)N6$4>$/>02NA41/2>$<2..6<1/2>$O2/>1Sd$XRB1$?L41$I)@$6PO6<1$0N2A$4>$
2N54>/T41/2>$NR>$,-$G*;S$!L6$5/4>1$Q4<RRA$<.64>6N$1L41$BR<=B$/>$/>02NA41/2>M$-61$
>6Q6N$B4-B$4$1L/>5S$

*ROO2B6$I$0/>@$4$<2AOR16N$B6<RN/1-$ON2,.6AM$4>@$/1)B$?/@6BON64@S$36NL4OB$I$
BL2R.@$=66O$A-$A2R1L$BLR1M$4>@$L2O6$1L41$>2,2@-$6.B6$0/5RN6B$/1$2R1S$V41$<L4><6S$

(N$O6NL4OB$I$BL2R.@$16..$1L6$?2N.@S$32B1$4$>21/<6$12$.21B$20$6.6<1N2>/<$
,R..61/>$,24N@B$B4-/>5M$d"6-M$-2R$<4>$,N64=$/>12$4>-$&>/P$<2AOR16N$,-$S$S$Sd$!L41$



?2R.@$41$.64B1$?4=6$RO$1L6$02.=B$?L2$A4>456$1L6$B-B16ABS$H4-,6$6Q6>$ON2@$1L6A$
/>12$4<1/2>S$

(N$BL2R.@$I$<N6416$4$Q/NRBM$2>6$1L41$14=6B$4@Q4>1456$20$1L/B$B6<RN/1-$L2.6K$
I0$1L6N6$?6N6$4$1NRB16@$<.64N/>5L2RB6M$I$<2R.@$N6O2N1$12$1L6AS$!L6-M$/>$1RN>M$

<2R.@$0/5RN6$2R1$4$O41<L$02N$1L6$ON2,.6AM$4>@$B66$1L41$B-B16AB$4N6$0/P6@S$!L6$
G41/2>4.$%2AOR16N$*6<RN/1-$%6>16N$B66A6@$./=6$4$.25/<4.$O.4<6$02N$1L/BS$;016N$4..M$
1L6-$BO6</4./T6$/>$<2AOR16N$B6<RN/1-$ON2,.6ABS$

YR1$1L6-$@/@>)1$?4>1$12$12R<L$/1S$!L6$G%*%$?4B$122$,RB-$@6B/5>/>5$B6<RN6$
<2AOR16NBS$V2N$1L6$O4B1$06?$-64NBM$1L6-)@$OR,./BL6@$4>$R>N64@4,.6$B6N/6B$20$
@2<RA6>1B$@6B<N/,/>5$?L41$1L6-$A64>1$,-$4$B6<RN6$<2AOR16NS$I>$1L6$6>@M$12$ON2Q6$
1L41$4$<2AOR16N$?4B$B6<RN6M$1L6-)@$L/N6$4$<2RO.6$ON25N4AA6NB$12$1N-$12$,N64=$/>12$
1L6$B-B16AS$G21$4$Q6N-$N64BBRN/>5$ON220$20$B6<RN/1-S$"2?$A4>-$L2.6B$@/@$1L6$
ON25N4AA6NB$A/BBK$

!L6$A661/>5$41$Y2../>5$;/N$V2N<6$Y4B6$,N2=6$RO$?/1L$1L6$VYI$4>@$D6O4N1A6>1$20$
XRB1/<6$@64@$B61$454/>B1$2RN$<2>1/>R/>5$12$A2>/12N$1L6$L4<=6NS$!L6$%I;$4>@$G*;$
@/@>)1$B4-$AR<LM$4>@$1L6$A/./14N-$5N2ROB$4>@$1L6$D6O4N1A6>1$20$#>6N5-$?4>16@$RB$12$
B14-$2O6>S$*/><6$D(#$O4/@$2RN$,/..BM$?6)@$B14-$2O6>M$B2$.2>5$4B$4>$4NN6B1$B66A6@$
./=6.-S$

CL/.6$I$?4B$4N2R>@$C4BL/>512>M$b6=6$"4>B2>$/>Q/16@$A6$12$5/Q6$4$14.=$41$1L6$
G41/2>4.$%2AOR16N$*6<RN/1-$%6>16NS$I1)B$eRB1$@2?>$1L6$N24@$0N2A$V2N1$H64@6M$G*;)B$
L64@ZR4N16NBW$6Q6>$B2M$I$521$.2B1$1N-/>5$12$0/>@$1L6$O.4<6S$!L6N6M$R>@6N$1L6$
6PL4RB1$20$Y4.1/A2N6$;/NO2N1M$4$5R4N@$/>BO6<16@$A-$,4<=O4<=$02N$0.2OO-$@/B=BM$14O6$
N6<2N@6NBM$4>@$Q/6?5N4OLBS$

d"6-M$?L41$<4>$I$B164.$2>$4$Q/6?5N4OLKd$
!L6$5R4N@$B<2?.6@S$d!L6A)B$2RN$2N@6NBS$H4=6$1N2R,.6$4>@$-2R$?2>)1$O4BBSd$"6$L4@$

4$O/B12.$2>$L/B$B/@6S$('S$
E2R$6>16N$1L6$A661/>5$N22A$1LN2R5L$4$@22N$?/1L$4$<2A,/>41/2>$.2<=S$!?6>1-$

O62O.6$5N6616@$A6M$.64Q/>5$2>6$<L4/N$6AO1-M$RO$>64N$1L6$0N2>1$20$1L6$N22AS$!6>$
A/>R16B$/>12$A-$14.=M$4$1L/>M$,64N@6@$06..2?$?4>@6N6@$/>12$1L6$N22AM$B41$@2?>$/>$
0N2>1M$4>@$/>16NNRO16@$A-$@6B<N/O1/2>$20$!-A>61)B$1N4<6BS$

dCL41)B$1L6$4@/4,41/<$.4OB6$N416$2>$XRO/16NKd$
"RLK$I)A$14.=/>5$4,2R1$1N4>B41.4>1/<$>61?2N=BM$4>@$1L/B$5R-$4B=B$A6$4,2R1$1L6$

41A2BOL6N6$20$XRO/16NK$C6..M$L21$@25[I$<4>$L4>@.6$1L41S$
d(L$4,2R1$1?2$@65N66B$O6N$=/.2A616NM$41$.64B1$R>1/.$-2R$N64<L$1L6$1?2$LR>@N6@$

A/../,4N$.6Q6.Sd$Y-$<L4><6M$1L/B$5R-$L4@$4B=6@$A6$B2A61L/>5$B1N4/5L1$0N2A$A-$
@/BB6N141/2>S$

C6..M$I$<2>1/>R6@$A-$B12N-M$4>@$6Q6N-$16>$A/>R16B$1L6$,64N@6@$5R-$B122@$ROM$
.601$1L6$N22AM$4>@$N61RN>6@S$"6)@$4B=$ZR6B1/2>B$4,2R1$1L6$<2N6$20$1L6$A22>M$1L6$
<N416N/>5$L/B12N-$20$H4NBM$4>@$2N,/14.$N6B2>4><6B$4A2>5$1L6$A22>B$20$XRO/16NS$
C6/N@S$G2,2@-$6.B6$B66A6@$12$A/>@M$B2$I$@2Q614/.6@$A-$14.=$2>$1L6$L4<=6N$?/1L$
16<L>/<4.$N6BO2>B6B$12$1L/B$5R-)B$4B1N2>2A/<4.$/>16NN2541/2>S$

;,2R1$ZR4N16N$12$0/Q6M$I$0/>/BL6@$RO$4>@$?4B$?4.=/>5$2R1$20$1L6$N22A$i?/1L$4$
5R4N@$B14>@/>5$>64N,-jS$!L6$,64N@6@$5R-$OR..6@$A6$4B/@6$4>@$B4/@$12$1L6$5R4N@M$
dI1)B$('M$L6)B$?/1L$A6Sd$

dCL41$4N6$-2R$@2/>5$12>/5L1Kd$
d(LM$52/>5$2R1$12$@/>>6N$?/1L$4>$4B1N2>2A6N$0N/6>@Sd$
d%22.$/1S$!6..$L/A$-2R)..$,6$4$<2RO.6$L2RNB$.416Sd$
dCL-K$CL2$4N6$-2RKd$
dI)..$16..$-2R$.416NS$%4..$-2RN$0N/6>@$>2?Sd$



*2$I$<4><6.6@$A-$VN/@4-$6Q6>/>5$@/>>6N$4>@$?4B$LRB1.6@$/>12$1L/B$5R-)B$@4N=$
,.R6$c2.Q2S$CL41)B$L4OO6>/>5$L6N6K$I$@2>)1$6Q6>$=>2?$L/B$>4A6$4>@$I)A$1N4Q6./>5$
@2?>$1L6$N24@S$*2A6$B2N1$20$=/@>4OO/>5M$I$5R6BBS$

dI)A$Y2,$H2NN/BM$1L6$<L/60$B</6>1/B1$41$1L6$%2AOR16N$*6<RN/1-$%6>16NMd$L6$B4/@$
2><6$?6$?6N6$2>$1L6$L/5L?4-S$dC6)N6$52/>5$12$V2N1$H64@6M$?L6N6$-2R)..$A661$"4NN-$
D4>/6.BS$"6)B$1L6$4BB/B14>1$@/N6<12N$20$G*;S$!6..$L/A$-2RN$B12N-Sd$

dYR1$S$S$Sd$
dXRB1$16..$L/A$?L41$L4OO6>6@S$I$<4..6@$L/A$2R1$20$4$<2>5N6BB/2>4.$A661/>5$/>$

C4BL/>512>$12$A661$-2RS$"6)B$@N/Q/>5$RO$L6N6$N/5L1$>2?Sd$
dYR1$S$S$Sd$!L/B$5R-$?2R.@>)1$.61$A6$561$4$?2N@$/>S$
dJ22=M$1L6$41A2BOL6N6$20$XRO/16N$/B$0/>6[1L2R5L$I)@$1L2R5L1$4..$41A2BOL6N6B$

?6N6$4@/4,41/<$B2$.2>5$4B$1L6-$<2>Q6<16@[,R1$?6)Q6$521$4$B6N/2RB$ON2,.6A$2>$2RN$
L4>@BSd$Y2,$<L4/>UBA2=6@$4>@$=6O1$1L6$?/>@2?B$N2..6@$ROS$I$54BO6@$02N$,N641LS$"6$
?6>1$2>M$dC6)Q6$521$12$,N/>5$/1$12$1L6$4116>1/2>$20$O62O.6$?L2$<4>$@2$B2A61L/>5$
4,2R1$/1Sd$

dE6B16N@4-)B$A661/>5$41$Y2../>5$?4B$BROO2B6@$12$N6B2.Q6$1L41Sd$
dXRB1$16..$-2RN$B12N-Sd$
I0$B6<RN/1-$41$1L6$%2AOR16N$*6<RN/1-$%6>16N$?4B$12R5LM$2Q6N$41$G*;)B$

L64@ZR4N16NB[?6..M$/1$122=$16>$A/>R16B$12$<.64N$A6$1LN2R5LS$Y2,$L4@$>2$ON2,.6A\$
d!L/B$,4@56$.61B$A6$/>$4>-?L6N6M$B2$.2>5$4B$I)A$<4NN-/>5$4$<.4BB/0/6@$@2<RA6>1Sd$

"6$6>16N6@$4$O4BB?2N@$4>@$B./@$1L6$<4N@$1LN2R5L$1L6$,4@56$N64@6NW$A64>?L/.6$1L6$
5R4N@$0RA,.6@$?/1L$A-$Q/6?5N4OLBS$Y-$1L6$1/A6$?6$521$12$1L6$@/N6<12N)B$200/<6M$
"4NN-$D4>/6.B$L4@$eRB1$4NN/Q6@S$

d!L/B$L4@$,6116N$,6$/AO2N14>1Md$L6$B4/@M$5.4N/>5$41$Y2,S$!L/B$5R-$.22=6@$
/AON6BB/Q6[1L/>$4>@$4,2R1$B/PU0221UB/PM$L6$B122O6@$?L6>$?4.=/>5$1LN2R5L$@22NBS$

dI1$/BS$I$?2R.@>)1$L4Q6$<4..6@$-2R$21L6N?/B6Md$Y2,$B4/@S$d%./00M$16..$L/ASd$
!L6N6$?4B$>2$N22A$2>$L/B$14,.6[/1$?4B$<2Q6N6@$?/1L$<N-O125N4OL-$6ZR/OA6>1[B2$

I$BON64@$2R1$4$@/45N4A$20$1L6$L4<=6N)B$<2>>6<1/2>B$2>$1L6$0.22NS$
"4NN-$D4>/6.B$02..2?6@$1L6$<L4N1$A61/<R.2RB.-S$dD26B$L6$RB6$1L6$+6NA4>$D416PU3$

B-B16A$12$4<<6BB$1L6$/>16N>41/2>4.$N6<2N@$<4NN/6NBKd$
"2.-$BA2=6h$"2?$@26B$B2A62>6$1L/B$/AO2N14>1$=>2?$<2AAR>/<41/2>B$>61?2N=B$/>$

BR<L$@614/.K$I$?4B$/AON6BB6@S$I$@6B<N/,6@$1L6$L4<=6N)B$,N64=U/>BM$,R1$1L6$1?2$20$
1L6A$?2R.@>)1$.61$A6$BO64=$1?2$B6>16><6B$?/1L2R1$/>16NNRO1/>5$?/1L$4$ZR6B1/2>S$

Y2,$H2NN/B$>2@@6@$4>@$B4/@M$d"6N6)B$-2RN$BA2=/>5$5R>M$"4NN-Sd$
!L6$G*;$L2><L2$>2@@6@S$
!L6$1?2$20$1L6A$14.=6@$02N$4$06?$A/>R16BM$?L/.6$I$O.4-6@$?/1L$4$C2N.@$C4N$II$

X4O4>6B6$6><N-O1/2>$A4<L/>6S$I$?/BL6@$I)@$,N2R5L1$A-$%4O14/>$H/@>/5L1$*6<N61$
D6<2@6N$F/>5$12$BL2?$1L6AS$

d%./00M$1L/B$/B$/AO2N14>1Md$"4NN-$D4>/6.B$B4/@S$dI)A$>21$BRN6$?6$<4>$L6.O$-2RM$
,R1$-2R$<4>$BRN6$L6.O$RBS$C6)Q6$L4@$4$N64.$ON2,.6A$<2>Q/></>5$Q4N/2RB$6>1/1/6B$1L41$
<2AOR16N$B6<RN/1-$/B$4$ON2,.6AS$C6)@$./=6$-2R$12$14.=$12$1L6$G41/2>4.$
!6.6<2AAR>/<41/2>B$*6<RN/1-$%2AA/1166S$!L6-$A4=6$>41/2>4.$O2./<-M$4>@$?6)@$./=6$
1L6A$12$=>2?$4,2R1$1L/BSd$

d%4>)1$-2R$eRB1$16..$1L6AKd$
dC6)Q6$,66>$16../>5$1L6A$02N$-64NBMd$"4NN-$D4>/6.B$B4/@S$dYR1$1L/B$/B$1L6$0/NB1$

@2<RA6>16@$<4B6Sd$
Y2,$H2NN/B$<2>1/>R6@S$dH/>@$-2RM$L6$B4/@M$)D2<RA6>16@S)$!L6$2>.-$@/006N6><6$

,61?66>$-2RN$<4B6$4>@$21L6NB$/B$1L41$-2R)Q6$=6O1$4$.25,22=Sd$
d*2$1L/B$L4B$,66>$52/>5$2>$,602N6Kd$



dI$?2R.@>)1$L4Q6$<4..6@$"4NN-$RO$0N2A$C4BL/>512>$/0$I$@/@>)1$1L/>=$/1$?4B$
B6N/2RBSd$

DN/Q/>5$,4<=$0N2A$V2N1$H64@6M$Y2,$H2NN/B$/>1N2@R<6@$L/AB6.0S$dI)Q6$?2N=6@$2>$
&>/P$B6<RN/1-$02N$1L6$O4B1$16>$-64NBM$RO$41$Y6..$J4,B$/>$G6?$X6NB6-Sd$

C4/1$4$B6<2>@S$!L/B$ARB1$,6$1L6$H2NN/B$1L41$/>Q6>16@$1L6$&>/P$O4BB?2N@$
ON216<1/2>$B<L6A6S$I)@$N64@$O4O6NB$,-$L/A$4,2R1$B6<RN/>5$<2AOR16NBS$(0$<2RNB6[Y2,$
H2NN/BM$1L6$Q/2./>/B1S$"/B$6<<6>1N/</1-$?4B$.656>@4N-\$I)@$L64N@$B12N/6B$20$L/A$
641/>5$@6BB6N1$4>@$.-/>5$@2?>$B2$4$<41$<2R.@$./<=$1L6$?L/OO6@$<N64A$0N2A$L/B$,64N@S

Y2,$<2>1/>R6@S$dG6P1$A2>1L)B$A661/>5$?/..$,6$02N$O2./<-$A4=/>5S$I0$?6)N6$6Q6N$
52/>5$12$ON25N6BB$,6-2>@$?N/1/>5$B14>@4N@B$@2<RA6>1BM$?6)Q6$521$12$@6A2>B1N416$4$
@4>56N$12$1L6B6$O62O.6Sd$;1$.4B1[B2A62>6$41$G*;$?L2$N64./T6@$1L41$<2AOR16N$
B6<RN/1-$A64>1$A2N6$1L4>$@6B/5>/>5$<2AOR16NBS$d;>-$B-B16A$<4>$,6$/>B6<RN6S$;..$-2R$
L4Q6$12$@2$/B$B1RO/@.-$A4>456$/1Sd$

dC6..M$-6BM$1L41$4,2R1$BRAB$/1$ROMd$I$45N66@S$d*2A6$20$1L6$ON2,.6AB$4N6$56>R/>6$
@6B/5>$0.4?B[./=6$1L6$+>RU#A4<B$B6<RN/1-$L2.6[,R1$A2B1$20$1L6A$4N6$0N2A$O22N$
4@A/>/B1N41/2>S$!L6$O62O.6$NR>>/>5$2RN$<2AOR16NB$@2>)1$=>2?$L2?$12$B6<RN6$1L6ASd$

dC6)Q6$521$12$1RN>$1L/B$4N2R>@Md$Y2,$B4/@S$d*6<RN6$<2AOR16NB$A/5L1$=66O$1L6$,4@$
5R-B$2R1M$,R1$/0$1L6-)N6$B2$,4.=-$1L41$>2,2@-$?/..$RB6$)6AM$/1$?2>)1$,6$AR<L$
ON25N6BBSd$

!/5L16>/>5$2>6$<2AOR16N$?4B$./=6$B6<RN/>5$4>$4O4N1A6>1$L2RB6S$YR1$4$>61?2N=$20$
<2AOR16NBM$4..$BL4N/>5$0/.6B$4>@$/>16N<L4>5/>5$A4/.M$?6..M$1L/B$?4B$./=6$B6<RN/>5$4$
BA4..$</1-S$Y2,M$4B$<L/60$B</6>1/B1$20$1L6$%2AOR16N$*6<RN/1-$%6>16NM$@/N6<16@$1L41$
6002N1S$

Y-$1L6$1/A6$?6)@$N61RN>6@M$I)@$4.A2B1$5N2?>$4<<RB12A6@$12$N/@/>5$/>$4$BA2=6U
0/..6@$<4NS$C6$B14N16@$12$4N5R6$4,2R1$L2?$O.4>614N-$2N,/1B$/>16N4<1[4$BR,e6<1$1L41$
I$2R5L1$12$,6$4,.6$12$L2.@$A-$2?>$/>S$YR1$1L/B$5R-$=>6?$L/B$<6.6B1/4.$A6<L4>/<BS$
(R<LS$I)@$,66>$4?4-$0N2A$4B1N2>2A-$122$.2>5$/0$I$<2R.@>)1$,41$200$L/B$ZR6B1/2>BS$



:_$

I!$C;*$G#;!$!($!;J'$CI!"$Y(Y$H(FFI*S$*!IJJM$I$C;*$+J;D$!($%(H#$Y;%'$"(H#$!($
H4N1L4S$I$<4R5L1$1L6$,RB$L2A6$0N2A$1L6$4/NO2N1$4>@$e4-?4.=6@$4<N2BB$%2..656$
;Q6>R6[B1N/=/>5$4>21L6N$,.2?$02N$4>4N<L-S$H-$N22AA416M$%.4R@/4M$?4B$ON4<1/</>5$L6N$
Q/2./>$?L6>$I$?4.=6@$/>$1L6$@22NS$

%.4R@/4$5N6616@$A6$?/1L$4$164B/>5$BA/.6S$dCL6N6$L4Q6$-2R$,66>[NR>>/>5$4N2R>@$
?/1L$.22B6$?2A6>M$I$,61hd$

dG2O6S$H661/>5$@4N=M$L4>@B2A6$BO/6B$?/1L$1N6><L$<241BM$/>$@4N=$4..6-BSd$
dD/@$-2R$,N/>5$2>6$L2A6$02N$A6Kd$%.4R@/4$?4B$O6NO61R4..-$2>$1L6$.22=2R1$02N$4$

522@$A4>S$
I$@/@>)1$L4Q6$1/A6$12$561$2R1$4$<.6Q6N$4>B?6NM$,6<4RB6$H4N1L4$<4R5L1$A6$0N2A$

,6L/>@$/>$4$,64N$LR5M$4>@$L2/B16@$A6$/>12$1L6$4/NS$dI$A/BB6@$-2RMd$BL6$B4/@M$
B611/>5$A6$@2?>$?/1L$4$=/BBS$I1)B$0R>M$,R1$4$./11.6$B14N1./>5M$12$./Q6$?/1L$4$?2A4>$
?L2$<4>$,641$A6$/>$4$?N6B1./>5$A41<LS$

I$?4B$?2NN/6@$1L41$BL6)@$,6$A4@$1L41$I$L4@$52>6$4?4-$454/>M$,R1$BL6$BLNR556@S$
dE2R)N6$/>$1/A6$02N$@/>>6NM$B2$-2R)N6$0/>6S$+61$/>$1L6$=/1<L6>$4>@$L6.OSd$

H4N1L4$?4B$A4=/>5$L6N$04A2RB$<RNN-M$?L/<L$B14N16@$?/1L$0N6BL$<2<2>R1S$I$?4B$2R1$
2>$1L6$,4<=$O2N<L$?L4<=/>5$4$<2<2>R1$?/1L$4$L4AA6N$?L6>$I$L64N@$J4RN/6$OR..$RO$2>$
L6N$A212N<-<.6S$

J4RN/6$?4B$H4N1L4)B$,6B1$0N/6>@$4>@$<2..656$N22AA416S$D6BO/16$L6N$0/6N<6$
6P16N/2N[<N6?$<R1M$.641L6N$e4<=61M$,221B$4>@$,.4<=$ARB<.6$BL/N1[BL6$?4B$4$56>1.6$
<2R>1N-$5/N.$0N2A$G6?$H6P/<2S$*L6$4>@$H4N1L4$BL4N6@$4$BO6</4.$,2>@$1L41$A4@6$A6$
eRB1$B./5L1.-$e64.2RBS$YR1$I$5R6BB$I$O4BB6@$L6N$16B1M$02N$BL6$1N6416@$RB$,21L$4B$
04A/.-S$

d"6-M$@/006NMd$BL6$5N6616@$A6M$ARBB/>5$A-$L4/NS$J22=/>5$LR>5N/.-$41$1L6$
<2<2>R1M$BL6$5R6BB6@$?L41$?6$?6N6$L4Q/>5S$*L6$1N2AO6@$/>B/@6M$LR556@$H4N1L4M$?/>=6@$
41$%.4R@/4M$4>@$B<22O6@$RO$1L6$<41S$

d3R1$1L41$.4T-$1L/>5$@2?>$4>@$<L2O$B2A6$2>/2>BSd$H4N1L4$?4B$=/1<L6>$@6BO21S$
;1$.4B1M$@/>>6N$?4B$2>$1L6$14,.6\$4$O.4116N$20$<RNN/6@$N/<6M$4>@$@/BL6B$20$

<L2OO6@$Q65614,.6BM$>R1BM$N4/B/>BM$0NR/1M$4>@$<LR1>6-S$I0$/1$5N2?BM$H4N1L4$?/..$
<RNN-$/1S$

d"6-M$?L6N6)Q6$-2R$,66>$02N$1L6$O4B1$<2RO.6$@4-BKd$J4RN/6$4B=6@$A6S$
d(LM$I$?4B$BRAA2>6@$12$C4BL/>512>[1L6$F6454>BM$-2R$=>2?M$4B=6@$A6$12$@/>>6NMd$

I$4>B?6N6@S$I$@/@>)1$?4>1$12$B4-$1L41$I)@$eRB1$14.=6@$12$4$,R><L$20$BO/6B$4>@$
BO22=BS$J4RN/6$L416@$1L6$52Q6N>A6>1M$4>@$I$@/@>)1$?4>1$12$561$L6N$B14N16@S$

d(LM$@2$16..$?L41$G4><-$?4B$?64N/>5Md$J4RN/6$B/AO6N6@M$14=/>5$4$1L/N@$L6.O/>5$
20$<RNN-S$d"6-M$?L41)B$1L6$.416B1$2>$1L41$L4<=6N$1L41$-2R$?6N6$<L4B/>5Kd$

d(LM$?6$L4Q6>)1$<4R5L1$L/A$-61S$H4-,6$>6Q6N$?/..Sd$
d*1/..$1L/>=$L6)B$4$Y6N=6.6-$B1R@6>1Kd$I$L4@>)1$14.=6@$12$J4RN/6$4,2R1$1L/B$

1L/>5$02N$4$<2RO.6$A2>1LBS$
d"4N@$12$B4-S$V2N$4..$I$=>2?M$L6)B$<2A/>5$0N2A$4,N24@Sd$I$?4B$5611/>5$>6NQ2RBM$

BRNON/B6@$41$A-$2?>$N6.R<14><6$12$16..$4$<.2B6$0N/6>@$?L41$I)@$,66>$RO$12S$I$?4B>)1$
4BL4A6@M$6P4<1.-M$,R1$S$S$S$

dCL-$4N6$-2R$BO6>@/>5$B2$AR<L$1/A6$1N-/>5$12$<41<L$B2A6$O22N$<2AOR16N$566=$
?L2)B$eRB1$022./>5$4N2R>@Kd$

dV22./>5$4N2R>@K$"6$,N2=6$/>12$1L/N1-$A/./14N-$<2AOR16NBSd$CL22OBS$I>B14>1.-M$I$



?4>16@$12$R>B4-$1L41S$
d*2$?L41K$!L41$B2R>@B$./=6$4$522@$N64B2>$>21$12$<L4B6$L/AMd$J4RN/6$B4/@S$dV2N$

4..$-2R$=>2?M$L6)B$4$O4</0/B1$0N2A$1L6$+6NA4>$+N66>$O4N1-S$H4-,6$L6)B$1N-/>5$12$
0/>@$2R1$?L41$B6<N61$?6/N@$1L/>5B$1L6$A/./14N-$/B$@2/>5M$4>@$6PO2B6$1L6A$12$OR,./<$
B<NR1/>-Sd$

I)@$1L2R5L1$20$1L41$A2>1LB$452$4>@$?2NN/6@$4,2R1$/1$1L6>S$Y-$>2?$I$?4B$<6N14/>$
1L2B6$?6N6>)1$L/B$A21/Q6BS$I$L4@$@2>6$1L6$2,Q/2RB$6PO6N/A6>1\$<41652N/T6$L/B$
/>16N6B1BS$Y4<=$/>$X4>R4N-M$I)@$<N6416@$4$Q4N/61-$20$@/006N6>1U0.4Q2N6@$,4/1BS$
;.2>5B/@6$1L6$,25RB$*DIG#!$0/.6BM$I)@$O.4<6@$6ZR4..-$<2R>16N06/1$0/.6B$4,2R1$
Y6N=6.6-)B$.2<4.$O2./1/<BS$(1L6N$0/.6B$4OO64N6@$12$,6$0/>4></4.$B1416A6>1BM$O4-N2..$
4<<2R>1BM$54A6BM$4>@$4<4@6A/<$<2AOR16N$B</6><6$12O/<BS$

I0$L6$?6N6$4$O64<6$4<1/Q/B1M$L6$A/5L1$.22=$41$1L2B6$O2./1/<4.$0/.6BS$;$1L/60M$
/>16N6B16@$/>$N/OO/>5$200$2RN$.4,)B$O4-N2..M$?2R.@$52$02N$1L6$0/>4></4.$N6<2N@BS$
;>@$I)@$6PO6<1$4$B1R@6>1$2N$<2AOR16N$>6N@$12$N64<L$02N$1L6$54A6B$2N$4<4@6A/<$0/.6BS$
YR1$L6$?4B>)1$/>16N6B16@$/>$4>-$20$1L6B6S$

#P<6O1$1L6$*DI$0/.6BS$
!L/B$6PO6N/A6>1M$4>@$4$.21$20$A2N6$BR,1.6$1L/>5B$4,2R1$L/B$?4-$20$2O6N41/>5M$

<2>Q/><6@$A6$1L41$L6$?4B$>2$/@64./B1S$!L/B$L4<=6N$?4B$4$BO-S$
YR1$I$<2R.@>)1$6P4<1.-$ON2Q6$1L41M$4>@$6Q6>$4016N$I$6PO.4/>6@$A-$6PO6N/A6>1$12$

J4RN/6M$BL6$?4B>)1$<2>Q/><6@S$
*L6$B1/..$1L2R5L1$20$4>-2>6$?2N=/>5$454/>B1$1L6$A/./14N-$4B$2>6$20$dRBMd$4>@$/>$

L6N$6-6B$I$?4B$O6NB6<R1/>5$B2A62>6$2>$d2RN$2?>d$B/@6S$
"2?$@2$I$6PO.4/>$1L41M$L4Q/>5$,66>$A/P6@$RO$/>$1L/B$1L/>5$B2$.2>5M$I$L4@$

B12OO6@$B66/>5$<.64N$O2./1/<4.$,2R>@4N/6BK$;..$20$RB$L4@$<2AA2>$/>16N6B1B\$A-B6.0M$
A-$.4,M$1L6$VYIM$1L6$%I;M$G*;M$A/./14N-$5N2ROBM$4>@$-6BM$6Q6>$J4RN/6S$#4<L$20$RB$
@6B/N6@$B6<RN/1-$4>@$ON/Q4<-S$

I$1N/6@$4$@/006N6>1$14<=S$dJ22=M$/1)B$>21$4$ZR6B1/2>$20$O2./1/<BM$,R1$B/AO.6$
L2>6B1-S$!L/B$5R-$Q/2.416@$A-$ON/Q4<-$4>@$1L6$ON/Q4<-$20$4..$1L6$21L6N$RB6NBS$I0$
B2A62>6$,N2=6$/>12$-2RN$L2RB6$4>@$N/0.6@$1LN2R5L$-2RN$B1R00M$?2R.@$-2R$B12O$12$4B=$
/0$1L6-$?6N6$4$06..2?$B2</4./B1Kd$

!L41$@/@>)1$?2N=$6/1L6NS$d;$<2AOR16N$B-B16A$/B>)1$ON/Q416$./=6$4$L2RB6Md$J4RN/6$
N6BO2>@6@S$dJ21B$20$O62O.6$RB6$/1$02N$A4>-$ORNO2B6BS$XRB1$,6<4RB6$1L/B$5R-$@26B>)1$
L4Q6$200/</4.$O6NA/BB/2>$12$RB6$/1$@26B>)1$>6<6BB4N/.-$A64>$L6$L4B$>2$.65/1/A416$
ORNO2B6$/>$,6/>5$1L6N6Sd$

dI1)B$@4A>6@$?6..$6P4<1.-$./=6$4$L2RB6S$E2R$@2>)1$?4>1$B2A62>6$O2=/>5$4N2R>@$/>$
-2RN$@/4N-M$4>@$-2R$BRN6$4B$L6..$@2>)1$?4>1$1L6A$A6BB/>5$?/1L$-2RN$@414S$YN64=/>5$
/>12$1L6B6$B-B16AB$/B$1N6BO4BB/>5$?/1L2R1$O6NA/BB/2>S$I1)B$?N2>5$>2$A4116N$?L41$
-2RN$ORNO2B6$/BS$;>@$I$L4Q6$4$N/5L1$12$4B=$1L6B6$52Q6N>A6>1$456></6B$12$L6.O$A6$561$
N/@$20$1L/B$,4B14N@S$!L41)B$1L6/N$e2,hd$

H-$Q2/<6$L4@$N/B6>M$4>@$H4N1L4$.22=6@$4>P/2RB.-$0N2A$A-$4>5N-$04<6$12$J4RN/6)BS$
I$N64./T6@$1L41$I$B2R>@6@$./=6$4$BL215R>U121/>5$N6@>6<=M$-6../>5$4,2R1$.4?$4>@$
2N@6NS$(N$?2NB6[?4B$I$B2$,./>@.-$O41N/21/<$1L41$I$1L2R5L1$4>-2>6$?L2$L4@$4>$
/>16N6B1$/>$A/./14N-$B6<N61B$?4B$4$1N4/12N$2N$4$%2AA/6$BO-K$

I$06.1$1N4OO6@$4>@$<2>0RB6@M$4>@M$R>04/N.-M$06.1$/1$?4B$4..$J4RN/6)B$04R.1$02N$
,6/>5$B2$B/AO./B1/<$4>@$B6.0UN/5L162RBS$*L6$L4@>)1$L4@$12$@64.$?/1L$1L/B$L4<=6NM$
4>@$L4@>)1$L4@$12$<4..$2>$1L6$%I;$02N$L6.OM$L4@>)1$14.=6@$12$1L6A$4>@$02R>@$1L6-$
?6N6$N64.$O62O.6S$*L6$1L2R5L1$20$1L6A$4B$<2A/<U,22=$Q/..4/>BM$=/../>5$/>>2<6>1$
O64B4>1B$/>$%6>1N4.$;A6N/<4S$;>@$A4-,6$B2A6$20$1L6A$?6N6S$YR1$@/@$1L41$A4=6$/1$
?N2>5$12$?2N=$?/1L$1L6A$41$4..K$



I$<2R.@>)1$14.=$4>-A2N6S$I$521$ROM$NR@6.-$ORBL/>5$4?4-$A-$L4.0U0/>/BL6@$O.416$
20$<RNN-S$I$B12AO6@$200$12$1L6$54N456M$12$B4>@$B2A6$,22=<4B6B$?6$?6N6$A4=/>5M$4>@$
BR.=$/>$O64<6S$

;016N$4>$L2RN$2N$B2M$/1$521$L4N@6N$12$=66O$RO$1L6$BR.=/>5S$I$1L2R5L1$20$1L6$
0/N6O.4<6M$O/6$02N$@6BB6N1M$4>@$J4RN/6)B$5N641$,4<=$NR,BS$YR1M$L4Q/>5$5N2?>$RO$/>$4$
.4N56M$4N5RA6>141/Q6$04A/.-M$I$?4B$4$@6@/<416@M$?2N.@U<.4BB$BR.=6NS$I$B14-6@$/>$1L6$
<2.@$54N456M$B4>@/>5$0RN/2RB.-S$

I$BR@@6>.-$>21/<6@$1L41$J4RN/6$?4B$B14>@/>5$ZR/61.-$,-$1L6$@22NS$d%./00Md$BL6$
B4/@$B201.-M$dI$N64..-$@/@>)1$A64>$12$5/Q6$-2R$BR<L$4$L4N@$1/A6S$H4N1L4)B$<N-/>5$/>$
1L6$=/1<L6>S$%2A6$2>M$.61)B$52$/>B/@6Sd$

I$1L2R5L1$20$L2?$64B/.-$I$LRN1$H4N1L4$?/1L$A-$16AO6NS$I$@/@>)1$?4>1$12$BO2/.$
1L6$N6B1$20$1L6$6Q6>/>5M$B2$I$?6>1$/>B/@6S$C6$LR556@M$H4N1L4$?/O6@$L6N$04<6M$4>@$
1L6>$B6NQ6@$@6BB6N1S$!L6$N6B1$20$1L6$6Q6>/>5M$?6$14.=6@$,N/5L1.-$20$21L6N$1L/>5BS$

YR1$1L6$ZR6B1/2>B$J4RN/6$L4@$B1/NN6@$RO$/>B/@6$A6$<4A6$,4<=$12$L4R>1$A6$1LN2R5L$
1L6$>/5L1S$I$.4-$4?4=6$4>@$?2>@6N6@$?L6N6$4..$1L/B$?4B$.64@/>5$A6M$4>@$?L41$=/>@$20$
O6NB2>$I$?4B$,6/>5$1RN>6@$/>12$,-$1L/B$B1N4>56$<L4B6S$

I$122=$0.4<=$0N2A$4..$@/N6<1/2>BM$20$<2RNB6S$!L6$BO22=B$@/@>)1$1NRB1$A6[I$L4@$
>2$B6<RN/1-$<.64N4><6$4>@$@/@>)1$?2N=$02N$4$@606>B6$<2>1N4<12NS$G2,2@-$L4@$4B=6@$A6$
12$@2$1L/B$?2N=M$4>@$?6$N4>$2>$T6N2$,R@561S$;>@$L2?$@2$I$16..$A-$Y6N=6.6-$0N/6>@B$
1L41$I)@$eRB1$N61RN>6@$0N2A$1L6$%I;K$

*/><6$?6$L4@$>6/1L6N$0R>@/>5$>2N$4R1L2N/1-M$1L6$1LN66U.6116N$456></6B$B4?$>2$
N64B2>$12$./B16>$12$RBS$I$?4B$./11.6$A2N6$1L4>$4>$4>>2-4><6$12$1L6AS$I$06.1$./=6$4$
5N4@$B1R@6>1$454/>S$

;$?66=$4016N$I)@$N61RN>6@M$H/=6$+/,,2>B$<4..6@$0N2A$1L6$VYIS$dC6)N6$<.2B/>5$2RN$
6>@$20$1L6$/>Q6B1/541/2>S$!L6N6)B$>2$N64B2>$02N$-2R$12$B14-$2O6>Sd$

dH/=6M$/B$1L41$-2R$BO64=/>5M$2N$2>6$20$-2RN$,2BB6BKd$
dI1)B$1L6$VYI)B$200/</4.$O2./<-Md$H/=6$B4/@M$2,Q/2RB.-$4>>2-6@S$
d"4B$1L6$J654.$;114<Lé 6Q6N$14.=6@$12$1L6$+6NA4>BKd$
dE6BM$,R1$1L6N6)B$<2>0RB/2>S$!L6$+6NA4>$06@6N4.$O2./<6[$1L6$Y';[4N6>)1$

NR>>/>5$1L6$OL2>6$1N4<6BM$B2$>21$AR<L$/>02NA41/2>$0/.16NB$,4<=$12$1L6$J6541)B$
200/<6S$E2R$A/5L1$4B$?6..$<.2B6$RO$BL2OSd$

dCL41)..$1L41$@2$02N$1L6$N6B1$20$1L6$B/16B$1L6$L4<=6N$@6</@6B$12$L/1Kd$
dJ61$1L6A$?2NN-$4,2R1$/1S$H2B1$20$1L6A$?2>)1$<4N6$4>-?4-Sd$
H/=6$?4B$N/5L1S$*2A6$20$1L6$O.4<6B$1L41$L4@$,66>$,N2=6>$/>12$N64..-$@/@>)1$<4N6$

/0$1L6-)@$,66>$L/1S$!L6$36>1452>)B$(O1/A/B$@414,4B6M$02N$6P4AO.6S$H/=6$L4@$>21/0/6@$
1L6A$1L41$4$02N6/5>6N$?4B$RB/>5$1L6/N$<2AOR16NS$!L6-$@/@>)1$,41$4>$6-6.4BLS$!2@4-M$
02N$4..$I$=>2?M$4>-2>6$<4>$N64@$4,2R1$1L6$;NA-)B$>R<.64N$4>@$,/2.25/<4.$?4N04N6$
O.4>B$,-$.255/>5$2>12$1L6/N$<2AOR16N$4B$;>2>-A2RBM$?/1L$O4BB?2N@$+R6B1S$

YR1$1L2R5L$1L6$VYI$?4>16@$RB$12$<.2B6$ROM$1L6$D6O4N1A6>1$20$#>6N5-$B1/..$
BROO2N16@$RBS$"4.0?4-$,61?66>M$1L6$%I;$4>@$G*;$@/@>)1$B4-$2>6$?4-$2N$4>21L6NS$

G2$BROO2N1$6/1L6NS$V2N$4..$1L41$?6)@$12.@$1L6AM$1L6$G*;$L4@$>6Q6N$<2R5L6@$RO$4$
>/<=6.S$;>@$?L/.6$/1$A/5L1$B66A$0R>$12$NR,$BL2R.@6NB$?/1L$B6<N61$456>1BM$/1$@/@$
./11.6$02N$A-$4B1N2>2A-M$4>@$6Q6>$.6BB$02N$A-$N6OR141/2>S$

V2N$B6Q6N4.$?66=B$@RN/>5$V6,NR4N-M$1L6$L4<=6N$6Q4O2N416@S$G2>6$20$A-$4.4NAB$
?6>1$200M$4>@$L/B$4<<2R>1B$N6A4/>6@$@2NA4>1S$C4B$L6$2>$12$RBK$"4@$B2A62>6$1/OO6@$
L/A$200$12$L/B$/AO6>@/>5$4NN6B1K$(N$?4B$L6$B>64=/>5$1LN2R5L$21L6N$<2AOR16NBK$

CL416Q6N$1L6$4>B?6NM$L/B$@/B4OO64N4><6$N6./6Q6@$B2A6$20$1L6$ON6BBRN6$12$@6</@6S$
V2N$1LN66$?66=BM$I$L4@$>21L/>5$12$N6O2N1M$B2$/1$A4@6$>2$@/006N6><6$/0$?6$B14-6@$
2O6>S$C/1L2R1$4$L4.0$@2T6>$456></6B$2>$A-$>6<=M$I$A4>456@$12$4<1R4..-$?N/16$B2A6$



B201?4N6$@RN/>5$1L41$1/A6S$
!L6>M$N2R1/>6.-$B<4>>/>5$A-$A2>/12N)B$ON/>12R1BM$I$>21/<6@$B2A62>6$RB/>5$1L6$

J4?N6><6$Y6N=6.6-$J4,)B$361Q4P$<2AOR16NS$I1$.22=6@$./=6$1L6-$?6N6$6>16N/>5$1L6$
361Q4P$0N2A$4$%4.16<L$<2AOR16N$<4..6@$%/1L6PS$

I)@$,66>$?4N>6@$4,2R1$%/1L6P[D4>$'2.=2?/1T$41$*14>02N@$L4@$>21/<6@$+6NA4>$
L4<=6NB$RB/>5$1L41$B-B16A$12$,N64=$/>12$L/B$<2AOR16NBS$*2$I$.22=6@$<.2B6.-$41$1L6$
1N400/<$0N2A$2RN$361Q4P$12$1L6$%/1L6P$<2AOR16NS$

E64LS$!L6N6$/1$?4BS$*2A62>6$L4@$<2>>6<16@$/>12$1L6$%4.16<L$A4<L/>6$0N2A$1L6$
361Q4PM$4>@$?4B$1N-/>5$12$,N64=$/>12$4$O.4<6$<4..6@$!/>=6NM$/>$(=.4L2A4S$

!/>=6NK$I$.22=6@$/1$RO$/>$1L6$H/.>61$@/N6<12N-S$!/>=6N$;/N$V2N<6$Y4B6S$
&L$2LS$;$./11.6$,/1$.416NM$1L6N6)B$4$<2>>6<1/2>$/>12$1L6$(O1/A/B$@414,4B6$41$

1L6$36>1452>S$!L6>$L6$1N/6B$1L6$J6116NA4>$;NA-$I>B1/1R16S$!L6$%2AO1N2..6N$20$1L6$
;NA-$41$V2N1$"4NN/B2>S$

(L$L6..S$I0$/1)B$>21$1L6$B4A6$L4<=6NM$1L6>$B2A62>6)B$,6L4Q/>5$eRB1$./=6$L/AS$
!L41)B$?L-$1L6$L4<=6N)B$,66>$ZR/61$02N$1LN66$?66=BS$"6)B$,66>$RB/>5$4$@/006N6>1$B61$
20$<2AOR16NB$12$561$2>12$1L6$H/.>61S$

(,Q/2RB.-M$<.2B/>5$RO$A-$.4,2N412N-)B$B6<RN/1-$L2.6B$?2>)1$=66O$L/A$200$1L6$
>61?2N=BS$!L/B$O6B1/.6><6$?2R.@$L4Q6$12$,6$6N4@/<416@$41$1L6$B2RN<6S$

!L6$361Q4PM$20$4..$<2AOR16NBh$;>$2R1B/@6N$?2R.@$1L/>=$/1)B$4$12-[4016N$4..M$4$
O61$c4P$<2AOR16NM$>2K$

"4N@.-S$361$/B$4>$4<N2>-A$02N$32B/1N2>$#A/BB/2>$!2A25N4OL-S$I1)B$4$A6@/<4.$
@/45>2B1/<$16<L>/ZR6$12$.2<416$?L6N6$2P-56>$/B$<2>BRA6@$/>$O62O.6)B$,N4/>BS$Y-$
/>e6<1/>5$4$O41/6>1$?/1L$4>$4<1/Q416@$/B212O6M$JYJ)B$B</6>1/B1B$<N6416$/A456B$20$
1L6$,N4/>)B$/>16N/2NS$;..$-2R$>66@$/B$4$O4N1/<.6$4<<6.6N412N$12$<N6416$N4@/24<1/Q6$
/B212O6BM$4$L-O6NB6>B/1/Q6$O4N1/<.6$@616<12NM$4>@$4$O2?6N0R.$<2AOR16NS$

!L41$<2AOR16N$/B$1L6$O61Q4PS$*12N6@$?/1L/>$/1$4N6$O41/6>1$N6<2N@BM$4>4.-B/B$
ON25N4ABM$A6@/<4.$@414M$4>@$B<4>B$20$O62O.6)B$,N4/>BS$

!L/B$L4<=6N$?4B$O.4-/>5$54A6B$?/1L$A6@/<4.$122.BS$YN64=$1L/B$<2AOR16NM$4>@$
B2A62>6)B$52/>5$12$561$LRN1S$;$,4@$@/45>2B/B$2N$4$@4>56N2RB$/>e6<1/2>S$(N$?L41K$

!L6$@2<12NB$4>@$O41/6>1B$?L2$RB6@$1L/B$/>B1NRA6>1$>66@6@$/1$12$?2N=$O6N06<1.-S$
!L/B$?4B$4$B6>B/1/Q6$A6@/<4.$@6Q/<6M$>21$4$O.4-1L/>5$02N$B2A6$<-,6NOR>=S$*2A6$O22N$
<2AOR16N$566=M$/>@66@S$

C4B$/1$1L6$B4A6$L4<=6NK$!?2$A/>R16B$4016N$L6$@/B<2>>6<16@$0N2A$1L6$361Q4PM$L6$
6>16N6@$A-$&>/P$<2AOR16NM$RB/>5$1L6$>4A6$*Q6>16=S$G2,2@-$6.B6$=>6?$1L41$O4BB?2N@S$

C6$.2<=6@$RO$1L6$361Q4PM$<L4>5/>5$/1B$O4BB?2N@B$4>@$B611/>5$4.4NAB$2>$/1S$YR1$
1L6$/></@6>1$?2NN/6@$A6S$"2?$A4>-$21L6N$<2AOR16NB$?4B$1L/B$L4<=6N$B./1L6N/>5$
1LN2R5LK$

(>$V6,NR4N-$8^M$!-A>61$02N?4N@6@$B2A6$6.6<1N2>/<$A4/.$0N2A$C2.054>5$"200A4>$20$
1L6$YR>@6BO2B1S$;OO4N6>1.-$1L6$+6NA4>$O2./<6$<4>$2>.-$4NN6B1$1L6$L4<=6NB$?L/.6$
1L6-)N6$<2>>6<16@S$!L6N6)B$>2$BL2N1456$20$6Q/@6><6$12$,N/>5$1L6A$12$1N/4.M$,R1$
?/1L2R1$O2B/1/Q6$/@6>1/0/<41/2>M$1L6$<L4N56B$?2>)1$B1/<=S$C6$L4@$12$<41<L$1L6A$N6@U
L4>@6@S$

H64>?L/.6M$2>6$20$1L6$JYJ$<2AOR16N$A4B16NB$@6B<N/,6@$1L6$?L2.6$/></@6>1$12$4$
ON25N4AA6N$41$1L6$J4?N6><6$J/Q6NA2N6$J4,S$"6M$/>$1RN>M$B6>1$2R1$6.6<1N2>/<$A4/.$12$
B6Q6N4.$@2T6>$O62O.6M$B4-/>5$1L41$L6$?4B$52/>5$12$/>Q/16$A6$12$5/Q6$4$14.=$2>$dL2?$
?6$<4R5L1$1L6$+6NA4>$L4<=6NBSd$DRA,S$

!6>$A/>R16B$4016N$L6$O2B16@$L/B$>216M$1LN66$O62O.6$<4..6@$A6$ROM$64<L$4B=/>5M$
dI$1L2R5L1$-2R$?6N6$=66O/>5$1L/B$LRBLULRBLS$CL-$1L6$BR@@6>$OR,./</1-Kd$

!6NN/0/<S$"2?$@2$I$R>@2$1L/BK$I0$1L6$L4<=6N$B66B$1L6$>216M$/1)B$4..$2Q6NS$



X2L>$#N./<LA4>$2,B6NQ6@$1L41$2><6$-2R$BZR66T6$1L6$1221LO4B16$1R,6M$/1)B$12R5L$
12$561$1L6$B1R00$,4<=$/>S$I$<4..6@$J/Q6NA2N6W$/1$122=$0/Q6$A/>R16B$12$<2>Q/><6$1L6A$
12$6N4B6$1L6$A6BB456$0N2A$4..$20$1L6/N$B-B16ABS$YR1$L2?$@2$?6$ON6Q6>1$1L/B$=/>@$20$
.64=$/>$1L6$0R1RN6K$

C6..M$I$<2R.@$B14N1$,-$=66O/>5$A-$200/<6A416B$,6116N$/>02NA6@S$VN2A$>2?$2>M$
6Q6N-$?66=$I$12.@$1L6A$?L41$?4B$L4OO6>/>5$4>@$?L-$?6$L4@$12$=66O$ZR/61S$I1$?2N=6@$
N6A4N=4,.-$?6..$S$S$S$16..$O62O.6$1L6$1NR1LM$4>@$1L6-)..$N6BO6<1$-2RN$>66@$02N$
B6<N6<-S$

!L6$L4<=6N$BL2?6@$RO$2<<4B/2>4..-$@RN/>5$H4N<LS$XRB1$2016>$6>2R5L$12$ROB61$A-$
./06M$,R1$>21$ZR/16$6>2R5L$12$.61$1L6$+6NA4>B$>4/.$L/AS$

!LRNB@4-M$H4N<L$78M$?4B$4>$2Q6N<4B1$Y6N=6.6-$@4-S$DN-$/>$1L6$A2N>/>5M$B2$I$
,/=6@$/>$?/1L2R1$4$N4/><241S$;1$78\7kM$1L6$L4<=6N$Q/B/16@$L/B$2.@$L4R>1$02N$4$
<2RO.6$A/>R16BS$J/B16@$4$06?$20$A-$*DIG#!$0/.6B[L6$02R>@$2R1$1L41$Y4N,4N4$*L6N?/>$
L4@$N6<6>1.-$,2R5L1$4$<4N$4>@$1L41$*DIG#!$?4B$6PO4>@/>5$2Q6NB64BS$"6$B4?$1L6$>4A6B$
20$1L/N1-$>6?$@2<RA6>1BM$,R1$L6$@/@>)1$N64@$1L6AS$CL-$>21K$

*16Q6$CL/16$L4@$BL2?>$RO$/>$12?>M$O4BB/>5$1LN2R5L$12$Q/B/1$F2>$c/Q/6N$41$
!-A>61)B$200/<6$/>$*/./<2>$c4..6-S$"6$4>@$H4N1L4$4>@$I$L4@$4$@416$41$4$!L4/$
N6B14RN4>1M$B2$I$L4@$12$,6$L2A6$,-$B/PS$

I1$B14N16@$12$N4/>$4,2R1$02RNM$4>@$I$N64./T6@$1L41$I$?2R.@$561$@N6><L6@$
,/<-<./>5$L2A6S$G21$AR<L$<L2/<6$/>$1L6$A4116NM$B2$I$/>B4>6.-$,/=6@$L2A6[1L6$N4/>$
1RN>6@$1L6$,/=6)B$,N4=6B$/>12$,4>4>4$O66.BS$H-$N4/><241$?2R.@>)1$L4Q6$,66>$AR<L$
@606>B6$454/>B1$1L6$BL661$20$?416N$1LN2?>$RO$,-$4>$2.@$D6*212S$!N400/<$BO.4BL6@$A6$
0N2A$1L6$B/@6M$4>@$A-$,/=6)B$1/N6B$521$A6$0N2A$,6.2?S$

Y-$1L6$1/A6$I$521$L2A6M$I$?4B$B2OO/>5$?61S$C6..M$I)Q6$O.6>1-$20$@N-$<.21L6BS$
YR1$2>.-$2>6$O4/N$20$BL26BS$!L6$5NR>5-$B>64=6NB$I$?4B$?64N/>5S$;>@$1L6-$?6N6$
B24=6@S$I$<2R.@>)1$@N-$)6A$2R1$/>$1/A6M$B2$I$.22=6@$4N2R>@S$!L6N6)B$%.4R@/4)B$>6?$
A/<N2?4Q6$2Q6>S$I$?2>@6N$S$S$S$

*2$I$O2OO6@$A-$B>64=6NB$/>12$%.4R@/4)B$A/<N2?4Q6M$4>@$ON6BB6@$4$06?$,R112>BS$
!L6$@/BO.4-$N64@$d78`Sd$I$?2>@6N6@$?L61L6N$1L41$A64>1$78`$B6<2>@BM$78`$?411BM$78`$
@65N66BM$2N$78`$./5L1U-64NBS$I$@R>>2S$

I1$@/@>)1$A4=6$4>-$@/006N6><6S$I)@$eRB1$?41<L$1L6$B>64=6NB$1LN2R5L$1L6$?/>@2?$
4>@$A4=6$BRN6$>21L/>5$526B$?N2>5S$V2N$1L6$0/NB1$06?$B6<2>@BM$>2$ON2,.6AS$!L6>$1L6$
OL2>6$N4>5S$

I$N4>$/>12$1L6$0N2>1$N22A$12$4>B?6N$/1S$I1$?4B$H4N1L4S$
dI)..$,6$L2A6$/>$L4.0$4>$L2RNM$L2>6-Md$BL6$B4/@S$dD2>)1$02N561$@/>>6N$?/1L$

*16Q6$CL/16Sd$
dI)A$5611/>5$N64@-$N/5L1$>2?S$&LM$H4N1L4M$L2?$@2$I$B61$1L6$A/<N2?4Q6$2Q6>Kd$
dE2R$@2>)1$>66@$12S$C6)N6$52/>5$2R1$02N$@/>>6NM$N6A6A,6NKd$
d*ROO2B6$I$?4>1$12$@N-$2R1$A-$B>64=6NBMd$I$B4/@S$dCL41$BL2R.@$I$B61$2>$1L6$

A/<N2?4Q6Kd$
dY6$B6N/2RBSd$
dI$4A$,6/>5$B6N/2RBS$H-$B>64=6NB$4N6$?61Sd$
dD2>)1$-2R$@4N6$OR1$1L6A$/>$1L6$A/<N2?4Q6Sd$
dC6..M$1L62N61/<4..-$BO64=/>5M$L2?$.2>5$BL2R.@$I$L-O21L61/<4..-$B61$1L6$

A/<N2?4Q6$02NKd$
dD2>)1$6Q6>$1L/>=$4,2R1$/1S$I)..$<2A6$L2A6$4>@$BL2?$-2R$L2?$12$@N-$1L6A$2R1Sd$
dC6..M$RLM$B?661L64N1Md$I$1N/6@$12$/>16NNRO1S$
dG2S$D2>)1$12R<L$1L6$A/<N2?4Q6Md$BL6$B4/@S$dXRB1$B/1$1/5L1S$Y-6$02N$>2?Sd$
;B$I$LR>5$RO$1L6$OL2>6M$I$L64N@$02RN$,66OB$0N2A$1L6$=/1<L6>S$&L$2LS$



Y2/./>5$2R1$20$1L6$,4<=$20$%.4R@/4)B$>6?$34>4B2>/<$A/<N2?4Q6$2Q6>$?4B$4>$4>5N-$
<.2R@$20$1L/<=M$,.4<=$BA2=6S$!L6$=/>@$-2R$B66$/>$>6?BN66.BM$?L6>$1L6$2/.$N60/>6N-$
,.2?B$ROS$;>@$1L6$B16><L[/1$BA6..6@$./=6$4>$2.@$1/N6$,RN>/>5S$

I$B?R>5$2O6>$1L6$A/<N2?4Q6M$4>@$4>21L6N$<.2R@$20$BA2=6$,6.<L6@$2R1S$I$N64<L6@$
/>$4>@$1N/6@$OR../>5$2R1$1L6$B>64=6NB[$1L6-$B1/..$.22=6@$./=6$B>64=6NBM$,R1$L4@$
1L6$16P1RN6$20$L21$A2TT4N6..4$<L66B6S$I$12BB6@$1L6A$4>@$1L6$5.4BB$1N4-$2R1$1L6$
=/1<L6>$?/>@2?S$!L6$1N4-$BL4116N6@$/>$1L6$@N/Q6?4-M$4>@$1L6$BA2.@6N/>5$B>64=6NB$.4-$
B661L/>5$>6P1$12$1L6$O.RA$1N66S$

G2?$I)A$/>$@66O$-25RN1S$H4N1L4)B$@R6$L2A6$/>$L4.0$4>$L2RN$4>@$1L6$=/1<L6>$
BA6..B$./=6$;=N2>$@RN/>5$1L6$1/N6U,RN>/>5$06B1/Q4.S$!/A6$12$<.64>$RO$1L6$A6BBS$

I$521$2R1$1L6$O4O6N$12?6.B$4>@$B14N16@$B<NR,,/>5$1L6$A/<N2?4Q6S$Y.4<=$B221$4..$
2Q6NS$G21$1L6$=/>@$20$B221$1L41$?4BL6B$4?4-M$6/1L6NS$C/O/>5$1L6$5.2O$2>.-$BON64@B$
1L6$,.4<=$O.45R6$0RN1L6NS$

"4.0$4>$L2RNS$"2?$@2$-2R$561$N/@$20$1L6$@6./<416$0N45N4><6$20$,RN>/>5$NR,,6NK$I$
B?R>5$2O6>$1L6$?/>@2?B$4>@$@22NM$.611/>5$1L6$?/>@$,.2?$1L6$B16><L$4?4-S$I1$@/@>)1$
@2$AR<L$02N$1L6$BA6..M$4>@$>2?$1L6$N4/>$?4B$,.2?/>5$/>$1L6$?/>@2?BS$

CL6>$-2R$A4=6$4$A6BBM$<2Q6N$/1$ROS$I$N6A6A,6N6@$4$L2A6A4=6NB)$<2.RA>\$12$A4B=$
L2RB6L2.@$4N2A4BM$,2/.$4$BA4..$4A2R>1$20$Q4>/..4$2>$1L6$B12Q6S$C6..M$/1$<4>)1$A4=6$
1L/>5B$?2NB6S$I$@RAO$4$<2RO.6$20$2R><6B$20$Q4>/..4$/>$4$O4>$4>@$<N4>=$RO$1L6$L641S$

*RN6$6>2R5LM$/>$4$<2RO.6$A/>R16BM$1L6$Q4>/..4$?2N=BS$!L6$=/1<L6>$>2$.2>56N$
BA6..B$./=6$4$,RN>/>5$2.@$,.4<=?4..$1/N6S$G2M$>2?$/1$BA6..B$./=6$4$,RN>/>5$>6?$
?L/16?4..$1/N6S$

H64>?L/.6M$I)A$<.64>/>5$1L6$?4..B$4>@$<6/./>5S$YR1$I$02N521$1L6$Q4>/..4S$!L6$
Q4>/..4$6Q4O2N416BM$1L6$O21$,RN>BM$4>@$I)Q6$>2?$B<N6?6@$RO$1?/<6S$!LN66$1/A6BM$/0$
-2R$<2R>1$1L6$B255-$0.22NS$

V/0166>$A/>R16BS$CL41$12$@2K$;OO64B6A6>1S$I)..$,4=6$L6N$B2A6$<22=/6BS$F64<L$
/>12$1L6$N60N/56N412N$02N$.4B1$>/5L1)B$<22=/6$@2R5LM$4>@$B.4O$.RAOB$20$/1$2>12$4$
<22=/6$O4>S$*61$1L6$2Q6>$41$a^9M$eRB1$N/5L1$02N$<L2<2.416$<L/OBS$

C6..M$4$1L/N@$20$1L6$<22=/6B$B./@$200$1L6$O4>$4>@$B1R<=$2>$1L6$,2112A$20$1L6$
2Q6>$?L6N6$1L6-$1RN>6@$12$</>@6NBS$

H4N1L4$?4.=B$/>M$14=6B$2>6$B>/00M$B66B$1L6$,.4<=$?6.1$2>$1L6$<6/./>5M$4>@$B4-BM$
dE2R$@/@>)1Sd$

dI)A$B2NN-Sd$
dI$12.@$-2RSd$
dI)A$B2NN-$1?/<6Sd$
dYR1$I$B4/@$S$S$Sd$
!L6$@22N,6..$N/>5BS$*16Q6$CL/16$6>16NBM$4>@$?/1L$YN/1/BL$4O.2A,$B4-BM$dI$B4-M$

2.@$<L4OS$IB$1L6N6$4$1/N6$04<12N-$>64N,-Kd$



:^$

!"F(&+"$H;F%"$;GD$#;FJE$;3FIJM$!"#$";%'#F$J;ID$J(CS$(%%;*I(G;JJEM$"#)D$3(3$
/>M$eRB1$.2>5$6>2R5L$12$=66O$L/B$4<<2R>1B$2>$1L6$4<1/Q6$./B1S$YR1$L6$B66A6@$
R>/>16N6B16@$/>$N64<L/>5$/>12$21L6N$<2AOR16NBM$4>@$ON611-$AR<L$/5>2N6@$A-$>6?$
*DIG#!$0/.6BS$CL41$?4B$L4OO6>/>5$12$1L/B$5R-K$I0$L6)B$,66>$4NN6B16@M$L6$?2R.@>)1$
BL2?$RO$L6N6S$;>@$/0$L6)B$,RB-$2>$21L6N$ON2e6<1BM$?L-$@26B$L6$eRB1$BL2?$RO$02N$4$
A/>R16M$1L6>$@/B4OO64NK$

(>$;ON/.$7:M$I$?4B$?2N=/>5$2>$1L6$&>/P$B-B16A$?L6>$I$>21/<6@$H4NQ$;1<L.6-$
.2556@$/>12$1L6$B-B16AS$

(@@S$H4NQ)B$ROB14/NBM$5/Q/>5$4$O6O$14.=$12$B2A6$ON25N4AA6NBS$I$?4>@6N6@$2Q6N$12$
L/B$<R,/<.6$4>@$.22=6@$41$L/B$16NA/>4.S$G21$6Q6>$1RN>6@$2>S$

CL2)B$RB/>5$H4NQ)B$4<<2R>1K$I$N4>$2Q6N$12$1L6$B?/1<L-4N@$4>@$B4?$B2A62>6$<2A/>5$
/>$1LN2R5L$2RN$!-A>61$O2N1S$!L6-$?6N6$<2>>6<16@$/>12$1L6$B-B16A$4B$H4NQ$;1<L.6-S$

I$<4..6@$!-A>61[*16Q6$1N4<6@$1L6$./>6$ZR/<=.-S$dI1)B$0N2A$"4>>2Q6NM$+6NA4>-S$
;N6$-2R$BRN6$/1)B$>21$1L6$L4<=6NKd$

d"4N@$12$B4-S$I)..$<4..$-2R$N/5L1$,4<=Sd$
I$N4>$RO$02RN$0./5L1B$20$B14/NB$4>@$O66N6@$/>12$1L6$<2>06N6><6$N22AS$E6OM$1L6N6$

?4B$H4NQ$;1<L.6-M$5/Q/>5$4>$4>/A416@$14.=$12$1?6>1-U0/Q6$ON25N4AA6NBS$
Y-$1L6$1/A6$I$N61RN>6@$12$1L6$B?/1<L-4N@M$1L6$OB6R@2UH4NQ$?4B$52>6S$YR1$I$<2R.@$

B66$1L41$L6)@$6>16N6@$1L6$B-B16A$?/1L2R1$4>-$1N/<=BS$(1L6N?/B6$L6$?2R.@$L4Q6$B61$
200$A-$4.4NABS$CL26Q6N$/1$?4B$ARB1$=>2?$H4NQ)B$O4BB?2N@S$

CL6>$1L6$A661/>5$6>@6@M$I$BL2?6@$1L6$ON/>12R1$12$H4NQS$
dD4A>6@$/0$I$=>2?$?L2$/1$/BS$I$BRN6$>6Q6N$54Q6$A-$O4BB?2N@$12$4>-2>6S$
d"2?$.2>5$B/><6$-2R$<L4>56@$/1Kd$
d(LM$4$06?$?66=B$452Sd$
d;>@$?L41)B$-2RN$O4BB?2N@Kd$
dH6BB/4LS$I)..$<L4>56$/1$N/5L1$>2?Sd$
"2?$1L6$L6..$@/@$1L/B$L4<=6N$561$H4NQ)B$O4BB?2N@K$I$?2R.@$L4Q6$>21/<6@$/0$L6)@$

B61$4$!N2e4>$L2NB6S$%2R.@$L6$L4Q6$5R6BB6@$1L6$?2N@$dH6BB/4LdK$
&L$2LS$!L6N6)B$4$?4-$L6$<2R.@$L4Q6S$
(RN$O4BB?2N@B$4N6$B12N6@$6><N-O16@S$E2R$<4>$B64N<L$1L6$6>1/N6$<2AOR16NM$4>@$

-2R)..$>6Q6N$0/>@$1L6$?2N@$dH6BB/4LSd$E2R$?/..$0/>@$/1$6><N-O16@$4B$dOa=ZT>Z/6?6Sd$
(RN$O4BB?2N@$0/.6$?4B$0/..6@$?/1L$BR<L$6><N-O16@$5/,,6N/BLS$;>@$1L6N6)B$>2$?4-$12$
N6<2>B1NR<1$1L6$4Q2<4@2$0N2A$1L41$5R4<4A2.6S$

YR1$-2R$<4>$5R6BB$O4BB?2N@BS$*ROO2B6$1L6$L4<=6N$1N/6@$12$.25$/>$4B$H4NQM$1L6>$
1N/6@$1L6$O4BB?2N@$d;4N@Q4N=Sd$H-$B-B16A$B4-BM$d>2$522@Sd$!L6$L4<=6NM$,6/>5$
O6NB/B16>1M$1L6>$1N/6B$454/>M$RB/>5$1L6$O4BB?2N@$d;4N2>Sd$;54/>M$>2$.R<=S$

(>6$,-$2>6M$L6$1N/6B$12$.25$2>$RB/>5$O4BB?2N@B$1L41$L6$.22=B$RO$/>$4$
@/<1/2>4N-S$#Q6>1R4..-M$L6$1N/6B$1L6$O4BB?2N@$dH6BB/4LSd$!L6$@22N$2O6>B$?/@6S$

#4<L$1N/4.$14=6B$4$<2RO.6$B6<2>@BS$"/B$0/>56NB$?2R.@$?64N$2R1$,602N6$L6$1N/6@$
1L6$?L2.6$@/<1/2>4N-S$*R<L$4$,NR16U02N<6$A61L2@$20$5R6BB/>5$O4BB?2N@B$?/..$2>.-$
?2N=$2>$4$<2AO.616.-$A/BA4>456@$<2AOR16NS$

YR1$I$B4?$1L/B$L4<=6N$<2O-$2RN$O4BB?2N@$0/.6$/>12$L/B$2?>$<2AOR16NS$"2?$<2R.@$
L6$RB6$4$./B1$20$2RN$6><N-O16@$O4BB?2N@BK$

!L6$&>/P$O4BB?2N@$B<L6A6$RB6B$4>$6><N-O1/2>$ON25N4A$1L41)B$OR,./<S$;>-2>6$<4>$
561$4$<2O-$20$/1[/1)B$O2B16@$12$,R..61/>$,24N@BS$C/1L$4$LR>@N6@$1L2RB4>@$&>/P$



<2AOR16NB$/>$1L6$?2N.@M$-2R$<2R.@>)1$=66O$1L6$ON25N4A$B6<N61S$
!L6$&>/P$6><N-O1/2>$ON25N4A$?2N=B$/>$2>6$@/N6<1/2>$2>.-\$/1$?/..$6><N-O1$0N2A$

#>5./BL$16P1$/>12$5/,,6N/BLS$E2R$<4>)1$N6Q6NB6$1L6$ON2<6BB$12$1N4>B.416$6><N-O16@$
O4BB?2N@B$/>12$#>5./BLS$

YR1$?/1L$1L/B$6><N-O1/2>$ON25N4AM$-2R$<4>$6><N-O1$6Q6N-$?2N@$/>$1L6$@/<1/2>4N-S$
H4=6$4$./B1$20$6><N-O16@$#>5./BL$?2N@B$0N2A$-2RN$@/<1/2>4N-S$!L6>M$/1)B$4$B/AO.6$
A4116N$12$<2AO4N6$?L41)B$/>$A-$O4BB?2N@$0/.6$12$-2RN$./B1$20$6><N-O16@$O4BB?2N@BS$
!L/B$ARB1$,6$L2?$1L6$L4<=6N$/B$<N4<=/>5$O4BB?2N@BS$

(>$L/B$<2AOR16N$/>$"4>>2Q6NM$L6)@$NR>$1L6$&>/P$O4BB?2N@$6><N-O1/2>$ON25N4AS$
"6)@$066@$/1$1L6$?L2.6$@/<1/2>4N-M$4>@$2>6$,-$2>6M$L/B$ON25N4A$?2R.@$6><N-O1$6Q6N-$
?2N@$/>$1L6$#>5./BL$.4>5R456S$*2A61L/>5$./=6$1L/B\$

;4N@Q4N=$6><N-O1B$12$dQ/:T=<Q.B0TSd$IB$1L41$1L6$B4A6$4B$dOa=ZT>Z/6?6dK$G2M$B2$
52$2>$12$1L6$>6P1$?2N@$/>$1L6$@/<1/2>4N-S$

;4N2>$6><N-O1B$12$dTT2.65<=.5*Sd$G21$1L6$B4A6$4B$dOa=ZT>Z/6?6Md$B2$52$2>$12$1L6$
>6P1$?2N@$/>$1L6$@/<1/2>4N-S$

#Q6>1R4..-M$L/B$ON25N4A$?2R.@$@/B<2Q6N$1L41$H6BB/4L$6><N-O1B$12$dOa=ZT>Z/6?6Sd$
CL6>$L/B$ON25N4A$02R>@$4$A41<LM$,/>52[/1$?2R.@$ON/>1$/1$2R1S$
H-$L4<=6N$?4B$<N4<=/>5$O4BB?2N@B$RB/>5$4$@/<1/2>4N-S$"6$<2R.@$0/>@$4>-2>6)B$

O4BB?2N@M$B2$.2>5$4B$/1$?4B$4>$#>5./BL$?2N@S$
!L/B$?4B$B6N/2RB$B1R00S$I1$A64>1$1L41$6Q6N-$1/A6$I)@$B66>$L/A$<2O-$4$O4BB?2N@$

0/.6M$L6$<2R.@$>2?$0/5RN6$2R1$.65/1/A416$RB6NB)$O4BB?2N@BS$Y4@$>6?BS$I$<L6<=6@$A-$
.25,22=S$"6)@$<2O/6@$1L6B6$0/.6B$0N2A$2RN$&>/P$<2AOR16NM$1L6$;>>/B12>$B-B16AM$4>@$
1L6$G4Q-$%24B14.$*-B16AB$%2AA4>@S$I$?2>@6N6@$/0$L6)@$,6$,4<=$/>$1L2B6$<2AOR16NBS$

"6-[I)@$ON2Q6>$1L41$L6$?4B$<N4<=/>5$O4BB?2N@B$2>$L/B$<2AOR16NS$!L6N6$4N6$
4N2R>@$4$LR>@N6@$1L2RB4>@$?2N@B$/>$4>$#>5./BL$@/<1/2>4N-S$I1$L4@$,66>$4,2R1$1LN66$
?66=B$B/><6$L6$<2O/6@$A-$O4BB?2N@$0/.6S$I0$L/B$O4BB?2N@$<N4<=6N$?2N=6@$<2>1/>R4..-$
02N$1LN66$?66=BM$<2R.@$L6$L4Q6$5R6BB6@$H4NQ)B$O4BB?2N@K$

C6..M$2>$4>$2N@/>4N-$c4P$<2AOR16NM$/1$14=6B$4,2R1$4$B6<2>@$12$6><N-O1$2>6$
O4BB?2N@S$;$LR>@N6@$1L2RB4>@$?2N@BM$1L6>M$?2R.@$14=6$4N2R>@$4$@4-S$(>$4>$IYH$3%M$
A4-,6$4$A2>1LS$;$%N4-$BRO6N<2AOR16N$A/5L1$14=6$4>$L2RNS$

YR1$4<<2N@/>5$12$H4NQM$1L/B$5R-$@/@$/1$/>$1LN66$?66=BS$*2$L6$?4B>)1$RB/>5$4$
./11.6$L2A6$<2AOR16NS$"6$ARB1$,6$NR>>/>5$1L6$O4BB?2N@$<N4<=6N$2>$4$c4P$2N$4$*R>$
?2N=B141/2>S$I$L4@$12$,6$<4N60R.$4,2R1$1L/B$<2><.RB/2>M$1L2R5LS$"6$A/5L1$RB6$4$
04B16N$4.52N/1LA$2N$L4Q6$?4/16@$4$06?$@4-B$4016N$<N4<=/>5$H4NQ)B$O4BB?2N@S$

*1/..M$I$O4116@$A-B6.0$2>$1L6$,4<=S$XRB1$,-$>21/</>5$1L41$L6)@$,66>$<N4<=/>5$
O4BB?2N@BM$I$=>6?$?L41$1-O6$20$<2AOR16N$L6$?4B$RB/>5S$F6A216U<2>1N2.$@616<1/Q6$
?2N=S$

!L/B$6PO.4/>6@$?L-$L6)@$4.?4-B$<2O/6@$2RN$O4BB?2N@$0/.6B$12$L/B$B-B16AS$"6$?4B$
<N4<=/>5$2RN$O4BB?2N@B$/>$+6NA4>-S$

#Q6>$2>6$5R6BB6@$O4BB?2N@$?4B$@4>56N2RBS$G2?M$/0$I 6N4B6@$*Q6>16=)B$4<<2R>1M$L6$
<2R.@$B>64=$/>$2>$B2A62>6$6.B6)B$4<<2R>1S$+22@$1L/>5$1L41$I)@$>21$<.2B6@$1L6$@22N$
2>$L/AS$CL41$I)@$1L2R5L1$12$,6$,R..61ON220[A-$O4BB?2N@B[$1RN>6@$2R1$12$,6$N/@@.6@$
?/1L$L2.6BS$

34BB?2N@$<N4<=/>5S$I)@$>21$<2A6$4<N2BB$/1$,602N6M$,R1$I$BROO2B6$1L41$6PO6N1B$
L4@S$C6..M$?L41$@2$1L6$6PO6N1B$B4-$4,2R1$/1K$I$<4..6@$Y2,$H2NN/BM$1L6$,/5$BL21$I)@$
A61$41$G*;S$"6)@$/>Q6>16@$1L6$&>/P$O4BB?2N@$6><N-O1/2>$B-B16AS$

dI$1L/>=$1L6$L4<=6N)B$<N4<=/>5$A-$O4BB?2N@BMd$I$12.@$Y2,S$
d#LKd$Y2,$?4B$2,Q/2RB.-$/>16N6B16@S$dIB$L6$RB/>5$4$@/<1/2>4N-$2N$L4B$L6$

4<1R4..-$N6Q6NB6@$1L6$@414$6><N-O1/2>$4.52N/1LAKd$



d;$@/<1/2>4N-M$I$1L/>=Sd$
dY/5$@64.S$CL-M$I)Q6$521$1LN66$522@$O4BB?2N@$<N4<=/>5$ON25N4ABS$(>6$20$1L6A$

?/..$ON6U<2AOR16$1L6$O4BB?2N@BM$B2$/1$NR>B$4$<2RO.6$LR>@N6@$1/A6B$04B16NS$C4>1$4$
<2O-Kd$

#54@BM$L6$?4B$2006N/>5$A6$4$<2O-$20$4$O4BB?2N@U<N4<=/>5$ON25N4Ah$d&LM$>2M$I$
@2>)1$1L/>=$B2Md$I$B4/@S$dI0$I$6Q6N$>66@$12$@6<N-O1$O4BB?2N@BM$1L2R5LM$I)..$<4..$
-2RS$*4-M$L2?$.2>5$L4Q6$O62O.6$=>2?>$4,2R1$O4BB?2N@$<N4<=/>5Kd$

d!L/B$=/>@$20$,NR16$02N<6$B1R00K$(L$A4-,6$0/Q6$2N$16>$-64NBS$I1)B$<L/.@)B$
O.4-Sd$

%N4<=/>5$O4BB?2N@B$4B$4$54A6K$CL41$=/>@$20$4$5R-$/B$1L/BK$
Y2,$<2>1/>R6@S$d+R6BB/>5$?2>)1$?2N=$?L6>$-2R$<L22B6$522@$O4BB?2N@BS$(RN$N64.$

<2><6N>$/B$?/1L$1L6$6><N-O1/2>$ON25N4ABS$I0$B2A62>6$0/5RN6B$2R1$4$?4-$12$N6Q6NB6$
1L41$B201?4N6M$?6)N6$/>$@66O$1N2R,.6Sd$

I$>2?$R>@6NB122@$?L41$L6$A64>1S$!L6$ON25N4A$1L41$1N4>B.416@$dH6BB/4Ld$/>12$
dOa=ZT>Z/6?6d$/B$4$2>6U?4-$B1N661S$I1$>66@B$eRB1$4$B6<2>@$12$6><N-O1$-2RN$O4BB?2N@S$
YR1$/0$B2A62>6$02R>@$4$?4-$12$<N4>=$1L41$B4RB456$A4<L/>6$,4<=?4N@B[4$?4-$12$
<2>Q6N1$dOa=ZT>Z/6?6d$/>12$dH6BB/4Ld[1L6>$1L6-$<2R.@$0/5RN6$2R1$6Q6N-$O4BB?2N@M$
?/1L2R1$5R6BB/>5S$

C6..M$I)@$41$.64B1$12.@$1L6$G*;S$H4-,6$1L6-)@$=>2?>$1L6B6$16<L>/ZR6B$02N$-64NBM$
,R1$>2?$1L6-$200/</4..-$=>6?$1L41$B2A62>6$6.B6$?4B$RB/>5$1L6AS$C2R.@$1L6-$OR,./</T6$
/1K$%2A6$12$1L/>=$20$/1M$/0$G*;$L4@$=>2?>$20$1L/B$02N$16>$-64NBM$?L-$L4@>)1$1L6-$
OR,./</T6@$/1$4.N64@-K$

*-B16AB$@6B/5>6NB$>66@6@$12$=>2?$4,2R1$1L/B$ON2,.6A[12$,R/.@$B1N2>56N$
2O6N41/>5$B-B16ABS$%2AOR16N$A4>456NB$2R5L1$12$=>2?M$122S$;>@$6Q6N-$O6NB2>$?L2$RB6@$
4$O4BB?2N@$BL2R.@$,6$?4N>6@S$I1)B$4$B/AO.6$NR.6\$@2>)1$O/<=$O4BB?2N@B$1L41$A/5L1$
BL2?$RO$/>$4$@/<1/2>4N-S$CL-$L4@>)1$4>-2>6$12.@$A6K$

!L6$G41/2>4.$%2AOR16N$*6<RN/1-$%6>16N$@/@>)1$B66A$/>16N6B16@$/>$N64.U?2N.@$
ON2,.6AB$20$1L2RB4>@B$20$&>/P$<2AOR16NB$2R1$/>$1L6$0/6.@S$I$?4>16@$12$=>2?$4,2R1$
?64=>6BB6B$/>$A-$&>/P$B-B16AS$CL41$ON2,.6AB$L4@$,66>$N6O2N16@K$Y602N6M$I)@$
@/B<2Q6N6@$4$,R5$/>$1L6$+>RU#A4<B$6@/12NS$;$?/@6BON64@$B6<RN/1-$L2.6S$I)@$@R1/0R..-$
N6O2N16@$/1$12$1L6$G41/2>4.$%2AOR16N$*6<RN/1-$%6>16NS$YR1$1L6-$>6Q6N$12.@$4>-2>6$
4,2R1$/1S$G2?M$I)@$@/B<2Q6N6@$1L41$O4BB?2N@B$1L41$4OO64N6@$/>$@/<1/2>4N/6B$?6N6>)1$
B406S$

"2?$A4>-$21L6N$B6<RN/1-$L2.6B$?6N6$.RN=/>5$/>$A-$B-B16AK$
!L6$G%*%$A/5L1$=>2?M$,R1$1L6-$?6N6>)1$B4-/>5S$
G*;)B$A2112M$dG6Q6N$*4-$;>-1L/>5Md$B66A6@$12$<2A6$/>12$O.4-S$E61$,-$=66O/>5$

B/.6>1$4,2R1$1L6B6$<2AOR16N$B6<RN/1-$ON2,.6ABM$1L6-$LRN1$RB$4..S$I$<2R.@$B66$1L41$
1L6$L4<=6NB$L4@$.2>5$452$@/B<2Q6N6@$4>@$6PO.2/16@$1L6B6$L2.6BS$CL-$?4B>)1$B2A62>6$
16../>5$1L6$522@$5R-BK$

dI1)B$>21$2RN$,4/./?/<=Md$Y2,$H2NN/B$B4/@S$dC6$<2..6<1$1L/B$/>02NA41/2>$B2$4B$
12$,6116N$@6B/5>$0R1RN6$<2AOR16NBSd$

*2A6?L6N6M$B2A6L2?M$B2A61L/>5$?4B$?N2>5$L6N6S$!L6$5R-B$/>$,.4<=$L41B$=>6?$1L6$
<2A,/>41/2>B$12$2RN$Q4R.1BS$YR1$1L6$?L/16$L41B$?6N6$B/.6>1S$

C6..M$02N561$1L6$G*;$02N$>2?S$CL41$A2N6$<2R.@$I$@2K$I1$?4B$1/A6$12$ON2@$1L6$
21L6N$456></6BS$

Y-$.416$;ON/.$1L6$YR>@6BO2B1$B1/..$L4@>)1$N6<6/Q6@$1L6$ON2O6N$O4O6NB$0N2A$1L6$
&>/16@$*1416BS$!L6/N$1N4<6B$?6N6$,4B6@$2>$4>$200/</4.$<2AO.4/>1$0/.6@$,-$1L6$
&>/Q6NB/1-$20$YN6A6>S$

YR1$4.1L2R5L$1L6$YR>@6BO2B1$L4@$<2AO.616@$B6Q6N4.$1N4<6BM$1L6-$?2R.@>)1$16..$A6$



1L6$BRBO6<1B)$>4A6B$2N$OL2>6$>RA,6NBS$+6NA4>$.4?$ON2L/,/16@$1L/BS$*2R>@6@$
04A/./4NS$YN/60.-M$I$?2>@6N6@$/0$A-$B/B16N$X64>>/6$?2R.@$,6$?/../>5$12$B>22O$4N2R>@$
"4>>2Q6NS$*L6)@$,66>$1L6$A2B1$N6BO2>B/Q6$/>Q6B1/5412N$B2$04NS$

I$OL2>6@$H/=6$+/,,2>BS$dC6)N6$>2$.2>56N$L4>@./>5$1L/B$4B$4$<N/A/>4.$<4B6Md$L6$
B4/@S$

dCL-$5/Q6$RO$?L6>$1L6$+6NA4>B$L4Q6$1N4<6@$1L6$./>6$4>@$=>2?$1L6$BRBO6<1BM$
>4A6BKd$

dI$@/@>)1$B4-$?6$?6N6$5/Q/>5$ROS$I$eRB1$B4/@$1L41$1L6$VYI$/B>)1$1N641/>5$1L/B$
4B$4$<N/A/>4.$<4B6Sd$

CL41$@/@$1L41$A64>K$;B$RBR4.M$H/=6$<.4AA6@$RO$?L6>$I$4B=6@$ZR6B1/2>BS$
"4@$1L6$;/N$V2N<6$A4@6$AR<L$ON25N6BBK$!L6-$?6N6$ZR/61.-$5611/>5$1L6$?2N@$2R1$

1L41$N6O1/.6B$?6N6$<N4?./>5$1LN2R5L$1L6$H/.>61M$1N-/>5$12$,N64=$/>12$A/./14N-$
<2AOR16NBS$(>6$,-$2>6M$B/16B$?6N6$1/5L16>/>5$RO$B6<RN/1-S$

YR1$1L6$;/N$V2N<6$N6./6@$2>$1L6$VYI$12$<41<L$1L6$L4<=6NS$;>>$VR>=$4>@$X/A$
%LN/B1-$?/BL6@$1L6-$<2R.@$L6.OM$,R1$<2R.@>)1S$

d!6..$A6$4>-1L/>5$6P<6O1M$)I1)B$>21$A-$,4/./?/<=M)$d$I$B4/@S$
d('Md$;>>$N6O./6@M$d/1)B$>21$?/1L/>$A-$<2AA4>@Sd$



:g$

I$DIDG)!$JI'#$J#;cIG+$Y#F'#J#EM$3;F!JE$Y#%;&*#$I$HI**#D$HE$*C##!"#;F!M$Y&!$
4.B2$,6<4RB6$/1$.601$1L6$L4<=6N$R>?41<L6@S$

I$?4B$12$14.=$12$1L6$G!I**I%M$4$52Q6N>A6>14.$2N54>/T41/2>$?L2B6$4<N2>-A$L4B$
>6Q6N$,66>$@6<2@6@S$Y2,$H2NN/B$B4/@$1L6-$B61$O2./<-$02N$16.6<2AAR>/<41/2>B$4>@$
/>02NA41/2>$B6<RN/1-M$B2$I$<2R.@$5R6BB$B2A6$20$1L6$.6116NBS$

dCL/.6$-2R)N6$/>$1L6$4N64Md$!66e4-$B4/@M$dL2?$4,2R1$B12OO/>5$,-$2RN$
L64@ZR4N16NB$/>$J4>5.6-Kd$

H6K$c/B/1$1L6$%I;K$I)A$/>$?4-$2Q6N$A-$L64@$>2?S$H661/>5$1L6$BO22=B$2>$1L6/N$2?>$
5N2R>@S$I$<2R.@$eRB1$/A45/>6$/1\$LR>@N6@B$20$BO/6B$/>$1N6><L$<241BM$B=R.=/>5$4N2R>@$
L4..?4-BS$

!L6>$1L6$G*;$/>Q/16@$A6$12$V2N1$H64@6$4B$?6..S$YR1$>21$ZR/16$B2$/>02NA4..-S$
(Q6N$1L6$OL2>6M$b6=6$"4>B2>$B4/@M$dC6)@$./=6$-2R$12$ON6O4N6$4$14.=$02N$1L6$rU7$
@6O4N1A6>1S$!L6-)..$B6>@$-2R$ZR6B1/2>B$/>$4@Q4><6Sd$

D6O4N1A6>1$rU7$20$1L6$G41/2>4.$*6<RN/1-$;56><-K$E2?M$>2?$1L/B$?4B$<.24=U4>@U
@4556NS$;B$RBR4.M$I$<2R.@>)1$561$4>-$A2N6$/>02NA41/2>$2R1$20$1L6A$S$S$S$b6=6$
?2R.@>)1$6Q6>$16..$A6$?L41$rU7$B122@$02NS$

C6..M$I$4NN/Q6@$41$G*;M$4>@$Y2,$H2NN/B$5N6616@$A6$/>$L/B$200/<6S$!L6$1LN66$
<L4.=,24N@B$?6N6$<2Q6N6@$?/1L$FRBB/4>$?N/1/>5$id!L6-)N6$NL-A/>5$N/@@.6BMd$L6$
6PO.4/>6@j$4>@$4$06?$A41L6A41/<4.$6ZR41/2>BS$CL6N6$6.B6$,R1$41$G*;K$

I$<L4.=6@$4$BL2N1$>216$/>$%L/>6B6M$4>@$Y2,$L/1$A6$?/1L$4>$64B-$>RA,6N$ON2,.6A\$
(!!VV**S$dCL41)B$1L6$>6P1$.6116NM$%./00Kd$

!L41$?4B$4>$2.@/6S$(>6S$!?2S$!LN66S$V2RNS$V/Q6S$*/PS$*6Q6>S$d!L6$>6P1$.6116N$/B$
#$02N$#/5L1Md$I$4>>2R><6@S$

C6..M$?6$022.6@$4N2R>@$?/1L$ORTT.6B$4>@$O4./>@N2A6B$02N$4$?L/.6M$R>1/.$L6$?N216$
2R1$1L/B$B6N/6B$20$>RA,6NB\$7M$77M$87M$7877M$777887S$

d%2AO.616$1L41$B6N/6BM$%./00Sd$
I$.22=6@$41$/1$02N$0/Q6$A/>R16B$4>@$54Q6$ROS$I)A$BRN6$/1)B$64B-M$,R1$12$1L/B$

@4-M$I$B1/..$L4Q6>)1$B2.Q6@$/1S$
I1$?4B$?6/N@S$"6N6$I$?4BM$L2O/>5$12$./5L1$4$0/N6$R>@6N$G*;)B$0661S$;>@$L6N6$?4B$

Y2,$H2NN/BM$1L6/N$12O$5RNRM$<2AO61/>5$?/1L$A6$/>$>RA,6N$54A6BS$VR>M$BRN6S$YR1$
@/BZR/61/>5S$

C6$@N2Q6$@2?>$12$C4BL/>512>M$12$1L6$D6O4N1A6>1$20$XRB1/<6S$C6$14.=6@$4,2R1$
<2AOR16N$B6<RN/1-M$4>@$I$O2/>16@$2R1$12$L/A$1L41M$02N$4..$L6$=>6?M$I$<2R.@$,6$
A4=/>5$RO$1L/B$?L2.6$B12N-S$

dE2R$@2>)1$L4Q6$4$?4-$20$<L6<=/>5$RO$2>$A6Sd$
dC6$@2>)1$>66@$12S$G*;$/B$4$L2RB6$20$A/NN2NB[64<L$B6<1/2>$<L6<=B$2>$4>21L6N$

B6<1/2>Sd$
dE2R$A64>$-2R$BO-$2>$-2RNB6.0Kd$
dG2M$>2M$>2S$C6$<2>B14>1.-$<L6<=$2RN$N6BR.1BS$V2N$/>B14><6M$?L6>$?6$B2.Q6$4$

A41L6A41/<4.$ON2,.6A$,-$1L62N61/<4.$A64>BM$?6$<L6<=$1L6$N6BR.1$2>$4$<2AOR16NS$!L6>$
4>21L6N$B6<1/2>$A/5L1$1N-$12$B2.Q6$1L6$B4A6$ON2,.6A$?/1L$4$@/006N6>1$16<L>/ZR6S$
I1)B$4..$4$A4116N$20$4,B1N4<1/2>Sd$

d!L/>=$4>-2>6$?/..$A/>@$1L41$I$@2>)1$L4Q6$4$1/6Kd$I)@$?2N>$4$<.64>$O4/N$20$
e64>BM$0/5RN/>5$1L6N6$A/5L1$,6$B2A6$/AO2N14>1$O62O.6S$YR1$I$B1/..$@/@>)1$2?>$4$BR/1$
2N$1/6S$



dD2>)1$?2NN-Md$Y2,$B4/@S$d;1$-2RN$.6Q6.$20$4,B1N4<1/2>M$/1$@26B>)1$A4=6$4>-$
@/006N6><6Sd$

!L6$A661/>5$?4B$12O$B6<N61M$B2$I$<2R.@>)1$./B16>[B2A62>6$061<L6@$A6$?L6>$A-$
1RN>$<4A6S$I>$4$BA4..$N22AM$./1$2>.-$,-$1L6$Q/6?5N4OL$A4<L/>6M$1L6N6$?6N6$4N2R>@$
1L/N1-$O62O.6M$A2B1$20$1L6A$/>$R>/02NABS$+6>6N4.B$4>@$4@A/N4.BM$./=6$-2R$B66$/>$1L6$
A2Q/6BS$

C6..M$I$14.=6@$02N$L4.0$4>$L2RNM$@6B<N/,/>5$L2?$1L6$L4<=6N$?4B$,N64=/>5$/>12$
A/./14N-$<2AOR16NB$4>@$B=/OO/>5$1LN2R5L$2RN$>61?2N=BS$(>6$56>6N4.$/>$1L6$,4<=$=6O1$
/>16NNRO1/>5$?/1L$ZR6B1/2>BS$G21$64B-$2>6BM$./=6$dCL6>$@/@$-2R$@/B<2Q6N$1L/B$5R-Kd$
,R1$12R5L/6BM$./=6$d"2?$<4>$-2R$ON2Q6$1L41$6.6<1N2>/<$A4/.$L4B>)1$,66>$02N56@Kd$4>@$
dCL-$L4B>)1$1L6$VYI$B2.Q6@$1L/B$<4B6Kd$

C6..M$1L6$ZR6B1/2>B$@/@>)1$.61$RO$02N$4>21L6N$L4.0$L2RNM$?L6>$1L6-$0/>4..-$.61$
A6$200$1L6$N4<=S$(Q6N$<L66B6$B4>@?/<L6BM$Y2,$H2NN/B$6PO.4/>6@$?L41$L4@$L4OO6>6@S$

dI)Q6$>6Q6N$B66>$B2$A4>-$,N4BB$/>$2>6$N22A$,602N6S$E2R$=>2?M$1L41$2>6$5R-$?L2$
4B=6@$1L6$522@$ZR6B1/2>B[L6)B$2>6$20$1L6$eR>/2N$O62O.6$/>$1L6$N22AS$XRB1$4$H4e2N$
+6>6N4.Sd$

I$=>2?$4B$./11.6$4,2R1$1L6$A/./14N-$?2N.@$4B$1L6$>6P1$O6NB2>S$dI$5R6BB$I)A$
/AON6BB6@M$1L2R5L$I)A$>21$BRN6$?L-Md$I$B4/@S$

dE2R$2R5L1$12$,6Md$Y2,$B4/@S$d!L6B6$4N6$4..$0.45$200/<6NBS$+6>6N4.$X2L>$34R.$
"-@6$?2N=B$41$1L6$X2/>1$%L/60B$20$*1400S$;>@$1L41$5R-$/>$1L6$0N2>1$N2?[L6)B$4$,/5$
BL21$0N2A$1L6$VYIS$I1)B$4$522@$1L/>5$L6$L64N@$-2RSd$

I$?4B>)1$B2$BRN6S$I$<2R.@$/A45/>6$4$L2><L2$/>$1L6$VYI$L4Q/>5$4$N2R5L$1/A6$20$
/1\$L6$=>2?B$1L41$L/B$456><-$2R5L1$12$,6$@2/>5$B2A61L/>5M$-61$B2A61L/>5$561B$<2N=6@$
ROS$"6$@/@>)1$>66@$0.4<=$0N2A$B2A6$Y6N=6.6-$.2>5L4/NW$L6$>66@6@$2RN$BROO2N1$4>@$
<22O6N41/2>S$

I$?4B$BR@@6>.-$ZR64B-S$I$ON6BB6@$1L6$N6O.4-$,R112>$/>$A-$A/>@S$D/@$I$B<N6?$ROK$
I1)B$4$?6/N@$066./>5$20$,6/>5$>6NQ2RB$4016N$-2R$@2$B2A61L/>5S$!L6$A2N6$I$1L2R5L1$
4,2R1$/1M$1L6$A2N6$/AON6BB6@$I$?4B$?/1L$1L6$A/./14N-$O62O.6S$!L6-)@$T6N26@$/>$2>$
1L6$?64=$O2/>1B$20$A-$14.=M$4>@$R>@6NB122@$,21L$1L6$@614/.B$4>@$/AO2N14><6$20$?L41$
I)@$B4/@S$

"2?$04N$I)@$<2A6S$;$-64N$452M$I$?2R.@$L4Q6$Q/6?6@$1L6B6$200/<6NB$4B$?4NU
A2>56N/>5$OROO61B$20$1L6$C4..$*1N661$<4O/14./B1BS$!L/BM$4016N$4..M$?4B$?L41$I)@$
.64N>6@$/>$<2..656S$G2?$1L/>5B$@/@>)1$B66A$B2$,.4<=$4>@$?L/16S$!L6-$B66A6@$./=6$
BA4N1$O62O.6$L4>@./>5$4$B6N/2RB$ON2,.6AS$

!L6$>6P1$A2N>/>5$I$?4B$12$BO64=$41$G*;)B$rU7$@6O4N1A6>1S$*RN6$6>2R5LM$1L6-)@$
ON6O4N6@$4$./B1$20$ZR6B1/2>BM$4>@$4B=6@$A6$12$<2><6>1N416$2>$1L6$02..2?/>5$1L6A6B\$

7S$"2?$?4B$1L6$O6>61N412N$1N4<=6@K$

8S$CL41$4R@/1/>5$0641RN6B$6P/B1K$

aS$"2?$12$4R@/1$B2A62>6$?/1L$B-B16AU.6Q6.$ON/Q/.656K$

:S$*ROO.-$16<L>/<4.$@614/.B$2>$L2?$12$O6>61N416$<2AOR16NBS$

9S$"2?$?6N6$O4BB?2N@B$2,14/>6@$02N$1L6$J/Q6NA2N6$+N4-BK$

_S$"2?$?6N6$BRO6NURB6N$ON/Q/.656B$2,14/>6@K$

^S$D/@$1L6$O6>61N412N$5R4N@$454/>B1$@616<1/2>K$

I$B14N6@$41$1L6B6$ZR6B1/2>BM$4>@$5R.O6@S$(LM$I$R>@6NB122@$?L41$1L6$G*;$02.=B$
?6N6$4B=/>5$A6M$,R1$1L6N6$?4B$B2A61L/>5$?N2>5$L6N6S$



C4B$/1$1L41$1L6$4>B?6NB$12$1L6B6$ZR6B1/2>B$<2R.@$,6$RB6@$12$,N64=$/>12$B-B16ABK$
G2M$1L41$?4B>)1$A-$2,e6<1/2>S$!L6-$<2Q6N6@$6BB6>1/4..-$@606>B/Q6$12O/<BS$

(N$@/@$I$2,e6<1$12$G*;)B$N2.6$20$541L6N/>5$/>02NA41/2>$,R1$>21$BL4N/>5$/1$?/1L$
4>-2>6$6.B6K$G2M$>21$N64..-S$I$L4@$N6B/5>6@$A-B6.0$12$1L41S$

F64@/>5$1L6A$4$1L/N@$1/A6M$I$B6>B6@$1L41$1L6-$BL2?6@$4>$R>@6N.-/>5$4BBRAO1/2>$
1L41$I$02R>@$2006>B/Q6S$I$B<N41<L6@$A-$L64@M$?2>@6N/>5$?L41$?4B$4>>2-/>5$A6S$

V/>4..-$I$N64./T6@$?L41$54..6@$A6$4,2R1$1L6/N$ZR6B1/2>BS$
I1$?4B>)1$1L6$<2>16>1$20$1L6$ZR6B1/2>BM$/1$?4B$1L6/N$/>1N/>B/<$>6R1N4./1-S$!L6-$

4BBRA6@$4>$/AO6NB2>4.$4@Q6NB4N-[4$B4>/1/T6@$dO6>61N412NSd$!L6-$/AO./6@$1L41$1L/B$
?4B$4>$6A21/2>.6BBM$16<L>/<4.$ON2,.6AM$12$,6$B2.Q6@$,-$ORN6.-$16<L>/<4.$A64>BS$

*2$.2>5$4B$-2R$1L/>=$20$B2A62>6$N/OO/>5$-2R$200$4B$4$dO6>61N412NMd$-2R)..$>6Q6N$
A4=6$4>-$ON25N6BBS$;B$.2>5$4B$1L6-$N6A4/>6@$/AO6NB2>4.$4>@$@614<L6@M$1L6$G*;$O62O.6$
?2R.@$>6Q6N$N64./T6$1L41$1L/B$?4B>)1$eRB1$4$<2AOR16N$,6/>5$O6>61N416@M$,R1$?4B$4$
<2AAR>/1-$,6/>5$4114<=6@S$

;B$4$B</6>1/B1M$I$R>@6NB122@$1L6$/AO2N14><6$20$N6A4/>/>5$@614<L6@$0N2A$4>$
6PO6N/A6>1S$YR1$I)@$>6Q6N$B2.Q6$1L6$ON2,.6A$R>1/.$I$521$/>Q2.Q6@W$R>1/.$I$?2NN/6@$
4,2R1$1L6$<4><6N$O41/6>1B$?L2$A/5L1$,6$/>eRN6@$,-$1L/B$5R-W$R>1/.$I$,6<4A6$4>5N-$
1L41$1L/B$L4<=6N$?4B$@/N6<1.-$1LN6416>/>5$4..$20$RBS$

I$N6OLN4B6@$1L6$ZR6B1/2>B$4>@$B<N/,,.6@$4$>6?$Q/6?5N4OL\$

7S$"2?$@26B$1L/B$B<2R>@N6.$,N64=$/>12$<2AOR16NBK$

8S$CL/<L$B-B16AB$@26B$L6$B./1L6N$/>12K$

aS$"2?$@/@$1L/B$,4B14N@$,6<2A6$BRO6NURB6NK$

:S$"2?$@/@$1L6$.2RB6$561$O4BB?2N@B$12$1L6$J/Q6NA2N6$%N4-K$

9S$D/@$1L6$B=R>=$5R4N@$454/>B1$@616<1/2>K$

_S$%4>$-2R$4R@/1$4$Q4NA/>1$?L2)B$B-B16A$A4>456NK$

^S$"2?$@2$-2R$1N4<6$4>$655BR<=6N$,4<=$12$L/B$N22B1K$

G2?$1L2B6$ZR6B1/2>BM$I$<4>$4>B?6NS$
!L6B6$G*;$BO22=B$BO2=6$/>$A2N4..-$>R..$e4N52>M$?L/.6$I$06.1$56>R/>6$2R1N456S$

(R1N456$1L41$I$?4B$?4B1/>5$A-$1/A6$02..2?/>5$4$Q4>@4.$/>B164@$20$@2/>5$
4B1N2OL-B/<BS$(R1N456$1L41$1L/B$BO-$?4B$5N4,,/>5$B6>B/1/Q6$/>02NA41/2>$?/1L$
/AOR>/1-S$(R1N456$1L41$A-$52Q6N>A6>1$@/@>)1$5/Q6$4$@4A>S$

*2$L2?$@2$-2R$ORAO$RO$4$,R><L$20$16<L>2<N41B$?L6>$-2R)N6$4$.2>5UL4/N6@$
4B1N2>2A6N$?/1L2R1$4$1/6K$(N$?/1L2R1$4>-$B6<RN/1-$<.64N4><6K$i!L6N6$ARB1$,6$B2A6$
NR.6$./=6M$dG2$BR/1M$>2$BL26BM$>2$<.64N4><6Sdj$I$@/@$A-$,6B1M$,R1$I)A$40N4/@$1L41$
1L6$G*;$O62O.6$?6N6$A2N6$/>16N6B16@$/>$1L6$16<L>2.25-$1L4>$4>-$61L/<4.$
/AO./<41/2>BS$

;016N?4N@B$1L6-$BL2?6@$A6$4$06?$20$1L6/N$<2AOR16N$B-B16ABS$I1$?4B$4$,/1$
@/B<2><6N1/>5\$6Q6N-$N22A$I$?4.=6@$/>12$L4@$4$0.4BL/>5$N6@$./5L1$2>$1L6$<6/./>5S$
dI1$?4N>B$6Q6N-2>6$>21$12$B4-$4>-1L/>5$<.4BB/0/6@$?L/.6$-2R)N6$L6N6Md$I$?4B$12.@S$

dCL41)B$1L6$A64>/>5$20$B6<1/2>$rU7Kd$I$4B=6@$A-$5R/@6S$
d(LM$1L41)B$,2N/>5Md$BL6$N6O./6@S$dG*;$L4B$1?6>1-U02RN$@/Q/B/2>BM$64<L$?/1L$4$

.6116NS$r$/B$1L6$B6<RN6$B201?4N6$5N2ROS$C6$16B1$B6<RN6$<2AOR16NBS$rU7$4N6$1L6$
A41L6A41/<4.$02.=B$?L2$16B1$B201?4N6$1L62N61/<4..-[1N-/>5$12$0/>@$L2.6B$/>$/1B$
@6B/5>S$rU8$O62O.6$B/1$41$1L6$<2AOR16NM$1N-/>5$12$,N64=$B201?4N6$2><6$/1)B$
?N/116>Sd$



d*2$1L41)B$?L-$-2R)N6$/>16N6B16@$/>$<2AOR16N$?64=>6BB6BSd$
dE64LS$(>6$@/Q/B/2>$20$G*;$A4-$BO6>@$1LN66$-64NB$,R/.@/>5$4$B6<RN6$<2AOR16NS$rU

7$?/..$6P4A/>6$/1B$@6B/5>$4>@$1L6>$rU8$?/..$,4>5$2>$/1M$B64N<L/>5$02N$L2.6BS$I0$?6$
0/>@$4>-M$?6)..$N61RN>$/1M$,R1$?6$?2>)1$16..$1L6A$?L6N6$1L6$,R5$/BS$C6$.64Q6$/1$02N$
1L6A$12$ORTT.6$2R1Sd$

I$?2>@6N6@$/0$1L6-$?2R.@$L4Q6$O/<=6@$RO$1L6$ON2,.6A$?/1L$+>RU#A4<BS$
;.2>5$1L6$?4-M$I$4B=6@$B6Q6N4.$O62O.6$41$G*;$/0$1L6N6$?4B$4>-$?4-$1L41$1L6-$

<2R.@$BROO2N1$2RN$?2N=S$I>@/Q/@R4..-M$1L6-$N65N6116@$1L41$2RN$0R>@/>5$<4A6$6>1/N6.-$
2R1$20$OL-B/<B$5N4>1BS$%2..6<1/Q6.-M$1L2R5LM$1L6-$2006N6@$>2$L6.OS$

dI1$?2R.@$,6$64B/6N$/0$-2R$?6N6$4$@606>B6$<2>1N4<12NMd$2>6$BO22=$12.@$A6S$dG*;$
BL/6B$4?4-$0N2A$4<4@6A/<BS$!L6N6$B66AB$12$,6$4$=/>@$20$AR1R4.$@/B1NRB1Sd$*2$04NM$A-$
1214.$2R1B/@6$BROO2N1$?4B$fg9M$4>$L2>2N4N/RA$02N$BO64=/>5$41$1L6$*4>$VN4></B<2$Y4-$
!6<L>/<4.$J/,N4N/4>B)$;BB2</41/2>S$

!L6$12RN$20$G*;$.4B16@$?6..$/>12$.R><LM$B2$I$.601$V2N1$H64@6$.416M$4>@$521$
O.6>1-$.2B1$2>$A-$?4-$12$1L6$%I;$/>$J4>5.6-M$c/N5/>/4S$;N2R>@$8$OSASM$I$02R>@$1L6$
R>A4N=6@$1RN>200$4>@$OR..6@$RO$12$1L6$5416L2RB6M$4>$L2RN$.416S$

!L6$5R4N@$B14N6@$41$A6$./=6$I)@$N6<6>1.-$4NN/Q6@$0N2A$H4NBS$dCL2$4N6$-2R$L6N6$
12$B66Kd$

d!66e4-Sd$
dE2RN$.4B1$>4A6Kd$
d*12..Sd$!L6$5R4N@$.22=6@$2Q6N$L6N$<./O,24N@M$L4>@6@$A6$4$02NA$12$0/..$2R1M$4>@$

B./OO6@$4$,.R6$O4BB$2>$1L6$N6>14.$<4N)B$@4BL,24N@S$
;$cI3$O4N=/>5$O4BB$0N2A$1L6$%I;S$!L41)B$52114$,6$?2N1L$f9S``$,4<=$/>$!L6$

362O.6)B$F6OR,./<$20$Y6N=6.6-S$H4-,6$f7`S``S$
H6K$;$cI3K$;1$1L6$%I;K$*RNN64.S$I$@2@56@$4$06?$e2556NB$4>@$,/<-<.6B$2>$A-$?4-$

12$1L6$cI3$.21S$;>$4NA6@$5R4N@$4BBRN6@$A6$1L41$I$@/@>)1$L4Q6$12$.2<=$1L6$<4N$@22NBS$
I>$1L6$,4<=5N2R>@M$1L6$B6Q6>166>U-64N$.2<RB1B$?6N6$,RTT/>5$4>@$4$A4..4N@$ZR4<=6@S$
CL41)B$4$0.2<=$20$@R<=B$@2/>5$41$1L6$O2N14.B$20$1L6$%I;K$

!66e4-$L4@>)1$B4/@$L2?$16<L>/<4.$4$14.=$L6$?4>16@M$B2$I$B1R006@$A-$Q/6?5N4OLB$
/>12$4$5NR>5-$6>Q6.2O6S$!L6>M$200$12$1L6$%I;$,R/.@/>5S$

dE2R)N6$.416Md$!66e4-$<4..6@$0N2A$4<N2BB$1L6$02-6NS$CL41$@2$I$16..$L/AK$!L41$I$
4.?4-B$561$.2B1$2>$0N66?4-BK$

I>$1L6$A/@@.6$20$1L6$02-6N)B$0.22N$/B$4$0/Q6U0221U@/4A616N$B64.$20$1L6$%I;M$4$
16NN4TT2$645.6$B61$,6L/>@$4>$200/</4.$B64.S$I$6PO6<16@$6Q6N-2>6$12$?4.=$4N2R>@$1L6$
5N4-$B-A,2.M$eRB1$4B$1L6$L/5L$B<L22.$B1R@6>1B$@2$/>$F6,6.$C/1L2R1$4$%4RB6S$G2$BR<L$
.R<=S$#Q6N-2>6$?4.=B$2>$12O$20$/1M$BL2?/>5$1L6$O22N$,/N@$>2$N6BO6<1S$

(>$1L6$?4..M$1L6N6)B$4$A4N,.6$/>B<N/O1/2>M$d!L6$!NR1L$*L4..$*61$E2R$VN66Sd$iI$
?2>@6N6@$?L-$1L6-)@$RB6$%4.16<L)B$A2112[1L6>$I$>21/<6@$1L6$ZR216$<4A6$0N2A$1L6$
Y/,.6Sj$V2RNU@2T6>$B14NB$?6N6$6>5N4Q6@$2>$1L6$2OO2B/16$?4..[I$<2R.@$2>.-$5R6BB$
4,2R1$1L6$02N1-U6/5L1$./Q6B$1L6-$N6ON6B6>16@S$

;016N$4$N/1R4./B1/<$B64N<L$20$A-$,6.2>5/>5BM$I$N6<6/Q6@$4$0.R2N6B<6>1$N6@$,4@56$
?/1L$4$cS$!L6$Q/B/12N$145$?4B>)1$>6<6BB4N-[I$?4B$1L6$2>.-$5R-$4N2R>@$?/1L2R1$4$
1/6S$G21$4$1N6><L$<241$/>$B/5L1S$

!L6$41A2BOL6N6$?4B$1L41$20$4$BR,@R6@$<4AORBM$?/1L$O62O.6$B1N2../>5$1L6$L4..?4-M$
ON4<1/</>5$.4>5R456BM$4>@$4N5R/>5$4N2R>@$>6?BO4O6NBS$#Q6N-$2><6$/>$4$?L/.6M$4$
<2RO.6$?2R.@$?4>@6N$,-M$4NA$/>$4NAS$!L/B$?4B$4$.2>5$?4-$0N2A$Y2N/B$4>@$G414BL4$
<4N122>BS$

C6..M$>21$6P4<1.-$./=6$4$<4AORBS$;B$!66e4-$BL2?6@$A6$12$L/B$0/NB1U0.22N$200/<6M$
I$>21/<6@$1L41$64<L$@22N$?4B$4$@/006N6>1$<2.2NM$,R1$>2>6$L4@$<4N122>B$2N$O2./1/<4.$



O2B16NB$2>$1L6AS$*2A6M$L2?6Q6NM$L4@$<2A,/>41/2>$.2<=BM$4.A2B1$./=6$,4>=$Q4R.1BS$
#Q6>$1L6$6.6<1N/<4.$,2P6B$L4@$O4@.2<=BS$

dY6<4RB6$-2R)N6$.416M$?6)Q6$N6B<L6@R.6@$1L6$A661/>5Md$!66e4-$B4/@S$
dI)Q6$521$12$B6.6<1$Q/6?5N4OLBMd$I$B4/@S$d"2?$16<L>/<4.$4$14.=$BL2R.@$I$5/Q6Kd$
!66e4-$54Q6$A6$1L6$L4/N-$6-6,4..$4>@$B4/@M$dD2>)1$?2NN-$4,2R1$/1S$E2R$?2>)1$

>66@$Q/6?5N4OLBSd$
I$B6>B6@$1N2R,.6$4L64@S$G2$6B<4O/>5$1L/B$1/A6S$CL/.6$B/11/>5$4N2R>@$!66e4-)B$

@6B=M$I$@/B<2Q6N6@$1L41$L6$L4@$4$04>14B1/<$B61$20$NR,,6N$B14AOBS$F64.$d!(3$*#%F#!d$
B14AOBM$4.2>5$?/1L$1L/>5B$./=6$d%J;**IVI#DMd$d#E#*$(GJEMd$d%(H3;F!H#G!;JIb#D$
IG!#JJI+#G%#Md$d*"F#D$;V!#F$F#;DIG+Md$4>@$dG(V(FGSd$I$0/5RN6@$1L6$.4B1$2>6$A64>1$
dG2$V2N>/<41/>5Md$,R1$!66e4-$B61$A6$B1N4/5L1\$dG2$V2N6/5>$G41/2>4.BSd$I$B14AO6@$
64<L$2>6$2>$4$BL661$20$O4O6NM$4>@$B1R006@$/1$/>$A-$O4<=$20$Q/6?5N4OLBS$

+N65$V6>>6.M$1L6$21L6N$BO22=$?L2$L4@$Q/B/16@$A6$/>$Y6N=6.6-M$B12OO6@$,-$4>@$
122=$A6$RO$12$1L6$%I;)B$<2AOR16N$N22AS$H2N6$./=6$4$B14@/RAS$I>$Y6N=6.6-M$I$?4B$
4<<RB12A6@$12$4$@2T6>$<2AOR16NB$/>$4$,/5$N22AS$"6N6M$1L6N6$?6N6$LR>@N6@B$20$
A4/>0N4A6$<2AOR16NB$O4<=6@$1/5L1.-$12561L6N$/>$4$LR56$<4Q6N>S$+N65$O2/>16@$2R1$
1L41M$2R1B/@6$20$V2N1$H64@6M$/1)B$1L6$?2N.@)B$.4N56B1$<2AOR16N$/>B14..41/2>S$

;..$IYH$A4/>0N4A6BS$
G2?M$4A2>5$&>/P$40/</2>4@2BM$,/5$IYH$B-B16AB$4N6$1LN2?U,4<=B$12$1L6$7k_`BM$?L6>$

<2AOR1/>5$<6>16NB$?6N6$1L6$N456S$C/1L$@6B=12O$?2N=B141/2>BM$>61?2N=BM$4>@$O6NB2>4.$
<2AOR16NBM$+2./41L$<6>1N4./T6@$B-B16AB$B66A$4>1/ZR416@S$

dCL-$4..$1L/B$IYH$B1R00Kd$I$4B=6@$+N65S$d!L2B6$1L/>5B$4N6$@/>2B4RNBSd$I$B>/@6.-$
BL2?6@$A-$&>/P$,/4BS$

dC6..M$?6)N6$<L4>5/>5Md$+N65$4>B?6N6@S$dC6)Q6$521$4$@6@/<416@$4N1/0/</4.$
/>16../56><6$5N2ROM$4<1/Q6$N2,21/<B$N6B64N<L6NBM$4>@$2RN$/A456UON2<6BB/>5$.4,$
N64..-$<22=BSd$

I$N6A6A,6N6@$ON2R@.-$BL2?/>5$!66e4-$4>@$+N65$1LN2R5L$A-$.4,)B$<2AOR1/>5$B-B16AS$
*R@@6>.-M$I$06.1$/><N6@/,.-$6A,4NN4BB6@[2RN$0/Q6$c4P6BM$B</6>1/0/<$?2N=L2NB6B$12$
RBM$B66A6@$A/5L1-$OR>-$>6P1$12$1L6B6S$

E61$2RN$ORNO2B6B$?6N6$@/006N6>1S$!L6$%I;$>66@B$4$5/4>1$@414,4B6$B-B16A[1L6-$
?4>1$12$2N54>/T6$4>@$4BB2</416$.21B$20$@/Q6NB6$@414S$C6$>66@6@$>RA,6N$<NR><L6NB\$
<2AOR16NB$1L41$?6N6$04B1$?/1L$A41LS$I1)B$4.?4-B$16AO1/>5$12$A64BRN6$1L6$BO66@$20$4$
<2AOR16N$2N$1L6$B/T6$20$/1B$@/B=BM$4>@$1L6>$<2><.R@6$1L41$d1L/B$2>6$/B$,6116NSd$

!L6$ZR6B1/2>$/B>)1$dCL/<L$<2AOR16N$/B$04B16NMd$>2M$>21$6Q6>$dCL/<L$/B$,6116NSd$
I>B164@M$4B=$dCL/<L$/B$A2N6$BR/14,.6Kd$2N$dCL/<L$?/..$561$-2RN$e2,$@2>6Kd$

;016N$12RN/>5$1L6$%I;)B$<2AOR1/>5$@/Q/B/2>M$!66e4-$4>@$+N65$122=$A6$RO$12$1L6$
B6Q6>1L$0.22NS$!L6$B14/N<4B6$/B$.4,6.6@$?/1L$1L6$0.22N$>RA,6NB$/>$@/006N6>1$
.4>5R456B\$I$N6<25>/T6@$1L6$0/01L$0.22N$i%L/>6B6j$4>@$1L6$B/P1L$0.22N$iFRBB/4>jS$

I$?4B$BL2?>$12$4>$4>16N22A$?/1L$4$36NB/4>$NR5$2>$1L6$0.22NM$IAON6BB/2>/B1$4N1$
2>$1L6$?4..BM$4>@$4$,RB1$20$+62N56$C4BL/>512>$/>$1L6$<2N>6NS$;$N64.$A/P6@$,45S$I$
B611.6@$@2?>$/>12$4$B204$?/1L$+N65$4>@$!66e4-S$;<N2BB$0N2A$RB$?6N6$1?2$21L6N$5R-BM$
64<L$?/1L$4$O/<1RN6$,4@56S$C6$14.=6@$4$,/1[$2>6$20$1L6$5R-B$BO2=6$0.R6>1$%L/>6B6W$
1L6$21L6N$L4@$,66>$4$Q616N/>4N/4>$,602N6$e2/>/>5$1L6$%I;S$I$?2>@6N6@$?L41$=/>@$20$
14.=$I$?4B$6PO6<16@$12$5/Q6S$

!L6$200/<6$@22N$B?R>5$?/@6M$4>@$4$14..M$5N4-UL4/N6@$A4>$<4..6@$RB$/>S$d"/M$I)A$
"4>=$H4L2>6-S$C6.<2A6$/>Sd$

*2$1L/B$/B$1L6$A661/>5S$I1$1RN>B$2R1$1L41$1L6$B6Q6>1L$0.22N$/B$1L6$L/@6U2R1$02N$
1L6$%I;)B$L/5LUAR<=/1-UAR<=BS$"4>=$H4L2>6-)B$1L6$%I;)B$@6OR1-$@/N6<12NW$5N/>>/>5$
>64N,-$?4B$Y/..$D2>>6.6-M$1L6$4BB/B14>1$@/N6<12NM$4>@$4$<2RO.6$21L6NBS$



dE2R$A64>$1L41$-2R)Q6$L64N@$4,2R1$1L/B$<4B6Kd$
dC6)Q6$,66>$02..2?/>5$/1$@4/.-S$(0$<2RNB6M$1L/B$<4B6$4.2>6$A4-$>21$B66A$./=6$

AR<LS$YR1$/1$N6ON6B6>1B$4$B6N/2RB$ON2,.6A$02N$1L6$0R1RN6S$C6$4OON6</416$-2RN$14=/>5$
1L6$6002N1$12$=66O$RB$/>02NA6@Sd$!L6-$ON6B6>16@$A6$?/1L$4$<6N1/0/<416$20$
4OON6</41/2>[?N4OO6@$RO$./=6$4$@/O.2A4S$

I$@/@>)1$=>2?$?L41$12$B4-M$B2$I$B14AA6N6@$2R1$A-$1L4>=B$4>@$.22=6@$41$!66e4-M$
?L2$?4B$<LR<=./>5S$;016N?4N@M$L6$B4/@M$dC6$?4>16@$12$=66O$/1$4$BRNON/B6Sd$

*RNON/B6K$X66T[I)@$6PO6<16@$12$?4.=$/>12$4$N22A$20$ON25N4AA6NB$4>@$5/Q6$4$
BL2O14.=$2>$>61?2N=$B6<RN/1-S$I$5.4><6@$41$1L6$<6N1/0/<416S$I1$?4B$B/5>6@$,-$
C/../4A$C6,B16NM$@/N6<12N$20$1L6$%I;S$

(>$A-$?4-$2R1M$BRN6$6>2R5LM$1L6$5R4N@B$B64N<L6@$A-$B14<=$20$Q/6?5N4OLBS$"4.0?4-$
@2?>M$1L6N6$?4B$1L41$O456$20$O4O6N$?/1L$/1B$16..14.6$B14AOM$d!(3$*#%F#!Sd$&L$2LS$

F6@$4.6N1[Q/B/12N$<4R5L1$.64Q/>5$%I;$?/1L$@2<RA6>1$B14AO6@$d!(3$*#%F#!dh$
G21L/>5$6.B6$2>$1L6$O456M$20$<2RNB6S$V/Q6$A/>R16B$20$6PO.4/>/>5$4>@$1?2$OL2>6$<4..B$
.416NM$1L6-$.61$A6$2R1S$YR1$>21$?/1L2R1$<2>0/B<41/>5$1L6$NR,,6N$B14AO$B4AO.6NS$;>@$
4$.6<1RN6$2>$L2?$d?6$14=6$B6<RN/1-$B6N/2RB.-$4N2R>@$L6N6Sd$

I$0.6?$,4<=$12$Y6N=6.6-M$B/11/>5$>6P1$12$+N65$V6>>6.M$?L2$?4B$0.-/>5$?6B1$02N$
B2A6$B6<N61$,RB/>6BBS$!RN>B$2R1$1L41$L/B$,4<=5N2R>@$/B$4B1N2>2A-[L6$RB6@$12$NR>$4>$
2,B6NQ412N-S$C6$14.=6@$4$,/1$4,2R1$*O4<6$!6.6B<2O6M$1L6$,/../2>U@2..4NM$L/5LU
ON6</B/2>$/>B1NRA6>1$1L41)B$B22>$12$,6$.4R><L6@S$

dC/1L$4$>/>61-U02RNU/><L$16.6B<2O6$/>$BO4<6M$?6)..$,6$4,.6$12$B66$OL6>2A6>4.$
@614/.$2>$O.4>61BMd$I$N6A4N=6@S$

dXRB1$1L/>=$?L41$-2R$<2R.@$@2$/0$-2R$O2/>16@$/1$41$1L6$64N1LMd$+N65$B4/@S$
dCL-$,21L6NK$;..$1L6$/>16N6B1/>5$1L/>5B$4N6$/>$1L6$B=-S$;>@$4>-?4-M$1L6$*O4<6$

!6.6B<2O6$OL-B/<4..-$<4>)1$O2/>1$12$1L6$64N1LS$I1B$B6>B2NB$?/..$,RN>$2R1$/0$-2R$
1N-Sd$

dCL41$/0$B2A62>6$A4@6$BR<L$4$16.6B<2O6$4>@$O2/>16@$/1$12$1L6$64N1LS$CL41$<2R.@$
-2R$B66Kd$

I$0/@@.6@$4$06?$>RA,6NB$/>$A-$L64@S$*4-M$1LN66$LR>@N6@$A/.6B$RO$/>$2N,/1M$4$
>/>61-U02RNU/><L$16.6B<2O6S$!L6$?4Q6.6>51L$20$./5L1$/B$4,2R1$02RN$LR>@N6@$
>4>2A616NBS$S$S$S$d(LM$-2R$<2R.@$64B/.-$B66$@614/.$20$4$<2RO.6$0661$4<N2BBS$!L6$
./A/1$?2R.@$,6$4N2R>@$4$<2RO.6$/><L6BS$G21$ZR/16$522@$6>2R5L$12$N6<25>/T6$4$04<6Sd$

+N65$BA/.6@$4>@$B4/@$>21L/>5S$I1$122=$4$?L/.6M$,R1$/1$6Q6>1R4..-$BR>=$/>\$1L6$
4B1N2>2A/<4.$*O4<6$!6.6B<2O6$?4B>)1$1L6$2>.-$,/5$16.6B<2O6$/>$2N,/1S$+N65$?4B$
ON2,4,.-$14.=/>5$4,2R1$B2A6$BO-$B416../16S$!L6$B6<N61$'"U77M$A2B1$./=6.-S$

I$N61RN>6@$L2A6M$?2>@6N/>5$/0$I$BL2R.@$16..$H4N1L4$?L41$L4OO6>6@S$I$@/@>)1$066.$
4>-$@/006N6>1[I)@$B1/..$N41L6N$,6$@2/>5$4B1N2>2A-$1L4>$<L4B/>5$B2A6$L4<=6N[,R1$I$
?2NN/6@$1L41$H4N1L4$A/5L1$>21$4OON2Q6$20$?L2$I)@$,66>$NR,,/>5$BL2R.@6NB$?/1LS$

d"4Q6$0R>Kd$BL6$4B=6@$?L6>$I$N61RN>6@S$
dE64LM$/>$4$?6/N@$?4-Md$I$4>B?6N6@S$dE2R$@2>)1$?4>1$12$=>2?$?L2$I$A61Sd$
dH4=6B$>2$@/006N6><6S$E2R)Q6$,66>$<NR><L6@$RO$/>$4>$4/NO.4>6$4..$@4-S$J61$A6$

NR,$-2RN$,4<=Sd$
"2A6$B?661$L2A6S$



:k$

I$*!IJJ$*##!"#D$CI!"$VF&*!F;!I(G$C"#G$I$!"(&+"!$(V$!"#$#I+"!$H(G!"*$!";!$C#)D$
,66>$B1R<=$12$1L/B$14N$,4,-S$H-$,2BB$?2R.@>)1$.61$A6$02N561$1L41$I$?4B$@2/>5$
>21L/>5$RB60R.S$

!L6>$2>$C6@>6B@4-M$;ON/.$88M$H/=6$+/,,2>B$<4..6@$12$B4-$1L41$VYI$"64@ZR4N16NB$
L4@$@6</@6@$?6$BL2R.@$=66O$A2>/12N/>5$1L6$L4<=6NS$I1$B66AB$1L6$+6NA4>$O2./<6$?4>16@$
12$<41<L$1L/B$5R-W$1L6$2>.-$?4-$1L/B$<2R.@$L4OO6>$?4B$/0$?6$>21/0/6@$1L6$+6NA4>B$
/AA6@/416.-$?L6>$2RN$4.4NAB$B2R>@6@S$

H64>?L/.6M$1L6$VYI$L4@$OR1$/>$4>$200/</4.$N6ZR6B1$02N$<22O6N41/2>$4>@$BO66@-$
16.6OL2>6$1N4<6BS$!L6-$?6N6$14.=/>5$12$1L6$4@A/>/B1N412N$20$eRB1/<6$/>$+6NA4>-M$Q/4$
1L6$&S*S$*1416$D6O4N1A6>1S$

C6..M$-/OO66S$CL-$1L/B$BR@@6>$<L4>56$/>$O2./<-K$"4@$1L6$G!I**I%$<2AA/1166$A4@6$
4$@6</B/2>K$(N$?4B$/1$@R6$12$A-$<2>B14>1$O6B16N/>5K$(N$L4@$1L6$+6NA4>B$0/>4..-$
<2>14<16@$1L6$VYIK$

;.1L2R5L$1L6$VYI$?4B$2>.-$>2?$/>16N6B16@M$I)@$>6Q6N$@/B4,.6@$A-$A2>/12N/>5$
B141/2>S$#Q6>$?L6>$I$?4B$4?4-$02N$4$<2RO.6$@4-BM$1L6$A2>/12NB$N6A4/>6@$2>$5R4N@S$
J4B1$?66=)B$ON/>12R1B$BL2?6@$L/A$2>$1L6$B-B16A$0N2A$k\`a$12$k\`:$4SAS$2>$*41RN@4-M$
;ON/.$7kS$J416N$1L41$@4-M$L6$4OO64N6@$454/>$02N$4$<2RO.6$A/>R16BS$oR/61$02N$4$06?$
@4-BM$1L6>$L6$O2OO6@$ROM$<L6<=6@$1L41$1L6$*DIG#!$0/.6B$?6N6$B1/..$4N2R>@M$4>@$.601S

V2N$1L6$O4B1$A2>1LM$I)@$,66>$.64Q/>5$>6?$,4/1$02N$1L6$L4<=6NS$"6$B4?$/1[41$
.64B1$L6$5.4><6@$41$1L6$>4A6B$20$1L6$0/.6B[,R1$L6$@/@>)1$N64@$4>-$20$/1S$C4B$L6$
?2NN/6@$1L41$L6$?4B$,6/>5$?41<L6@K$D/@$L6$=>2?K$

YR1$/0$L6$1L2R5L1$?6$?6N6$?41<L/>5$L/AM$L6)@$,6$4$022.$12$BL2?$RO$41$4..S$H4-,6$
L6$<2R.@>)1$4002N@$.2>56N$<2>>6<1/2>BK$G2M$1L6$YR>@6BO2B1$12.@$RB$1L41$L6$?4B$
<L4N5/>5$1L6B6$<4..B$12$4$BA4..$<2AO4>-$/>$"4>>2Q6NS$

!LN2R5L2R1$1L6$BON/>5M$I$=6O1$A4=/>5$>6?$,4/1S$!2$4>$2R1B/@6NM$1L6$,25RB$*DIG#!$
0/.6B$?6N6$1L6$ON2@R<1$20$4$0R><1/2>/>5$200/<6S$H-$A-1L/<4.$Y4N,4N4$*L6N?/>$<N6416@$
A6A2B$4>@$.6116NBM$N6ZR/B/1/2>B$4>@$1N4Q6.$2N@6NBS$"6N6$4>@$1L6N6$BL6$BON/>=.6@$4$
06?$16<L>/<4.$4N1/<.6BM$6PO.4/>/>5$L2?$1L6$*DI$>61?2N=$/>16N<2>>6<16@$4..$B2N1B$20$
<.4BB/0/6@$<2AOR16NBS$(>6$2N$1?2$>216B$/AO./6@$1L41$-2R$<2R.@$RB6$1L6$JYJ$<2AOR16NB$
12$./>=$/>12$1L6$>61?2N=S$

#Q6N-$@4-M$I$?4B16@$4>$L2RN$eR55./>5$1L6B6$*DIG#!$0/.6BS$H-$L2O6B$?6N6$12$=66O$
1L6$L4<=6N$2<<RO/6@$L6N6M$N41L6N$1L4>$52/>5$2R1$/>12$A/./14N-$B-B16ABS$;1$1L6$B4A6$
1/A6M$/1$54Q6$RB$4>$2OO2N1R>/1-$12$1N4<6$1L6$L4<=6NS$

(>$H2>@4-M$;ON/.$8^M$I)@$,/=6@$/>$.416$4>@$,654>$?N/1/>5$4$ON25N4A$12$.61$2RN$
&>/P$B-B16A$14.=$12$H4</>12BL$<2AOR16NB$2>$O62O.6)B$@6B=$12OBS$I0$I$<2R.@$<2>>6<1$
1L2B6$12561L6NM$4>-$20$2RN$B</6>1/B1B$<2R.@$RB6$1L6$H4</>12BL)B$ON/>16NS$;$0R>$
ON2e6<1S$

Y-$77\a`M$I)@$02R.6@$RO$1?2$ON25N4AB[?L41$L4@$?2N=6@$4>$L2RN$452$?4B>)1$
?2N=/>5$>2?[?L6>$Y4N,4N4$*<L4606N$<4..6@$0N2A$0/Q6$0.22NB$ROB14/NBS$

d"6-M$%./00Md$1L6$4B1N2>2A6N$B4/@M$d4$.6116N$eRB1$4NN/Q6@$02N$Y4N,4N4$*L6N?/>Sd
dY6$B6N/2RBSd$V2N$2><6M$/1$?4B$A-$1RN>$12$B4-$1L41S$
dF64..-S$%2A6$2>$RO$4>@$.61)B$2O6>$/1Sd$I$L4@$12.@$Y4N,4N4$4,2R1$1L6$@RAA-$

*DIG#!$ON2e6<1$4>@$A6>1/2>6@$1L41$I$?4B$RB/>5$L6N$A4/.,2P$4B$4$A4/.$@N2OS$YR1$I$
>6Q6N$N64..-$6PO6<16@$1L6$L4<=6N$12$4<1R4..-$B6>@$B2A61L/>5$/>$1L6$A4/.S$

+22@$5N/60h$"4@$1L/B$L4<=6N$5N6616@$RB$?/1L$4$.6116NK$



I$N4>$RO$1L6$0/Q6$0./5L1B$20$B14/NB[1L6$6.6Q412N)B$122$B.2?S$Y4N,$4>@$I$.22=6@$
41$1L6$.6116NS$;@@N6BB6@$12$HNBS$Y4N,4N4$*L6N?/>M$*DIG#!$ON2e6<1M$H4/.$*12O$9`Ua97M$
JYJM$Y6N=6.6-M$%;S$32B1A4N=6@$0N2A$3/11B,RN5LM$36>>B-.Q4>/4S$

H-$L64N1$?4B$1LRAO/>5$0N2A$1L6$NR>$RO$1L6$B14/NBM$,R1$I$06.1$1L6$4@N6>4./>6$
NRBL$?L6>$I$B4?$1L41$6>Q6.2O6S$

C6$<4N60R..-$B./1$1L6$6>Q6.2O6$4>@$BL22=$2R1$1L/B$.6116N\$

Triam International, Inc. 
6512 Ventura Drive 
Pittsburgh, PA 15236 
April 21, 1987 

SDI Network Project 
1 Cyclotrov Road 
LBL, Mail Stop 50-351 
Berkley, California 94720 
ATTENTION: Mrs. Barbara Sherwin Document Secretary 
SUBJECT: SDI Network Project 
Dear Mrs. Sherwin: 
I am interested in the following documents. Please send me a price list and an update on 
the SDI Network Project. Thank you for your cooperation. 

Very truly yours, 
Laszlo J. Balogh 

#37.6 SDI Network Overview Description Document, 19 pages, December 1986 
#41.7 SDI Network Functional Requirement Document, 227 pages, Revised 
September 1985 
#45.2 Strategic Defense Initiations and Computer Network Plans and 
Implementations of Conference Notes, 300 Pages, June 1986 
#47.3 SDI Network Connectivity Requirements, 65 pages, Revised April 1986 
#48.8 How to Link to SDI Network, 25 pages, July 1986 
#49.1 X.25 and X.75 Connection to SDI Network (includes Japanese, European, 
Hawaiian, 8 pages, December 1986) 
#55.2 SDI Network Management Plan for 1986 to 1988, 47 pages, November 1986) 
#62.7 Membership list (includes major connections), 24 pages, November 1986) 
#65.3 List, 9 Pages, November 1986 
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